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ok
)set break resume
)sys rm -f richtrigl00-199.output
)spool richtrigl00-199.output
)set message test on
)set message auto off
)clear all

--S 1 of 504
t0100:= x*sin(a+b*log(c*x™n)) "2

--R n 2

--R (1) x sin(b log(c x ) + a)

--R Type: Expression(Integer)
--E 1

--S 2 of 504
r0100:= -1/4%x"2%(-b~2*n"~2+2*b*n*cos (atb*log(c*x"n))*sin(a+b*xlog(c*x™n))-_
2+2*cos (a+b*log(c*x"n)) "2)/(1+b~2*n"2)

--R (2)

--R 2 n n

--R - 2b n x cos(b log(c x ) + a)sin(b log(c x ) + a)
__R +

--R 2 n 2 22 2

--R - 2x cos(b log(c x ) +a) + (bn + 2)x

--R 22

--R 4b n + 4

--R Type: Expression(Integer)
--E 2

--S 3 of 504
a0100:= integrate(t0100,x)

--R (3)

--R 2

--R - 2b n x cos(b n log(x) + b log(c) + a)sin(b n log(x) + b log(c) + a)
--R +

--R 2 2 22 2

--R - 2x cos(b n log(x) + b log(c) +a) + (bn + 2)x

--R 22
--R 4b n + 4
--R Type: Union(Expression(Integer),...)



--E 3

--S 4 of 504
m0100:= a0100-r0100

--R (4

--R 2 n n 2 n

--R b n x cos(b log(c x ) + a)sin(b log(c x ) + a) + x cos(b log(c x ) + a)
--R +

--R 2

--R - bn x cos(b n log(x) + b log(c) + a)sin(b n log(x) + b log(c) + a)
--R +

--R 2 2

--R - x cos(b n log(x) + b log(c) + a)

--R 2 2

--R 2bn + 2

--R Type: Expression(Integer)
--E 4

--S 5 of 504
d0100:= D(m0100,x)

--R  (5)
--R 222n-1 n 2
--R -bnxx sin(b log(c x ) + a)

--R n 2n-1 n n
--R (2bnxx -2bnxx Jcos(b log(c x ) + a)sin(b log(c x ) + a)

--R n 222n-1 n 2
--R (2x x +bnzxx Jcos(b log(c x ) + a)

--R 22 n 2
--R b n x x sin(b n log(x) + b log(c) + a)

--R 22 n 2
--R (-bn - 2)x x cos(b n log(x) + b log(c) + a)

--R 22 n

--R (2bn + 2)x

--R Type: Expression(Integer)
--E 5

--S 6 of 504

t0101:= x"2*sin(at+b*log(c*x"n)) "2
--R

--R
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--R 2 n 2

--R (6) x sin(b log(c x ) + a)

--R Type: Expression(Integer)
--E 6

--S 7 of 504
r0101:= -1/3*%x"3%(-2*%b~2*n"2+6*b*n*cos (atbxlog(c*x™n))*sin(atbxlog(c*x™n))-_
9+9*cos (a+b*log(c*x"n)) "2)/ (9+4*b"2*n"2)

--R (7

--R 3 n n

--R - 6b n x cos(b log(c x ) + a)sin(b log(c x ) + a)
__R +

--R 3 n 2 22 3

--R - 9x cos(b log(c x ) +a) + (2bn + 9)x

--R 22

--R 12b n + 27

--R Type: Expression(Integer)
-E 7

--S 8 of 504
a0101:= integrate(t0101,x)

--R (&)

--R 3

--R - 6b n x cos(b n log(x) + b log(c) + a)sin(b n log(x) + b log(c) + a)
--R +

--R 3 2 22 3

--R - 9x cos(b n log(x) + b log(c) +a) + (2bn + 9x

--R 22

--R 12b n + 27

--R Type: Union(Expression(Integer),...)
--E 8

--S 9 of 504
m0101:= a0101-r0101

--R  (9)

--R 3 n n

--R 2b n x cos(b log(c x ) + a)sin(b log(c x ) + a)
--R +

--R 3 n 2

--R 3x cos(b log(c x ) + a)

--R +

--R 3



--R - 2b n x cos(b n log(x) + b log(c) + a)sin(b n log(x) + b log(c) + a)
--R +

--R 3 2

--R - 3x cos(b n log(x) + b log(c) + a)

--R 22

--R 4bn + 9

--R Type: Expression(Integer)
--E 9

--S 10 of 504
d0101:= D(m0101,x)

--R  (10)
--R 223n-1 n 2
--R - 2bnxx sin(b log(c x ) + a)

--R 2n 3n-1 n n
--R (6bnxx -6bnxx Jcos(b log(c x ) + a)sin(b log(c x ) + a)

--R 2 n 223n-1 n 2
--R (9x x +2bn x x Jcos(b log(c x ) + a)

--R 222n 2
--R 2b n x x sin(b n log(x) + b log(c) + a)

--R 2 2 2n 2
--R (-2bn - 9)x x cos(b n log(x) + b log(c) + a)

--R 22 n

--R (4bn + 9)x

--R Type: Expression(Integer)
--E 10

--S 11 of 504
t0102:= sin(at+b*log(c*x™n)) 2/x"2

--R n 2

--R sin(b log(c x ) + a)

--R (1) --- -==

--R 2

--R X

--R Type: Expression(Integer)
--E 11

--S 12 of 504
r0102:= -1/ (1+4*b"2%n"2) /x* (2%b~2*n"2+2xb*n*cos (a+b*log(c*x n) ) *_
sin(a+b*log(c*x"n))+1-cos(atb*log(c*x™n))"2)



-k (12)

--R n n n

--R - 2b n cos(b log(c x ) + a)sin(b log(c x ) + a) + cos(b log(c x ) + a)
__R +

--R 22

--R -2bn -1

--R 22

--R (4bn + 1)x

--R Type: Expression(Integer)
--E 12

--S 13 of 504
a0102:= integrate(t0102,x)

--R  (13)

--R - 2b n cos(b n log(x) + b log(c) + a)sin(b n log(x) + b log(c) + a)
--R +

--R 2 2 2

--R cos(b n log(x) + b log(c) +a) -2bmn -1

--R 22

--R (4bn + 1)x

--R Type: Union(Expression(Integer),...)
--E 13

--S 14 of 504
m0102:= a0102-r0102

-k (14)

--R n n n 2
--R 2b n cos(b log(c x ) + a)sin(b log(c x ) + a) - cos(b log(c x ) + a)
--R +

--R - 2b n cos(b n log(x) + b log(c) + a)sin(b n log(x) + b log(c) + a)
__R +

--R 2

--R cos(b n log(x) + b log(c) + a)

--R 22

--R (4bn + 1)x

--R Type: Expression(Integer)
--E 14

--S 15 of 504
d0102:= D(m0102,x)
--R
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--R (15)
--R 22 n-1 n 2
--R -2bnxx sin(b log(c x ) + a)

--R n n-1 n n
--R (-2bnx +2bnzxx Jcos(b log(c x ) + a)sin(b log(c x ) + a)

--R n 22 n-1 n 2
--R (x +2bnzxx Jcos(b log(c x ) + a)

--R 22n 2
--R 2b n x sin(b n log(x) + b log(c) + a)

--R 22 n 2
--R (-2bn - 1)x cos(b n log(x) + b log(c) + a)

--R 22 2n

--R (4bn + Dx x

--R Type: Expression(Integer)
--E 15

--S 16 of 504
t0103:= x"m*sin(a+b*log(c*x™n)) "2

--R m n 2

--R (16) x sin(b log(c x ) + a)

--R Type: Expression(Integer)
--E 16

--S 17 of 504

r0103:= 2%b~2*n"2%x" (1+m) / (1+m) / ((1+m) "2+4%b"2*n"2) - _
2*¥b*n*x~ (1+m) *cos (a+b*log(c*x™n))*sin(a+b*log(c*x n) )/ ((1+m) ~2+_
4xb~2*n"~2)+(1+m) *x~ (1+m) *sin(a+b*log(c*x"n)) "2/ ((1+m) "2+4*b~24n"2)

--R 17
--R 2 m+ 1 n 2
--R (m + 2m + Dx sin(b log(c x ) + a)

--R m+ 1 n n 22m+1
--R (- 2bm - 2b)n x cos(b log(c x ) + a)sin(b log(c x ) + a) + 2b n x

--R 2 2 2 3 2

--R (4bm+4b)n +m + 3m + 3m+ 1

--R Type: Expression(Integer)
--E 17

--S 18 of 504



a0103:= integrate(t0103,x)

--E 18

(18)

m log(x)
(- 2b m - 2b)n x cos(b n log(x) + b log(c) + a)ike

sin(b n log(x) + b log(c) + a)

2 2
(-m -2m - 1)x cos(b n log(x) + b log(c) + a)

2 2 2
(2bn +m + 2m + 1)x

m log(x)
%he

2 2 3 2

(4bm+4b )n +m + 3m + 3m + 1

Type: Union(Expression(Integer),...

--S 19 of 504
m0103:= a0103-r0103

(19)

2 m+ 1 n 2

(-m -2m - 1Dx sin(b log(c x ) + a)

m+ 1 n n

(2b m + 2b)n x cos(b log(c x ) + a)sin(b log(c x ) + a)

m log(x)
(- 2bm - 2b)n x cos(b n log(x) + b log(c) + a)ike

sin(b n log(x) + b log(c) + a)

2 2
(-m -2m - 1)x cos(b n log(x) + b log(c) + a)

2 2 2
(2bn +m + 2m + 1)x

m log(x)
he

22m+1

- 2bnx



--R 2 2 2 3 2

--R (4bm+4b)n +m +3m + 3m + 1

--R Type: Expression(Integer)
--E 19

--S 20 of 504
d0103:= D(m0103,x)

--R (20)
--R 2 mn 22m+1n-1 n 2
--R ((-m -2m-1Dxx -2bnx X )sin(b log(c x ) + a)

--R mn m+1n-1 n
--R (2bm+ 2b)nxx + (- 2bm - 2b)n x X Jcos(b log(c x ) + a)

--R n
--R sin(b log(c x ) + a)

--R 22m+1n-1 n 2
--R 2b n x x cos(b log(c x ) + a)

--R 2 2n mlog(x) 2
--R 2b n x %e sin(b n log(x) + b log(c) + a)

--R 22 2 n 2
--R (-2bn -m - 2m - 1)x cos(b n log(x) + b log(c) + a)

--R 2 2 2 n
--R (2bn +m + 2m + 1)x

--R m log(x)
--R he

--R 22mn
--R - 2bn x x

--R 22 2 n

--R (4bn +m + 2m+ Dx

--R Type: Expression(Integer)
--E 20

--S 21 of 504

t0104:= sin(a+b*log(c*x™n)) "3

--R n 3
--R  (21) sin(b log(c x ) + a)
--R Type: Expression(Integer)
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--E 21

--S 22 of 504

r0104:= -6%b~3*n"3*x*cos (atb*log(c*x™n))/(1+b~2+n"2) /(1+9%b"2*n"~2) +_
6*b~2*n"2*x*sin(a+b*log(c*xx™n))/(1+b~2+n"2) / (1+9*b~2*n"~2) -_
3*bxn*x*cos (a+tb*log(c*x"n) ) *sin(a+b*log(c*x™n)) "2/ (1+9%b~2%n"2) +_
x*sin(at+bxlog(c*x™n)) "3/ (1+9%b"2*n"~2)

-k (22)

--R 22 n 3

--R (bn + 1Dx sin(b log(c x ) + a)

--R +

--R 33 n n 2
--R (-3 n - 3bn)x cos(b log(c x ) + a)sin(b log(c x ) + a)

--R 22 n 33 n
--R 6b n x sin(b log(c x ) + a) - 6b n x cos(b log(c x ) + a)

--R 4 4 2 2

--R 9bn + 10bn + 1

--R Type: Expression(Integer)
--E 22

--S 23 of 504
a0104:= integrate(t0104,x)

--R  (23)
--R 22 2 22
--R ((-bn - 1)x cos(b n log(x) + b log(c) + a) + (7Tbn + 1)x)

--R sin(b n log(x) + b log(c) + a)

--R 33 3
--R (3bn + 3b n)x cos(b n log(x) + b log(c) + a)
--R +

--R 33

--R (-9 n - 3bn)x cos(b n log(x) + b log(c) + a)

--R 4 4 22

--R 9o n + 10bn + 1

--R Type: Union(Expression(Integer),...)
--E 23

--S 24 of 504

m0104:= a0104-r0104

--R  (24)
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--R 2 2 n 3
--R (-bn - 1x sin(b log(c x ) + a)

--R 33 n n 2

--R (3b n + 3b n)x cos(b log(c x ) + a)sin(b log(c x ) + a)

--R +

--R 22 n 33 n

--R - 6b n x sin(b log(c x ) + a) + 6b n x cos(b log(c x ) + a)

--R +

--R 22 2 22

--R ((-bn - 1)x cos(b n log(x) + b log(c) + a) + (7Tbn + 1)x)

--R sin(b n log(x) + b log(c) + a)

--R 33 3
--R (3bn + 3b n)x cos(b n log(x) + b log(c) + a)
__R +

--R 33

--R (- 9b n - 3bn)x cos(b n log(x) + b log(c) + a)

--R 4 4 22

--R 9bn +10bn + 1

--R Type: Expression(Integer)
--E 24

--S 25 of 504
d0104:= D(m0104,x)

--R  (25)
--R 2 2 n 4 4 2 2 n-1 n 3
--R (-bn -1x + (-3bn -3bn)dxx )sin(b log(c x ) + a)

--R 33 n 33 n-1 n
--R (Bn +3n)x + (-3n -3bnxx Jcos(b log(c x ) + a)

--R n 2
--R sin(b log(c x ) + a)

--R 4 4 22 n-1 n 2 22n
--R (6bn + 6bn )x x cos(b log(c x ) +a) - 6bnx

--R 4 4 n-1
--R - 6bn x x

--R n
--R sin(b log(c x ) + a)

--R 33n 33 n-1 n
--R (6bnx -6bnxx Jcos(b log(c x ) + a)
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--R 33 n
--R (2b n + 2b n)x cos(b n log(x) + b log(c) + a)

--R 2
--R sin(b n log(x) + b log(c) + a)

--R 4 4 2 2 n 2
--R (-9% n - 10bn - 1)x cos(b n log(x) + b log(c) + a)

--R 4 4 22 n
--R (9bn + 10bn + 1)x

--R sin(b n log(x) + b log(c) + a)

--R 33 n 3
--R (2b n + 2b n)x cos(b n log(x) + b log(c) + a)
--R +

--R 33 n

--R (-2bn - 2b n)x cos(b n log(x) + b log(c) + a)

--R 4 4 22 n

--R (9bn + 10bn + Dx

--R Type: Expression(Integer)
--E 25

--S 26 of 504
t0105:= x*sin(a+b*log(c*x™n)) "3

--R n 3

--R (26) x sin(b log(c x ) + a)

--R Type: Expression(Integer)
--E 26

--S 27 of 504

r0105:= -6xb~3*n"3*x"2*cos (atbxlog(cxx™n))/(4+b~2*n"2)/(4+9xb~2*n"2)+_
12*%b"2*n"2*x"2*sin(a+bxlog(c*x™n))/(4+b"2*n"2) / (4+9%b~2*n"~2) —_
3xbxn*x~2*cos (a+tb*log(c*x"n))*sin(a+b*log(c*x™n)) "2/ (4+9%b"2*n"~2) +_
2*x"~2*sin(a+b*log(c*x"n)) ~3/(4+9%b~2%n"2)

--R 27)

--R 22 2 n 3

--R (2b n + 8)x sin(b log(c x ) + a)

--R +

--R 33 2 n n 2
--R (-3 n - 12b n)x cos(b log(c x ) + a)sin(b log(c x ) + a)

--R 222 n 332 n

13



--R 12b n x sin(b log(c x ) + a) - 6b n x cos(b log(c x ) + a)

--R 4 4 22

--R 99 n + 40bn + 16

--R Type: Expression(Integer)
--E 27

--S 28 of 504
a0105:= integrate(t0105,x)

--R  (28)
--R 22 2 2 2 2 2
--R ((-2bn - 8)x cos(b n log(x) + b log(c) +a) + (14bn + 8)x )

--R sin(b n log(x) + b log(c) + a)

--R 33 2 3
--R (3b n + 12b n)x cos(b n log(x) + b log(c) + a)
__R +

--R 33 2

--R (- 9b n - 12b n)x cos(b n log(x) + b log(c) + a)

--R 4 4 22

--R 9bn + 40bn + 16

--R Type: Union(Expression(Integer),...)
--E 28

--S 29 of 504
m0105:= a0105-r0105

--R (29
--R 2 2 2 n 3
--R (- 2bn - 8)x sin(b log(c x ) + a)

--R 33 2 n n 2

--R (3b n + 12b n)x cos(b log(c x ) + a)sin(b log(c x ) + a)

__R +

--R 222 n 332 n

--R - 12b n x sin(b log(c x ) + a) + 6b n x cos(b log(c x ) + a)

__R +

--R 22 2 2 22 2
--R ((-2bn - 8)x cos(b n log(x) + b log(c) +a) + (14bn + 8)x )

--R sin(b n log(x) + b log(c) + a)
--R 33 2 3

--R (3b n + 12b n)x cos(b n log(x) + b log(c) + a)
__R +
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--R 33 2
--R (- 9bn - 12b n)x cos(b n log(x) + b log(c) + a)

--R 4 4 22

--R 9pn +40bn + 16

--R Type: Expression(Integer)
--E 29

--S 30 of 504
d0105:= D(m0105,x)

--R  (30)
--R 22 n 4 4 22 2n-1 n 3
--R ((-4bn -16)xx + (-3bn - 12b ndx x )sin(b log(c x ) + a)

--R 33 n 33 2n-1 n
--R (6bn + 24bn)xx + (- 6bn - 24b n)x x Jcos(b log(c x ) + a)

--R n 2
--R sin(b log(c x ) + a)

--R 4 4 22 2n-1 n 2 22 n
--R (6bn + 24b n )x x cos(b log(c x ) +a) - 24bn x x

--R 442n-1
--R - 6bnxx

--R n
--R sin(b log(c x ) + a)

--R 33 n 332n-1 n
--R (12b n x x - 12b n x X Jcos(b log(c x ) + a)

--R 33 n
--R (4b n + 16b n)x x cos(b n log(x) + b log(c) + a)

--R 2
--R sin(b n log(x) + b log(c) + a)

--R 4 4 22 n 2
--R (- 9% n -40bn - 16)x x cos(b n log(x) + b log(c) + a)

--R 4 4 2 2 n
--R (9b n + 40bn + 16)x x

--R sin(b n log(x) + b log(c) + a)

--R 33 n 3
--R (4b n + 16b n)x x cos(b n log(x) + b log(c) + a)

15



--R 33 n
--R (- 4bn - 16b n)x x cos(b n log(x) + b log(c) + a)

--R 4 4 22 n

--R (9pn + 40bn + 16)x

--R Type: Expression(Integer)
--E 30

--S 31 of 504
t0106:= x"2*sin(a+b*log(c*x™n)) "3

--R 2 n 3

--R (31) x sin(b log(c x ) + a)

--R Type: Expression(Integer)
--E 31

--S 32 of 504

r0106:= -2/3*b"3*n"3*x"3*cos (a+b*log(c*x"n))/(1+b"2%n"~2) / (9+b~2%n"2) +_
2xb~2*n"2*x " 3*sin(at+bxlog(c*x™n))/(1+b"2%n"2)/(9+b"2*n"~2) - _
b*n*x"3*cos (at+b*log(c*x™n))*sin(a+b*log(cxx™n)) "2/ (3+3%b"2*n"2)+_
x"3*sin(at+b*log(c*x"n)) "3/ (3+3*b~2%n"2)

--R (32)
--R 22 3 n 3
--R (bn + 9x sin(b log(c x ) + a)

--R 33 3 n n 2
--R (-bn - 9bn)x cos(b log(c x ) + a)sin(b log(c x ) + a)

--R 223 n 333 n
--R 6b n x sin(b log(c x ) + a) - 2b n x cos(b log(c x ) + a)

--R 4 4 22

--R 3bn + 30bn + 27

--R Type: Expression(Integer)
--E 32

--S 33 of 504

a0106:= integrate(t0106,x)

--R  (33)
--R 2 2 3 2 2 2 3
--R ((-bn -9x cos(b n log(x) + b log(c) +a) + (7Tbn + 9x )

--R sin(b n log(x) + b log(c) + a)
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--R 33 3 3
--R (bn + 9b n)x cos(b n log(x) + b log(c) + a)
--R +

--R 33 3

--R (-3bn -9 n)x cos(b n log(x) + b log(c) + a)

--R 4 4 22

--R 3bn + 30bn + 27

--R Type: Union(Expression(Integer),...)
--E 33

--S 34 of 504
m0106:= a0106-r0106

--R (34
--R 2 2 3 n 3
--R (-bn - 9x sin(b log(c x ) + a)

--R 33 3 n n 2

--R (bn + 9b n)x cos(b log(c x ) + a)sin(b log(c x ) + a)

__R +

--R 223 n 333 n

--R - 6b n x sin(b log(c x ) + a) + 2b n x cos(b log(c x ) + a)

__R +

--R 22 3 2 22 3
--R ((-bn - 9x cos(b n log(x) + b log(c) +a) + (Tbn + 9)x )

--R sin(b n log(x) + b log(c) + a)

--R 33 3 3
--R (bn + 9b n)x cos(b n log(x) + b log(c) + a)
--R +

--R 33 3

--R (-3bn -9 n)x cos(b n log(x) + b log(c) + a)

--R 4 4 22

--R 3bn + 30bn + 27

--R Type: Expression(Integer)
--E 34

--S 35 of 504
d0106:= D(m0106,x)

--R (35)
--R 22 2n 4 4 22 3n-1 n 3
--R (-3n -2MNxx + (-bn -9 ndxx )sin(b log(c x ) + a)

--R 33 2n 33 3n-1 n
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--R (Bbn +27bn)xx + (-3bn - 27b n)x x Jcos(b log(c x ) + a)

--R n 2
--R sin(b log(c x ) + a)

--R 4 4 22 3n-1 n 2 222n
--R (2b n + 18b n )x x cos(b log(c x ) +a) - 18b n x x

--R 443n-1
--R - 2bnxx

--R n
--R sin(b log(c x ) + a)

--R 332n 333n-1 n
--R (6bnxx -6bnzxx Jcos(b log(c x ) + a)

--R 33 2n
--R (2b n + 18b n)x x cos(b n log(x) + b log(c) + a)

--R 2
--R sin(b n log(x) + b log(c) + a)

--R 4 4 22 2n 2
--R (-3bn -30bn - 27)x x cos(b n log(x) + b log(c) + a)

--R 4 4 22 2n
--R (3bn +30bn + 27)x x

--R sin(b n log(x) + b log(c) + a)

--R 33 2n 3
--R (2b n + 18b n)x x cos(b n log(x) + b log(c) + a)
--R +

--R 33 2n

--R (- 2bn - 18b n)x x cos(b n log(x) + b log(c) + a)

--R 4 4 22 n

--R (3bn +30bn + 27)x

--R Type: Expression(Integer)
--E 35

--S 36 of 504
t0107:= sin(at+b*log(c*x™n))"3/x"2
--R n 3

--R sin(b log(c x ) + a)
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--R X
--R
--E 36

--S 37 of 504

Type: Expression(Integer)

r0107:= -6%b~3*n"3*cos (a+b*log(c*x"n))/(1+b"2*n"2) / (1+9*b"2%n"2) /x~_
6*b~2+n"2*sin(a+b*log(c*x"n))/(1+b~2*n"2) / (1+9%b"2*n"2) /x-_
3*b*n*cos (atb*log(c*x"n))*sin(atb*log(c*x"n)) "2/ (1+9%b~2*n"2) /x~-_
sin(a+b*log(c*x™n)) "3/ (1+9%b~2*n"2) /x

--R  (37)
--R 22

n

3

--R (-bn - 1)sin(b log(c x ) + a)

--R 33

n

n 2

--R (- 3 n - 3b n)cos(b log(c x ) + a)sin(b log(c x ) + a)

--R 22

n

33 n

--R - 6b n sin(b log(c x ) + a) - 6b n cos(b log(c x ) + a)

--R 4 4 2 2
--R (9bn + 10bn + 1)x

--E 37
--S 38 of 504

a0107:= integrate(t0107,x)

--R  (38)
--R 22

Type: Expression(Integer)

2 22

--R (bn + 1)cos(b n log(x) + b log(c) +a) -7bn - 1)

--R sin(b n log(x) + b log(c) + a)

--R 33

3

--R (3b n + 3b n)cos(b n log(x) + b log(c) + a)

--R +
--R 33

--R (-9 n - 3b n)cos(b n log(x) + b log(c) + a)

--R 4 4 2 2
--R (9bn + 10bn + 1)x

--E 38
--S 39 of 504

m0107:= a0107-r0107
--R

Type: Union(Expression(Integer),...)
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--R (39)
--R 22 n 3
--R (bn + 1)sin(b log(c x ) + a)

--R 33 n n 2
--R (3b n + 3b n)cos(b log(c x ) + a)sin(b log(c x ) + a)
__R +

--R 22 n 33 n

--R 6b n sin(b log(c x ) + a) + 6b n cos(b log(c x ) + a)
__R +

--R 22 2 22

--R ((bn + 1)cos(b n log(x) + b log(c) +a) - 7bn - 1)

--R sin(b n log(x) + b log(c) + a)

--R 33 3
--R (3b n + 3b n)cos(b n log(x) + b log(c) + a)
--R +

--R 33

--R (-9 n - 3bn)cos(b n log(x) + b log(c) + a)

--R 4 4 22

--R (9pn + 10bn + Dx

--R Type: Expression(Integer)
--E 39

--S 40 of 504

d0107:= D(m0107,x)

--R (40
--R 22 n 4 4 22 n-1 n 3
--R (-bn -1)x +(-3bn -3ndxzx )sin(b log(c x ) + a)

--R 33 n 33 n-1 n
--R ((-3n -3n)x + (Bbn +3bn)xx Jcos(b log(c x ) + a)

--R n 2
--R sin(b log(c x ) + a)

--R 4 4 22 n-1 n 2 22n
--R (6bn + 6bn )x x cos(b log(c x ) +a) - 6bnx

--R 44 n-1
--R - 6bnxx

--R n
--R sin(b log(c x ) + a)
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--R 33n 33 n-1 n
--R (-6bnx +6bnxx Jcos(b log(c x ) + a)

--R 33 n
--R (-2bn - 2b n)x cos(b n log(x) + b log(c) + a)

--R 2
--R sin(b n log(x) + b log(c) + a)

--R 4 4 22 n 2
--R (-9 n -10bn - 1)x cos(b n log(x) + b log(c) + a)

--R 4 4 22 n
--R (9b n + 10bn + 1)x

--R sin(b n log(x) + b log(c) + a)

--R 33 n 3
--R (-2bn - 2b n)x cos(b n log(x) + b log(c) + a)

--R 33 n
--R (2b n + 2b n)x cos(b n log(x) + b log(c) + a)

--R 4 4 22 2n

--R (9bn + 10bn + Dx x

--R Type: Expression(Integer)
--E 40

--S 41 of 504
t0108:= x"m*sin(a+b*log(c*x"n)) "3

--R m n 3

--R (41) x sin(b log(c x ) + a)

--R Type: Expression(Integer)
--E 41

--S 42 of 504

r0108:= -6%b~3*n"3*x" (1+m) *cos (a+b*log(c*x™n))/((1+m) "2+b~2+n"2) / ((1+m) "2+_
9*%b~2*n"2) +6*b”~ 2% (1+m) *n~2*x "~ (1+m) *sin(a+b*log(cxx"n)) / ((1+m) "2+_
b~2+n"2)/ ((1+m) "2+9%b~2*n"2) -3*b*n*x "~ (1+m) *cos (a+b*log(c*x"n) ) *_
sin(at+b*xlog(c*x™n)) "2/ ((1+m) "2+9%b~2*n"~2) +(1+m) *x~ (1+m) *_
sin(a+b*log(c*x"n)) "3/ ((1+m) "2+9xb~2*n"2)

--R  (42)
--R 2 2 2 3 2 m+ 1 n 3
--R (bm+b)ln +m +3m + 3m + 1)x sin(b log(c x ) + a)

--R 33 2 m+ 1 n
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--R (-3 n +(-3bm -6bm- 3b)n)x cos(b log(c x ) + a)

--R n 2
--R sin(b log(c x ) + a)

--R 2 2 2m+ 1 n 33m+1 n
--R (6b m + 6b )n x sin(b log(c x ) + a) - 6b n x cos(b log(c x ) + a)

--R 4 4 22 2 2 2 4 3 2

--R 9o n + (10bm + 20bm + 10b )n +m + 4m + 6m + 4m + 1

--R Type: Expression(Integer)
--E 42

--S 43 of 504
a0108:= integrate(t0108,x)

--R  (43)
--R 2 2 2 3 2 2
--R (bPm-b)n -m -3m -3m - 1)x cos(b n log(x) + b log(c) + a)

--R 2 2 2 3 2
--R ((Tbm+ 7o )n +m + 3m + 3m + 1)x

--R m log(x)
--R he sin(b n log(x) + b log(c) + a)

--R 33 2 3
--R (3bn + (3bm + 6bm+ 3b)n)x cos(b n log(x) + b log(c) + a)
__R +

--R 33 2

--R (-9pn + (-3bm - 6bm- 3b)n)x cos(b n log(x) + b log(c) + a)

--R m log(x)
--R %he

--R 4 4 22 2 2 2 4 3 2

--R 9 n + (10bm + 20bm + 10b )n +m + 4m + 6m + 4m + 1

--R Type: Union(Expression(Integer),...)
--E 43

--S 44 of 504
m0108:= a0108-r0108

--R  (44)
--R 2 2 2 3 2 m+ 1 n 3
--R (bm-b)n -m -3m - 3m- 1x sin(b log(c x ) + a)

--R 33 2 m+ 1 n
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(3bn + (3bm + 6bm+ 3b)n)x

n 2

sin(b log(c x ) + a)

2 2 2m+1
(- 6bm - 6b )n x

n
sin(b log(c x )

33m+1
6b n x

n
cos(b log(c x ) + a)

2 2
((-bm-D>b)n

2 3 2

-m -3m - 3m -
2 2 2 3 2

((Tbm + 70 )n +m + 3m + 3m +

m log(x)
%he sin(b n log(x) + b log(c)
33
(3b n

2
+ (3 m + 6bm+ 3b)n)x c

33
(-9% n + (-3bm

2
- 6bm - 3b)n

m log(x)
he

4 4 22 2 2
9 n + (10bm + 20b m + 10b )n

2 4

+ m
--E 44

--S 45 of 504
d0108:= D(m0108,x)

(45)
22
((-bm

2 2
-2bm-Db )n

2
-m

4
- 4m

4 4 2
(-3bn + (-3bmn

2 2 2

n 3

sin(b log(c x ) + a)

3 3 3 3
((3bm+ 3 )n + (3bm + 9% m

2

23

- 6bm - 3b )n )x

cos(b log(c x ) + a)

+ a)

2

1)x cos(b n log(x) + b log(c) + a)

Dx

+ a)

3

os(b n log(x) + b log(c) + a)

)x cos(b n log(x) + b log(c) + a)

3 2

+4m + 6m + 4m + 1
Type: Expression(Integer)

3 2
- 6m

m
- 4m - 1)x x

n

2 m+1n-1

X

m
+ 95 m + 3b)n)x x

n



+

3 3 3 3 2 m+1n-1
((-3bm-3)n + (-3bm -9%m -9%m- 3b)n)x X

n n 2
cos(b log(c x ) + a)sin(b log(c x ) + a)

4 4 22 2 2 2 m+1n-1 n 2
(6bn + (6bm + 12b m + 6b )n )x X cos(b log(c x ) + a)

2 2 2 2 2mn 44m+1n-1
(-6bm - 12bm -6b )nx x - 6bnx X

n
sin(b log(c x ) + a)

3 3 3mn 3 3 3m+1n-1 n
((bm+ 6b)J)nxx + (-6bm-=- 6b)nx X Jcos(b log(c x ) + a)

3 3 3 3 2 n
((2bm+2b)n + (2bm + 6bm + 6b m + 2b)n)x

m log(x) 2
cos(b n log(x) + b log(c) + a)ke sin(b n log(x) + b log(c) + a)

4 4 2 2 2 2 2 4 3 2
(-9% n + (-10bm -20bm-10b )n -m -4m - 6m - 4m - 1)x

2
cos(b n log(x) + b log(c) + a)

4 4 2 2 2 2 2 4 3 2 n
(9bn + (10bm + 20bm + 10b )n +m + 4m + 6m + 4m + 1)x

m log(x)
%e sin(b n log(x) + b log(c) + a)

3 3 3 3 2 n
((2bm+2b)n + (2bm + 6bm + 6bm + 2b)n)x

3
cos(b n log(x) + b log(c) + a)

3 3 3 3 2 n
((-2bm-2b)n + (-2bm -6bm - 6bm- 2b)n)x

cos(b n log(x) + b log(c) + a)

m log(x)
he
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--R 4 4 22 2 2 2 4 3 2 n

--R (9pn + (10bm + 20bm + 10b )n +m + 4m + 6m + 4m + 1)x

--R Type: Expression(Integer)
--E 45

--S 46 of 504
t0109:= sin(log(9+17*x))

--R  (46) sin(log(17x + 9))
--R Type: Expression(Integer)
--E 46

--S 47 of 504
r0109:= -1/34%(9+17*x)*(cos(log(9+17*x))-sin(log(9+17*x)))

--R (17x + 9)sin(log(17x + 9)) + (- 17x - 9)cos(log(17x + 9))

-R @7 - --- --- e

--R 34

--R Type: Expression(Integer)
--E 47

--S 48 of 504
a0109:= integrate(t0109,x)

--R (17x + 9)sin(log(17x + 9)) + (- 17x - 9)cos(log(17x + 9))

--R  (48) --- -—- -—- ettt

--R 34

--R Type: Union(Expression(Integer),...)
--E 48

--S 49 of 504
m0109:= a0109-r0109

--R (49) ©
--R Type: Expression(Integer)
--E 49

--S 50 of 504
d0109:= D(m0109,x)

--R (60) 0
--R Type: Expression(Integer)
--E 50
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--S 51 of 504
t0110:= cos(a+b*x)~(1/2)

--R (51) \lcos(b x + a)
--R Type: Expression(Integer)
--E 51

--S 52 of 504
r0110:= 2%E1llipticE(1/2*a+1/2%b*x,2)/b

--R There are no library operations named EllipticE

--R Use HyperDoc Browse or issue

--R Jwhat op EllipticE

--R to learn if there is any operation containing " EllipticE " in
--R its name.

--RDaly Bug

--R  Cannot find a definition or applicable library operation named
--R EllipticE with argument type(s)

--R Polynomial (Fraction(Integer))

--R PositiveInteger

--R Perhaps you should use "@" to indicate the required return type,
--R or "$" to specify which version of the function you need.
--E 52

--S 53 of 504
a0110:= integrate(t0110,x)

--R (62) | \lcos(¥H b + a) dJH

--R ++

--R Type: Union(Expression(Integer),...)
--E 53

--S 54 of 504
--m0110:= a0110-r0110
--E 54

--S 55 of 504
--d0110:= D(m0110,x)
--E 55

--S 56 of 504

t0111:= cos(a+b*x)~(3/2)
--R
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--R pommm +

--R (53) cos(b x + a)\lcos(b x + a)

--R Type: Expression(Integer)
--E 56

--S 57 of 504

r0111:= 2/3*(EllipticF(1/2*a+1/2*b*x,2)+cos(a+b*x)~(1/2)*sin(a+b*x))/b

--R There are no library operations named EllipticF

--R Use HyperDoc Browse or issue

--R Jwhat op EllipticF

--R to learn if there is any operation containing " EllipticF " in
--R its name.

--R

--RDaly Bug

--R  Cannot find a definition or applicable library operation named
--R EllipticF with argument type(s)

--R Polynomial (Fraction(Integer))

--R PositiveInteger

--R

--R Perhaps you should use "Q" to indicate the required return type,
--R or "$" to specify which version of the function you need.
--E 57

--S 58 of 504

a0111:= integrate(t0111,x)

--R

--R

--R X

--R ++ e +

--R (54) | cos(4H b + a)\lcos(%H b + a) d%H

--R ++

--R Type: Union(Expression(Integer),...)
--E 58

--S 59 of 504

--m0111:= a0111-r0111

--E 59

--S 60 of 504

--d0111:= D(m0111,x)

--E 60

--S 61 of 504

t0112:= cos(at+b*x)~(5/2)

--R

--R

--R 2 tmmmmm +

--R (55) cos(b x + a) \|cos(b x + a)
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--R Type: Expression(Integer)
--E 61

--S 62 of 504
r0112:= 2/5%(3*EllipticE(1/2*a+1/2%b*x,2)+cos (atb*x) " (3/2)*sin(at+b*x))/b

--R There are no library operations named EllipticE

--R Use HyperDoc Browse or issue

--R Jwhat op EllipticE

--R to learn if there is any operation containing " EllipticE " in
--R its name.

--RDaly Bug

--R  Cannot find a definition or applicable library operation named
--R EllipticE with argument type(s)

--R Polynomial (Fraction(Integer))

--R PositiveInteger

--R Perhaps you should use "@" to indicate the required return type,
--R or "$" to specify which version of the function you need.
--E 62

--S 63 of 504
a0112:= integrate(t0112,x)

--R X

--R ++ 2 H——mmmm oo +

--R  (56) | cos(#H b + a) \lcos(%H b + a) dJH

--R ++

--R Type: Union(Expression(Integer),...)
--E 63

--S 64 of 504
--m0112:= a0112-r0112
--E 64

--S 65 of 504
--d0112:= D(m0112,x)
--E 65

--S 66 of 504
t0113:= 1/cos(a+b*x)~(1/2)

--R \lcos(b x + a)
--R Type: Expression(Integer)
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--E 66

--S 67 of 504
r0113:= 2xEllipticF(1/2%a+1/2%b*x,2)/b

--R There are no library operations named EllipticF

--R Use HyperDoc Browse or issue

--R Jwhat op EllipticF

--R to learn if there is any operation containing " EllipticF " in
--R its name.

--RDaly Bug

--R Cannot find a definition or applicable library operation named
--R EllipticF with argument type(s)

--R Polynomial (Fraction(Integer))

--R Positivelnteger

--R Perhaps you should use "@" to indicate the required return type,
--R or "$" to specify which version of the function you need.
--E 67

--S 68 of 504
a0113:= integrate(t0113,x)

=R (88) | —mmmmmmmmme—eee- a’H

--R \lcos(%H b + a)
--R Type: Union(Expression(Integer),...)
--E 68

--S 69 of 504
--m0113:= a0113-r0113
--E 69

--S 70 of 504
--d0113:= D(m0113,x)
--E 70

--S 71 of 504
t0114:= 1/cos(a+bxx)~(3/2)

--R  (59) --- -

--R cos(b x + a)\lcos(b x + a)
--R Type: Expression(Integer)
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--E 71

--S 72 of 504
r0114:= -2*E1lipticE(1/2%a+1/2%bxx,2) /b+2*sin(a+b*x)/b/cos(atb*x)~(1/2)

--R  There are no library operations named EllipticE

--R Use HyperDoc Browse or issue

--R Jwhat op EllipticE

--R to learn if there is any operation containing " EllipticE " in
--R its name.

--RDaly Bug

--R Cannot find a definition or applicable library operation named
--R EllipticE with argument type(s)

--R Polynomial (Fraction(Integer))

--R Positivelnteger

--R Perhaps you should use "@" to indicate the required return type,
--R or "$" to specify which version of the function you need.
--E 72

--S 73 of 504
a0114:= integrate(t0114,x)

--R ++ 1
e T 1) T B d%H

--R ++ mmm o +

--R cos(%H b + a)\lcos(%H b + a)

--R Type: Union(Expression(Integer),...)
--E 73

--S 74 of 504
--m0114:= a0114-r0114
--E 74

--S 75 of 504
--d0114:= D(m0114,x)
--E 75

--S 76 of 504
t0115:= 1/cos(a+b*x)~(5/2)

--R  (61) --- -

--R cos(b x + a) \lcos(b x + a)
--R Type: Expression(Integer)
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--E 76

--8 77 of 504
r0115:= 2/3%EllipticF(1/2%a+1/2*b*x,2)/b+2/3*sin(a+b*x)/b/cos(atbxx)~(3/2)

--R There are no library operations named EllipticF

--R Use HyperDoc Browse or issue

--R Jwhat op EllipticF

--R to learn if there is any operation containing " EllipticF " in
--R its name.

--RDaly Bug

--R Cannot find a definition or applicable library operation named
--R EllipticF with argument type(s)

--R Polynomial (Fraction(Integer))

--R Positivelnteger

--R Perhaps you should use "@" to indicate the required return type,
--R or "$" to specify which version of the function you need.
--E 77

--S 78 of 504
a0115:= integrate(t0115,x)

--R ++ 1

e T G B B d%H

--R ++ 2 Am—mmmm o +

--R cos(%H b + a) \lcos(}H b + a)

--R Type: Union(Expression(Integer),...)
--E 78

--S 79 of 504
--m0115:= a0115-r0115
--E 79

--S 80 of 504
--d0115:= D(m0115,x)
--E 80

--S 81 of 504
t0116:= (a*cos(x))~(1/2)

--R  (63) \la cos(x)
--R Type: Expression(Integer)
--E 81
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--S 82 of 504
r0116:= 2*(a*cos(x)) " (1/2)*EllipticE(1/2*x,2)/cos(x)~(1/2)

--R There are no library operations named EllipticE

--R Use HyperDoc Browse or issue

--R Jwhat op EllipticE

--R to learn if there is any operation containing " EllipticE " in
--R its name.

--RDaly Bug

--R Cannot find a definition or applicable library operation named
--R EllipticE with argument type(s)

--R Polynomial (Fraction(Integer))

--R PositiveInteger

--R Perhaps you should use "Q" to indicate the required return type,
--R or "$" to specify which version of the function you need.
--E 82

--S 83 of 504
a0116:= integrate(t0116,x)

--R  (64) I \la cos(%H) d%H

--R ++

--R Type: Union(Expression(Integer),...)
--E 83

--S 84 of 504
--m0116:= a0116-r0116
--E 84

--S 85 of 504
--d0116:= D(m0116,x)
--E 85

--S 86 of 504
£0117:= (a*cos(x)~3)~(1/2)

--R  (65) \la cos(x)
--R Type: Expression(Integer)
--E 86

--S 87 of 504
r0117:= 2/3*(a*cos(x)~3) "~ (1/2)*_
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(EllipticF(1/2%x,2)+cos(x) " (1/2)*sin(x))/cos(x) " (3/2)

--R  There are no library operations named EllipticF

--R Use HyperDoc Browse or issue

--R Jwhat op EllipticF

--R to learn if there is any operation containing " EllipticF " in
--R its name.

--RDaly Bug

--R Cannot find a definition or applicable library operation named
--R EllipticF with argument type(s)

--R Polynomial (Fraction(Integer))

--R Positivelnteger

--R Perhaps you should use "@" to indicate the required return type,
--R or "$" to specify which version of the function you need.
--E 87

--S 88 of 504
a0117:= integrate(t0117,x)

--R (66) | \la cos(¥H) d%H

--R ++

--R Type: Union(Expression(Integer),...)
--E 88

--S 89 of 504
--m0117:= a0117-r0117
--E 89

--S 90 of 504
--d0117:= D(m0117,x)
--E 90

--S 91 of 504
£0118:= (a*cos(x))~(3/2)

--R  (67) a cos(x)\la cos(x)
--R Type: Expression(Integer)
--E 91

--S 92 of 504
r0118:= 2/3*a"2x(cos(x)~(1/2)*_

EllipticF(1/2*x,2)+cos(x)*sin(x))/(a*cos(x))"(1/2)
--R
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--R There are no library operations named EllipticF

--R Use HyperDoc Browse or issue

--R Jwhat op EllipticF

--R to learn if there is any operation containing " EllipticF " in
--R its name.

--RDaly Bug

--R  Cannot find a definition or applicable library operation named
--R EllipticF with argument type(s)

--R Polynomial (Fraction(Integer))

--R PositiveInteger

--R Perhaps you should use "Q" to indicate the required return type,
--R or "$" to specify which version of the function you need.
--E 92

--S 93 of 504
a0118:= integrate(t0118,x)

--R ++ dommmm +

--R  (68) | a cos(JH\la cos(%H) d%H

--R ++

--R Type: Union(Expression(Integer),...)
--E 93

--S 94 of 504
--m0118:= a0118-r0118
--E 94

--S 95 of 504
--d0118:= D(m0118,x)
--E 95

--S 96 of 504
£0119:= (a*cos(x)"~3)"(3/2)

--R 3| 3

--R  (69) a cos(x) \la cos(x)

--R Type: Expression(Integer)
--E 96

--S 97 of 504

r0119:= 2/45%a*(a*xcos(x)~3)~(1/2)*_
(21*E11lipticE(1/2%x,2)+7*cos(x) " (3/2) *sin(x)+_
5%cos (x) ~(7/2)*sin(x))/cos(x) ~(3/2)
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--R There are no library operations named EllipticE

--R Use HyperDoc Browse or issue

--R Jwhat op EllipticE

--R to learn if there is any operation containing " EllipticE " in
--R its name.

--RDaly Bug

--R  Cannot find a definition or applicable library operation named
--R EllipticE with argument type(s)

--R Polynomial (Fraction(Integer))

--R PositiveInteger

--R Perhaps you should use "Q" to indicate the required return type,
--R or "$" to specify which version of the function you need.
--E 97

--S 98 of 504
a0119:= integrate(t0119,x)

--R ++ 31 3

--R  (70) | a cos(¥H) \la cos(%H) dJH

--R ++

--R Type: Union(Expression(Integer),...)
--E 98

--S 99 of 504
--m0119:= a0119-r0119
--E 99

--S 100 of 504
--d0119:= D(m0119,x)
--E 100

--S 101 of 504
£0120:= 1/(a*cos(x))~(1/2)

--R \la cos(x)
--R Type: Expression(Integer)
--E 101

--S 102 of 504

r0120:= 2xcos(x) " (1/2)*EllipticF(1/2%x,2)/(a*xcos(x))~(1/2)
--R

--R  There are no library operations named EllipticF
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--R Use HyperDoc Browse or issue

--R Jwhat op EllipticF

--R to learn if there is any operation containing " EllipticF " in
--R its name.

--RDaly Bug

--R Cannot find a definition or applicable library operation named
--R EllipticF with argument type(s)

--R Polynomial (Fraction(Integer))

--R Positivelnteger

--R Perhaps you should use "Q@" to indicate the required return type,
--R or "$" to specify which version of the function you need.
--E 102

--S 103 of 504
a0120:= integrate(t0120,x)

--R (72) | —m———————— d%H

--R \la cos(%H)
--R Type: Union(Expression(Integer),...)
--E 103

--S 104 of 504
--m0120:= a0120-r0120
--E 104

--S 105 of 504
--d0120:= D(m0120,x)
--E 105

--S 106 of 504
t0121:= 1/(a*cos(x)~2)"~(1/2)

--R \la cos(x)
--R Type: Expression(Integer)
--E 106

--S 107 of 504

r0121:= atanh(sin(x))*cos(x)/(a*cos(x)"2)"(1/2)
--R
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--R cos(x)atanh(sin(x))

--R \la cos(x)
--R Type: Expression(Integer)
--E 107

--S 108 of 504
a0121:= integrate(t0121,x)

--R et =+
--R sin(x) - cos(x) - 1 sin(x)\|- a \la

--R sin(x) + cos(x) + 1 a cos(x) + a

--R (75 [-- -—= ———,- - -—= -——-]

--R +—+ -t

--R \la \l- a

--R Type: Union(List(Expression(Integer)),...)
--E 108

--S 109 of 504
mO0121a:= a0121.1-r0121

--R sin(x) - cos(x) - 1 | 2 +-+

--R +=+ | 2

—-R \la \la cos(x)

--R Type: Expression(Integer)
--E 109

--S 110 of 504
d0121a:= D(m0121a,x)

--R r7)
--R 4 2 2 2 +-+
--R (2sin(x) + (2cos(x) + 2cos(x) - 2)sin(x) - 2cos(x) - 2cos(x))\la

--R \la cos(x)
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--R 2 2 4 3 2
--R a cos(x) sin(x) - a cos(x) - 2a cos(x) - a cos(x)

--R 4 2 2 2
--R a sin(x) + (- a cos(x) - 2a cos(x) - 2a)sin(x) + a cos(x)

--R 2a cos(x) + a

--R \la cos(x)
--R Type: Expression(Integer)
--E 110

--S 111 of 504
m0121b:= a0121.2-r0121

--R ===+ =+ A———————— +
--R sin(x)\ |- a \la | 2 +-——+
--R - 2atan(-----—-————————- )\la cos(x) - cos(x)\|- a atanh(sin(x))

--R +——=+ | 2

R \l- a \la cos(x)

--R Type: Expression(Integer)
--E 111

--S 112 of 504
d0121b:= D(m0121b,x)

--R (79)
--R 4 2 2 2 +-+
--R (2sin(x) + (2cos(x) + 2cos(x) - 2)sin(x) - 2cos(x) - 2cos(x))\la

--R \la cos(x)

--R 2 2 4 3 2
--R a cos(x) sin(x) - a cos(x) - 2a cos(x) - a cos(x)

--R 4 2 2 2
--R a sin(x) + (- a cos(x) - 2a cos(x) - 2a)sin(x) + a cos(x)

--R 2a cos(x) + a
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--R | 2

--R \la cos(x)

--R Type: Expression(Integer)
--E 112

--S 113 of 504
t0122:= 1/(a*cos(x)~3)"(1/2)

--R \la cos(x)
--R Type: Expression(Integer)
--E 113

--S 114 of 504
r0122:= -2*cos(x)*(cos(x)~(1/2)*EllipticE(1/2*x,2)-sin(x))/(a*cos(x)~3) " (1/2)

--R  There are no library operations named EllipticE

--R Use HyperDoc Browse or issue

--R Jwhat op EllipticE

--R to learn if there is any operation containing " EllipticE " in
--R its name.

--RDaly Bug

--R Cannot find a definition or applicable library operation named
--R EllipticE with argument type(s)

--R Polynomial (Fraction(Integer))

--R PositivelInteger

--R Perhaps you should use "Q" to indicate the required return type,
--R or "$" to specify which version of the function you need.

--E 114

--S 115 of 504
a0122:= integrate(t0122,x)

--R \la cos(%H)
--R Type: Union(Expression(Integer),...)
--E 115

--S 116 of 504
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--m0122:= a0122-r0122
--E 116

--S 117 of 504
--d0122:= D(m0122,x)
--E 117

--S 118 of 504
t0123:= 1/(a+b*cos(c+d*x)) "4

--R  (82)
--R 1

--R 4 4 3 3 2 2 2
--R b cos(d x + c) + 4a b cos(d x + c) + 6a b cos(d x + ¢)

--R 3 4

--R 4a b cos(d x + ¢c) + a

--R Type: Expression(Integer)
--E 118

--S 119 of 504

r0123:= a*(2*a”2+3*b~2)*atan((a-b)*tan(1/2*c+1/2*d*x)/(a"2-b"2) "~ (1/2))/_
(a~2-b"2)~(7/2)/d-1/3*b*sin(c+d*x) /(a~2-b~2)/d/_
(at+b*cos (c+d*x)) "3-5/6*a*b*sin(c+d*x)/(a~2-b"2)"~2/4/_
(a+b*cos(c+d*x)) "2-1/6%bx (11*xa~2+4%b~2) *sin (c+d*x) /_
(a~2-b"2)"~3/d/ (a+b*cos (c+d*x))

--R (83)
--R 5 33 3 2 4 4 2 2
--R (18a b + 12a b )cos(d x + ¢c) + (B4a b + 36a b )cos(d x + ¢)

--R 33 5 4 2 6
--R (54a b + 36a b)cos(d x + ¢c) + 18a b + 12a

--R 5 23 2 4 32 5
--R (4b + 11a b )cos(d x +c) + (3ab + 27a b )cos(d x + c) + 2b

--R 23 4
--R -bab + 18a b
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--R sin(d x + c&)D\I- b + a

--R 9 27 45 6 3
--R (6b - 18a b + 18a b - 6a b )d

--R 8 36 5 4 7

3
cos(d x + ¢)

2 2

--R (18a b -54ab + 54a b - 18a b )d cos(d x + ¢)

--R 27 45 6 3 8

--R (18a b - 54a b + 54a b - 18a b)d cos(d x + c)

--R 36 5 4 7 2 9
--R (ab - 18a b + 18a b - 6a )d

--E 119

--S 120 of 504
a0123:= integrate(t0123,x)

--R  (84)

--R [

--R 5 33 3
--R (9a b + 6a b )cos(d x + ¢)

--R 33 5
--R (27a b + 18a b)cos(d x + c)

--R | 2
--R (- acos(d x+ c) - Db)\lb

Type: Expression(Integer)

2 4 4 2 2
+ (27a b + 18a b )cos(d x + c)

4 2 6
+ 9a b + 6a

2 2 2
-a + (b -a)sin(d x + c)

--R log( -
--R b cos(d

--R 5 23 2
--R (4b + 1la b )cos(d x + ¢)

--R 23 4
--R -5ab + 18a b

--R | 2 2
--R sin(d x + c)\Ib - a
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9

27 4 5

(6b - 18a b + 18a b -

(18a b

2
(18a b

36
(6a b

8

7

36 5 4
- 54a b + 54a b

4 5 6 3
- 54a b + 54a b

54 72
- 18 b + 18a b

5 33

(- 18a b - 12a b )cos(

33 5

(- 54a b - 36a b)cos(d

6 3 3
6a b )d cos(d x + ¢)

7 2 2
- 18a b )d cos(d x + c)

8
- 18a b)d cos(d x + c)

9
- 6a )d

3 2 4 4 2
dx+c) + (-54ab -36ab )cos(d x + c)

4 2 6
x+c) - 18a b - 12a

(b + a)cos(dx+c) +b + a

5
(4b

2

23
+ 11a b )cos(d x +

3 4

- bab + 18a b

9

(b - 18a b + 18a b -

(18a b

2
(18a b

36

8

7

36 54
- 54a b + 54a b

45 6 3
- 54a b + 54a b

54 7 2

2 4 32 5
c) + (Bab + 27a b )cos(d x +c) +2b

6 3 3
6a b )d cos(d x + ¢)

7 2 2
- 18a b )d cos(d x + c)

8
- 18a b)d cos(d x + c)
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--R (ab - 18a b + 18a b - 6a )d

--R Type: Union(List(Expression(Integer)),...)

--S 121 of 504
m0123a:= a0123.1-r0123
--R (85)

--R 2 3 | 2 2

--R | 2 2 2 2
--R (-acos(dx+c) -b)\I[b -a + (b - a)sin(d x + c)

--R 2 3 |2 2 2
--R (-6ab -4a)\Ib - a atan(--———--———--——--———- )

--R 6 2 4 4 2 6 | 2 2 |2 2

--R (2b -6ab +6ab -2a)d\l-b +a \|b -a

--R Type: Expression(Integer)
--E 121

--S 122 of 504
d0123a:= D(m0123a,x)

--R (86)
--R 4 23 32 4 2
--R (-3 b +3ab -2ab + 2a b)sin(d x + c)

--R 4 32 2
--R (-3 b -2ab)cos(d x + c)

--R 4 23 32 4 23 4
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(-3 b -32b -22b -2ab)cos(dx+c)-3ab -2ab

4 23 32 4 2
(3a2b +3ab +2ab + 2a b)sin(d x + ¢)

4 32 2
(3a b + 2a b )cos(d x + ¢)

4 23 32 4 23 4

(-3 b +3b -2ab +2ablcos(dx+c)-3ab -2ab
| 2 2
\Ilb - a

5 33 5 5 33 5
(32 b -ab -2ab)cos(dx+c) +3ab -ab - 2ab)sin(d x + ¢)

5 33 5 5 33 5

(32 b - ab -2ab)cos(dx+c)-3ab +ab + 2ab)sin(d x + ¢)

8 27 36 45 5 4 6 3 7 2 8
(2a b -2ab -6ab +6ab +6ab -6ab -2ab + 2ab)

2
cos(d x + c)

9 8 27 36 6 3 7 2 8 9
(2b -2ab -4ab +4ab +4ab -4ab -2ab+ 2a)

cos(d x + ¢)

8 27 36 45 54 6 3 7 2 8
2a b - 2ab -6ab +6ab +6ab -6ab -22ab +2ab

8 27 36 45 5 4 6 3 7 2 8
(-2ab -2ab +6ab +6ab -6ab -6ab +2ab + 2ab)
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2
cos(d x + c)

9 8 27 36 6 3 72 8 9
(-2b -2ab +4ab +4ab -4ab -4ab + 2ab+ 2a)

cos(d x + ¢)

8 27 36 45 5 4 6 3 7 2 8
- 2ab -2ab +6ab +6ab -6ab -6ab +2ab +2ab

10 9 28 37 46 55 6 4 73
-2b +2a2b +8ab -8ab -12ab +12ab +8ab -8ab

8 2 9
- 2ab +2ab

cos(d x + ¢)

9 28 37 46 55 6 4 7 3 8 2
- 2ab +2ab +8ab -8b -12ab + 12ab +8ab -8ab

9 10
- 2a b + 2a
sin(d x + c)tan(------- )
10 9 28 37 4 6 55 6 4 73
2b +2ab -8ab -8Db +12ab +12ab -8ab -8ab

8 2 9
2a b + 2a b

cos(d x + c)

9 28 37 46 55 6 4 73 8 2
2ab +2ab -8b -8ab +12ab +12ab -8ab -8ab

9 10
2a b + 2a

sin(d x + ¢)
Type: Expression(Integer)

45



--S 123 of 504
m0123b:= a0123.2-r0123

--R  (87)

--R 2 3 sin(d x + c)\I- b + a
--R (- 3a b - 2a)atan(-—--—-——-——-——-——-—momm—— )

--R 2 3 2
--R (- 32 b - 2a)atan(-—--—--——----—--——- )

--R 6 2 4 4 2 6 | 2 2

--R (b -3ab +3ab -ad)d\l-b + a

--R Type: Expression(Integer)
--E 123

--S 124 of 504
d0123b:= D(m0123b,x)

--R (88)
--R 3 2 2 3 4 2
--R (32 b -3ab + 2ab-2a)sin(d x + c)

--R 3 2 2 3 4 2
--R (Qab -3ab + 6ab-2a)cos(dx + c)

--R 3 3 3 2 2 3 4
--R (12a b + 8a b)cos(d x +c) +3ab +3ab +2ab+ 2a

--R 3 22 3 4 2
--R (-9ab -3ab -6ab-2a)sin(d x + c)

--R 3 22 3 4 2 3 2 2 3 4
--R (-3 b -3ab -2ab-2a)cos(dx+c) +3ab +3ab +2ab+ 2a
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--R 8 7 26 35 53 6 2 7 8
--R (2b -4ab -4ab + 12ab -12ab +4ab + 4ab - 2a)

--R 2
--R sin(d x + ¢)

--R 8 26 4 4 6 2 8 2
--R (-2b +8ab -12ab +8ab - 2a )cos(d x + c)

--R 8 26 4 4 6 2 8 8 26
--R (-4b + 16ab -24ab + 16ab - 4a )cos(dx +c) - 2b + 8ab

--R 4 4 6 2 8
--R -12a b +8ab - 2a

--R 8 2 6 4 4 6 2 8 2
--R (-2b +8ab -12ab +8ab - 2a )sin(d x + ¢)

--R 8 7 26 35 53 6 2 7 8 2
--R (2b +4ab -4ab -12ab + 12ab +4ab - 4ab - 2a )cos(d x + c)

--R 8 7 26 35 53 6 2 7 8
--R (4b +8ab -8ab -24ab +24ab +8ab -8ab-4a )cos(d x + c)

--R 8 7 26 35 53 6 2 7 8
--R 2b +4ab -4ab -12ab + 12ab +4ab -4ab- 2a
--R Type: Expression(Integer)

--S 125 of 504
£0124:= (at+b*cos(c+d*x))~(1/2)

--R (89) \|b cos(d x +c) + a
--R Type: Expression(Integer)
--E 125

--S 126 of 504
r0124:= 2% (a+b*cos(c+d*x)) ~(1/2)*_
EllipticE(1/2%c+1/2*d*x,2*b/(a+b))/d/ ((atb*cos(c+d*x))/(atb))~(1/2)

--R

--R  There are no library operations named EllipticE

--R Use HyperDoc Browse or issue

--R Jwhat op EllipticE

--R to learn if there is any operation containing " EllipticE " in
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--R its name.

--R

--RDaly Bug

--R Cannot find a definition or applicable library operation named
--R EllipticE with argument type(s)

--R Polynomial (Fraction(Integer))

--R Fraction(Polynomial (Integer))

--R

--R Perhaps you should use "Q@" to indicate the required return type,
--R or "$" to specify which version of the function you need.
--E 126

--5 127 of 504

a0124:= integrate(t0124,x)

--R

--R

--R bd

--R I +

--R (90) | \Ilb cos(4H d + ¢) + a dJH

--R ++

--R Type: Union(Expression(Integer),...)
--E 127

--S 128 of 504

--m0124:= a0124-r0124

--E 128

--5 129 of 504

--d0124:= D(m0124,x)

--E 129

--S 130 of 504
£0125:= 1/(a+b*cos(x))~(1/2)

--R \Ib cos(x) + a
--R Type: Expression(Integer)
--E 130

--S 131 of 504
r0125:= 2x((a+b*cos(x))/(a+b)) ~(1/2)*_
EllipticF(1/2#%x,2*b/(at+b))/(atb*cos(x))~(1/2)

--R

--R  There are no library operations named EllipticF

--R Use HyperDoc Browse or issue

--R Jwhat op EllipticF

--R to learn if there is any operation containing " EllipticF " in
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--R its name.

--RDaly Bug

--R Cannot find a definition or applicable library operation named
--R EllipticF with argument type(s)

--R Polynomial (Fraction(Integer))

--R Fraction(Polynomial (Integer))

--R Perhaps you should use "Q@" to indicate the required return type,
--R or "$" to specify which version of the function you need.
--E 131

--S 132 of 504
a0125:= integrate(t0125,x)

e ) I a’H

--R \Ib cos(H) + a
--R Type: Union(Expression(Integer),...)
--E 132

--S 133 of 504
--m0125:= a0125-r0125
--E 133

--S 134 of 504
--d0125:= D(m0125,x)
--E 134

--S 135 of 504
£0126:= 1/(a+b*cos(x))~(3/2)

--R  (93) --- -

--R (b cos(x) + a)\Ib cos(x) + a
--R Type: Expression(Integer)
--E 135

--S 136 of 504

r0126:= 2% (a+b*cos(x)) ~(1/2)*_
EllipticE(1/2*x,2%b/(a+b))/(a~2-b~2)/((a+b*cos(x))/(a+b))~(1/2)-_
2%b*sin(x)/(a”2-b"2)/(at+b*cos(x))~(1/2)

--R
--R There are no library operations named EllipticE
--R Use HyperDoc Browse or issue
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--R Jwhat op EllipticE

--R to learn if there is any operation containing " EllipticE " in
--R its name.

--R

--RDaly Bug

--R  Cannot find a definition or applicable library operation named
--R EllipticE with argument type(s)

--R Polynomial (Fraction(Integer))

--R Fraction(Polynomial (Integer))

--R

--R Perhaps you should use "Q@" to indicate the required return type,
--R or "$" to specify which version of the function you need.

--E 136

--S 137 of 504

a0126:= integrate(t0126,x)

--R

--R

--R X

--R ++ 1

--R  (94) | - - -- dJH

--R ++ o +

--R (b cos(%H) + a)\Ib cos(}H) + a

--R Type: Union(Expression(Integer),...)
--E 137

--S 138 of 504

--m0126:= a0126-r0126

--E 138

--S 139 of 504

--d0126:= D(m0126,x)

--E 139

--S 140 of 504
£0127:= 1/(a+bxcos(x)) "~ (5/2)

--R (b cos(x) + 2a b cos(x) + a )\Ib cos(x) + a
--R Type: Expression(Integer)
--E 140

--S 141 of 504

r0127:= 8/3*a*(atb*cos(x)) " (1/2)*E1llipticE(1/2*x,2*b/(at+b))/_
(a72-b72) "2/ ((at+b*cos(x))/(a+b)) " (1/2)-_
2/3* ((at+b*cos(x))/(a+b))~(1/2)*E1llipticF (1/2*x,2*b/(a+b))/_
(a”2-b"2)/(a+b*cos(x)) ~(1/2)-2/3*bxsin(x)/_
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(a~2-b"2)/(a+b*cos(x))~(3/2)-8/3*a*bxsin(x)/(a"2-b"2)"2/_

(at+b*cos(x))~(1/2)
--R
--R There are no library operations named EllipticE
--R Use HyperDoc Browse or issue
--R Jwhat op EllipticE
--R to learn if there is any operation containing " EllipticE " in
--R its name.
--R
--RDaly Bug
--R  Cannot find a definition or applicable library operation named
--R EllipticE with argument type(s)
--R Polynomial (Fraction(Integer))
--R Fraction(Polynomial (Integer))
--R
--R Perhaps you should use "Q" to indicate the required return type,
--R or "$" to specify which version of the function you need.
--E 141
--S 142 of 504
a0127:= integrate(t0127,x)
--R
--R
--R X
--R ++ 1
--R  (96) | - -—= -—= - dJH
--R ++ 2 2 2 e +
--R (b cos(%H) + 2a b cos(JH) + a )\Ib cos(JH) + a
--R Type: Union(Expression(Integer),...)
--E 142

--S 143 of 504
--m0127:= a0127-r0127

--E 143
--S 144 of 504

--d0127:= D(m0127,x)

--E 144

--S 145 of 504

t0128:= (a+a*cos(c+d*x))~(1/2)

--R

--R

--R e +

--R (97) \la cos(d x + c) + a

--R Type: Expression(Integer)
--E 145

--S 146 of 504

r0128:= 2*a*sin(c+d*x)/d/(a+a*cos(c+d*x)) "~ (1/2)

o1



--R 2a sin(d x + c)
--R  (98) —--mmmmmemmmemmmeeeeee

--R d\la cos(d x + ¢c) + a
--R Type: Expression(Integer)
--E 146

--S 147 of 504
a0128:= integrate(t0128,x)

--R d cos(d x +c) +d
--R Type: Union(Expression(Integer),...)

--S 148 of 504
m0128:= a0128-r0128

--R (100) ©
--R Type: Expression(Integer)
--E 148

--S 149 of 504
d0128:= D(m0128,x)

--R (101) 0
--R Type: Expression(Integer)
--E 149

--S 150 of 504
£0129:= (a+a*cos(c+d*x))~(3/2)

--R (102) (a cos(d x + c) + a)\la cos(d x + ¢c) + a
--R Type: Expression(Integer)
--E 150

--S 151 of 504
r0129:= 2/3*a"2*sin(c+d*x)*(5+cos(c+d*x))/(a*x(1+cos(c+d*x)))~(1/2)/d
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--R (2a cos(d x + ¢) + 10a )sin(d x + c)
--R  (103) -- T

--R 3d\la cos(d x + c) + a
--R Type: Expression(Integer)
--E 151

--S 152 of 504
a0129:= integrate(t0129,x)

--R (2a cos(d x + ¢) + 10a)sin(d x + c)\la cos(d x + ¢c) + a

--R  (104) -- e e e

--R 3d cos(d x + c) + 3d

--R Type: Union(Expression(Integer),...)
--E 152

--S 153 of 504
m0129:= a0129-r0129

--R (105) 0
--R Type: Expression(Integer)
--E 153

--S 154 of 504
d0129:= D(m0129,x)

--R (106) 0
--R Type: Expression(Integer)
--E 154

--S 155 of 504
£0130:= (a+a*cos(c+d*x)) "~ (5/2)

-R 2 2 2 2 Ammmmmmmmmmmmeee e +
--R (107) (a cos(d x + c) + 2a cos(d x + ¢c) + a )\la cos(d x +c¢c) + a

--R Type: Expression(Integer)
--E 155

--S 156 of 504

r0130:= 2/15*%a"3*sin(c+d*x)* (43+14*cos (c+d*x)+_
3%cos (c+d*x) ~2) / (a* (1+cos (c+d*x)) )~ (1/2)/d

--R 3 2 3 3
--R (6a cos(d x + ¢c) + 28a cos(d x + c) + 86a )sin(d x + c)
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--R 16d\la cos(d x + c) + a
--R Type: Expression(Integer)

--S 157 of 504
a0130:= integrate(t0130,x)

--R (109)

--R 2 2 2 2 Fomm +
--R (6a cos(d x + c) + 28a cos(d x + ¢c) + 86a )sin(d x + c)\la cos(d x + ¢c) + a
__R —_——— —_— —_— I ——————
--R 15d cos(d x + ¢) + 15d

--R Type: Union(Expression(Integer),...)
--E 157

--S 158 of 504
m0130:= a0130-r0130

--R (110) 0
--R Type: Expression(Integer)
--E 158

--S 159 of 504
d0130:= D(m0130,x)

--R (111) 0
--R Type: Expression(Integer)
--E 159

--S 160 of 504
t0131:= 1/(ata*cos(c+d*x)) "~ (1/2)

--R \la cos(d x + ¢c) + a
--R Type: Expression(Integer)
--E 160

--S 161 of 504

r0131:= 2*atanh(sin(1/2*c+1/2*d*x))*cos(1/2*c+1/2*d*x)/d/_
(ata*cos(c+d*x)) "~ (1/2)

--R

--R

54



--R d\la cos(d x + ¢c) + a
--R Type: Expression(Integer)

--S 162 of 504
a0131:= integrate(t0131,x)

R (114)

--R [

--R +-+
--R 12

--R \la

--R log

--R B + 2
--R 2sin(d x + ¢) |- \la cos(d x + c) +a - cos(d x + ¢)
--R \la

--R 2cos(d x + ¢c) + 3

--R 2
--R cos(d x + ¢) + 2cos(dx+c) +1

--R 2d

--R +-+
--R |2

--R \la

--R log
--R 2
--R cos(d x + ¢) + 2cos(d x+c) +1

--R +-+

--R 12+ + 2
--R 2sin(d x + ¢) |- \la cos(d x + ¢c) + a + cos(d x + c)
--R \la

--R +

--R - 2cos(d x + ¢c) - 3
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--R 2d

--R Type: Union(List(Expression(Integer)),...)
--E 162

--S 163 of 504
m013la:= a0131.1-r0131

--R  (115)

--R |- \la cos(d x + c) + a
--R \la

--R log

--R +—+

--R B + 2
--R 2sin(d x + ¢) |- \la cos(d x + ¢) +a - cos(d x + c)
--R \la

__R +

--R 2cos(d x + ¢c) + 3

--R 2
--R cos(d x + c) + 2cos(dx +c) +1

--R dx+c dx+c

--R 2d\la cos(d x + ¢c) + a
--R Type: Expression(Integer)
--E 163

--S 164 of 504
d0131a:= D(m0131a,x)

--R (116)
--R dx+c dx+c?2 dx+c 2
--R (2cos (-——=---- )sin(——---—- ) - 2cos(———---- ))sin(d x + c)

R dx +c
R (2cos(d x + ¢) + 2)sin(------- )

o6



sin(d x + ¢)
+—4+
12 dx+c

|- atanh(sin(------- ))
\la 2

(- 2cos(d x + ¢) - 2)sin(-————— )

dx +c2 dx+c?2
(- 2cos(--—---- ) + 2)cos(d x + ¢) - 2cos(~-—-—----- )y + 2

=+

|2

sin(d x + ¢) |-
\la

\la cos(d x + ¢c) + a

dx+c 2 dx+c
- cos(-———--- dcos(d x + ¢) + 2cos(——————- Ycos(d x + ¢)

dx+c 2 dx+c
cos(———---- Jcos(d x + ¢) - 2cos(-——----- Jcos(d x + c)

sin(d x + c)

3 2 dx+c3
(cos(d x + ¢c) - cos(d x +c) - 5cos(d x + ¢) - 3)sin(--———-- )

o7



+
3 2 dx+c
(- cos(dx +c) + cos(dx+c) + 5cos(d x + c) + 3)sin(-———---- )
2
*
dx+c
atanh(sin(------- ))
2
+
dx+c?2 2
((- 3cos(d x + ¢) - 3)sin(———--- ) + 3cos(d x + ¢) + 3)sin(d x + ¢)
2
+
3 2 dx+c?2
(- 2cos(d x + ¢) - 4cos(d x + ¢) - 2cos(d x + c))sin(----—-—-- )
2
+
dx +c 2 3 dx +c 2 2
(cos(————--- ) + 2)cos(d x + ¢c) + (- cos(———--—- ) + 4)cos(d x + ¢)
2 2
+
dx+c?2 dx+c?2
(- 5cos(-———--- ) + 2)cos(d x + ¢) - 3cos(——----- )
2 2
3 2 dx+c?2
(cos(d x + c) - cos(d x +c) - 5bcos(d x + ¢) - 3)sin(————--- )
2
+
3 2
- cos(dx+c) +cos(dx+c) +5cos(dx+c)+ 3
*
e +
\la cos(d x + ¢c) + a
+
2 dx+c?2
(- 2a cos(d x + ¢) - 4a cos(d x + ¢) - 2a)sin(-——---- )
2
+
2
2a cos(d x + ¢) + 4a cos(d x + c) + 2a
*
+—+
|2
sin(d x + ¢) |-
\la
Type: Expression(Integer)
165 of 504

o8



m0131b:= a0131.2-r0131

--R (117

--R |- \la cos(d x + ¢c) + a

--R \la

--R log

--R 2

--R cos(d x + ¢c) + 2cos(dx+c) +1
--R +—+

--R 2sin(d x + ¢) |- \la cos(d x + c) + a + cos
--R \la

--R - 2cos(d x +¢c) - 3

--R dx+c dx+c

--R 2d\|la cos(d x + ¢c) + a

(dx + ¢)

2

--R Type: Expression(Integer)

--E 165
--S 166 of 504
d0131b:= D(m0131b,x)

--R (118)
--R dx+c d x

--R sin(d x + ¢)

--R 2
--R (4cos(d x + c) - 8cos(d x + c) - 12)sin(
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(- 4cos(d x + ¢)

sin(d x + ¢)
+—+
12 dx+c
|- atanh(sin(------- )
\la 2

dx +c 2
(- 6sin(-----—-—- ) o+

(- 2cos(d x + ¢)

(- 8cos(-———-—-- )

sin(d x + ¢)

2
sin(d x + ¢)

+ 8cos(d x + ¢) + 12)sin(-—-----

3
6)sin(d x + c¢)

2 dx+c
- 8cos(d x + ¢) - 6)sin(-———--- )

2
+ 2)cos(d x + )

+ c 2 dx + c
---) + 8cos(-———---- ))sin(d x + ¢)

60

3



+
dx+c 3 dx+c 2
- cos(———---- Jcos(d x + ¢) + becos(————--- Jcos(d x + ¢)
2 2
+
dx+c dx+c
- 3cos(-——----- Jcos(d x + ¢) - 9cos(-—----- )
2 2
*
dx+c?2
sin(-——----- )
2
+
dx+c 3 dx+c
cos(———---- Jcos(d x + ¢) - bcos(——--—--- Jcos(d x + c)
2 2
+
dx+c dx+c
3cos(————--- Jcos(d x + ¢) + 9cos(———--—- )
2 2
*
sin(d x + ¢)
+
4 3 2
cos(d x + ¢) - 4cos(d x + ¢c) - 2cos(d x + c) + 12cos(d x + c)
+
9
*
dx+c3
sin(------- )
2
+
4 3 2
- cos(d x + c) + 4cos(d x + c) + 2cos(d x + ¢)
+
- 12cos(d x + ¢c) - 9
*
dx+c
sin(------- )
2
dx+c
atanh(sin(------- ))
2
2 dx+c2
(- 3cos(d x + ¢c) + 1l4cos(d x + ¢) + 17)sin(-————-- )
2
+
2 dx+c2 dx+c?2
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--R 3cos(d x + ¢) + (8cos(-—----- ) - 14)cos(d x + c) + 8cos(-—----- )

--R 2
--R sin(d x + ¢)

--R 4 3 2
--R (- 2cos(d x + ¢) + 2cos(d x + ¢c) + 10cos(d x + ¢c) + 6cos(d x + ¢))

--R dx+c?2 4 dx+c?2 3
--R (cos(=—=---- ) + 2)cos(d x + ¢) + (- 4cos(————--——- ) - 2)cos(d x + ¢)

--R dx+c?2 2 dx +c 2
--R (- 2cos(-—=————- ) - 10)cos(d x + ¢) + (12cos(-——----—- ) - 6)cos(d x + ¢)

--R dx+c2 2
--R ((8cos(d x + ¢) + 8)sin(-———-—-—-——- ) - 8cos(d x + ¢c) - 8)sin(d x + ¢)

--R 4 3 2
--R cos(d x + ¢) - 4cos(d x + ¢) - 2cos(d x + ¢c) + 12cos(d x + ¢)

--R 4 3 2

--R - cos(d x + c) + 4cos(d x + c) + 2cos(d x +c) - 12cos(d x +c) - 9

--R \la cos(d x + c) + a

--R 3 2
--R (4a cos(d x + ¢c) - 4a cos(d x + ¢c) - 20a cos(d x + c) - 12a)

--R dx+c?2
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3 2
- 4a cos(d x + ¢c) + 4a cos(d x + c) + 20a cos(d x + ¢c) + 12a

+—+
12
sin(d x + ¢) |-
\la
Type: Expression(Integer)

--E 166

--S 167 of 504
t0132:= 1/(ata*cos(c+d*x)) "~ (3/2)

(a cos(dx +c) +a)\lacos(dx+c) +a
Type: Expression(Integer)

--E 167

--S 168 of 504
r0132:= 1/2*atanh(sin(1/2%c+1/2%d*x))*_

cos(1/2*c+1/2*d*x) /a/d/ (a+a*cos(c+d*x)) "~ (1/2)+_
1/2*sin(c+d*x) /d/ (a+a*cos (c+d*x) )~ (3/2)

(120)
dx +c dx+c dx+c

(2a d cos(d x + ¢c) + 2a d)\la cos(d x + ¢c) + a
Type: Expression(Integer)

--E 168

--S 169 of 504
a0132:= integrate(t0132,x)

(121)
[
2 +——+
(cos(d x + ¢) + 2cos(d x + c) + 1)\|2a

log

63



--R ot + 2
--R 2sin(d x + ¢c)\|2a \|la cos(d x + c) +a - a cos(d x + c)

--R 2a cos(d x + c) + 3a

--R 2

--R cos(d x + ¢) + 2cos(d x + c) + 1
--R 4sin(d x + c)\la cos(d x + ¢) + a

--R 2 2 2 2

--R 8a d cos(d x + c) + 16a d cos(d x + ¢c) + 8a d

--R 2 dm———
--R (- cos(d x +c) -2co0s(dx +c) - 1\|-2a

--R sin(d x + c)\|- 2a \la cos(d x + ¢c) + a
--R atan(---- -— -— )

--R 2sin(d x + c)\la cos(d x + ¢c) + a

--R 2 2 2 2
--R 4a d cos(d x + c) +8adcos(dx+c) +4ad

--R Type: Union(List(Expression(Integer)),...)
--E 169

--S 170 of 504
m0132a:= a0132.1-r0132

--R (122)

--R log
--R ot Ao + 2
--R 2sin(d x + c)\l2a \la cos(d x + c) + a - a cos(d x + c)

--R 2a cos(d x + c) + 3a

--R 2
--R cos(d x + ¢) + 2cos(d x+c) +1

--R dx +c dx+c
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--R 8a d\|a cos(d
--E 170
--S 171 of 504

d0132a:= D(m0132a,x)

--R  (123)

x+c) +a

(2cos(d x + c)

--R sin(d x + ¢)

--R +-—+

d x +

--R \|2a atanh(sin(------

+-—+

dx +c

Type: Expression(Integer)

2

—————— ) - 2cos(-——-----))sin(d x + ¢)

dx+c
+ 2)sin(-------

C

Jcos(d x + ¢)
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+ 2a cos(

dx +c

Jcos(d x + ¢)



2
*
dx+c?2
sin(-——---- )
2
+
dx+c 2 dx+c
a cos(-——---- Jcos(d x + ¢) - 2a cos(-—-—-——-- Jcos(d x + ¢)
2 2
+
dx+c
- 3a cos(-—----- )
2
*
sin(d x + ¢)
+
3 2
(acos(dx+c) -acos(dx+c) - 5acos(dzx+c)- 3a)
*
dx+c3
sin(------- )
2
+
3 2
(-acos(dx+c) +acos(dx+c) + 5acos(dx+c)+ 3a)
*
dx+c
sin(-——----- )
2
dx+c
atanh(sin(----—-- ))
2
dx+c2
((- 3a cos(d x + ¢) - 3a)sin(------- ) + 3a cos(d x + c) + 3a)
2
2
sin(d x + c)
3 2 dx+c2
(- 2a cos(d x + ¢c) - 4a cos(d x + ¢c) - 2a cos(d x + ¢))sin(-—----- )
2
dx+c2 3
(a cos(———--—- ) + 2a)cos(d x + c)
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(-5

\

dx+c?2 2

cos(———---- ) + 4a)cos(d x + c)
2
dx+c?2 dx+c?2
a cos(-—----- ) + 2a)cos(d x + ¢) - 3a cos(————--- )
2 2
2 3 2 2 2 2
(4a cos(d x + ¢c) - 4a cos(d x + ¢) - 20a cos(d x + c) - 12a )
dx+c?2
sin(------- )
2
2 3 2 2 2 2
- 4a cos(d x + ¢c) + 4a cos(d x + c) + 20a cos(d x + ¢c) + 12a
__________________ +
acos(dx+c) +a
2 2 2 2 dx+c2
(- 8a cos(d x + ¢c) - 16a cos(d x + c) - 8a )sin(-——-—----—- )
2
2 2 2 2

8a cos(d x + c) + 16a cos(d x + c) + 8a

+——+

sin(d x + c)\|2a

--E 171

--S 172 of 504
m0132b:= a0132.2-r0132

(124)

- 2a

Type: Expression(Integer)

atan(-------------—-- - -)
2a cos(d x + ¢c) + 2a

dx+c dx+c

67



--R 4a d\la cos(d x + c) + a

--R Type: Expression(Integer)
--E 172

--S 173 of 504

d0132b:= D(m0132b,x)

--R (125)
--R dx+c dx+c?2 dx+c 3
--R (- cos(------- )sin(------- ) + cos(------- ))sin(d x + ¢)

R dx +c
R (- cos(d x + ¢) - 1)sin(----—--- )

--R 2

--R sin(d x + ¢)

--R dx +c dx+c dx+c?2
--R (2cos (-——-—-—- Jcos(d x + ¢) + 2cos(-—----- ))sin(-—----- )
--R dx +c dx +c

--R sin(d x + c)

--R 2 dx+c3

--R (- 2cos(d x + ¢) - 4cos(d x + ¢) - 2)sin(————-——- )

--R 2 dx+c

--R (2cos(d x + ¢) + 4cos(d x + c) + 2)sin(——-—---- )

--R atanh(sin(------- ))

--R (- cos(d x + ¢) - 1)sin(———--——- ) + (cos(———---- ) + 1)cos(d x + c)



sin(d x + c)

3

--R (- 2cos(d x + ¢c) -

3

--R 2cos(d x + ¢c) + (-

--E 173

2
sin(d x + ¢)

(- 8a cos(d x + ¢)

2

2 2
1
2 dx+c?2
4cos(d x + ¢) - 2cos(d x + ¢))sin(————--- )
2
dx +c 2 2
2cos (-==---- ) + 4)cos(d x + ¢)
2
dx +c 2
2)cos(d x + ¢) - 2cos(——————- )
2
dx+c?2
) + 4a)sin(——---——- ) - 4a cos(d x + c) - 4a)
2 dx+c?2
- 16a cos(d x + ¢) - 8a)sin(-——----- )
2

8a cos(d x + ¢c) + 16a cos(d x + ¢c) + 8a

--S 174 of 504
t0133:= 1/(ata*cos(c+d*x)) "~ (5/2)

Type: Expression(Integer)

(a cos(d x + ¢©)

+ 2a cos(d x + c) + a)\lacos(dx+c) + a

69
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--S 175 of 504

r0133:= 3/16*atanh(sin(1/2xc+1/2*d*x))*cos(1/2xc+1/2*d*x)/a~2/d/_
(at+axcos(c+d*x)) ~(1/2)+1/4*sin(c+d*x)/d/_
(a+a*cos(c+d*x)) ~(5/2)+3/16*sin(c+d*x) /a/d/ (a+a*xcos (c+d*x)) ~(3/2)

--R (127)
--R dx +c 2 dx+c
--R 3cos(-——---- Jcos(d x + ¢) + 6cos(-——----- Jcos(d x + c¢)

--R atanh(sin(--————-- ))

--R (3cos(d x + ¢) + 7)sin(d x + c)

--R 2 2 2 2 Ao +
--R (16a d cos(d x + ¢) + 32a d cos(d x + c) + 16a d)\la cos(d x + c) + a
--R Type: Expression(Integer)
--E 175

--S 176 of 504

a0133:= integrate(t0133,x)

--R  (128)

-k [

--R 3 2 vt
--R (3cos(d x + c) + 9cos(d x + c) + 9cos(d x + c) + 3)\|2a

--R log

--R B i + 2
--R 2sin(d x + ¢c)\|2a \|la cos(d x + c) +a - a cos(d x + ¢)
--R 2a cos(d x + c) + 3a

--R 2

--R cos(d x + ¢) + 2cos(d x +c) + 1

--R (12cos(d x + c) + 28)sin(d x + c)\la cos(d x + ¢c) + a

--R 3 3 3 2 3 3
--R 64a d cos(d x + c) + 192a d cos(d x + ¢) + 192a d cos(d x + ¢c) + 64a d
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--R 3 2 +-———+
--R (- 3cos(d x + c) - 9cos(d x +c) - 9cos(d x +c) - 3)\|- 2a

--R sin(d x + c)\|- 2a \la cos(d x + ¢c) + a
--R atan(---- R e e e e )

--R (6cos(d x + c) + 14)sin(d x + c)\|la cos(d x + c) + a

--R 3 3 3 2 3 3
--R 32a d cos(d x +c) + 9a d cos(d x+c) + 96adcos(dx+c) + 32ad

--R Type: Union(List(Expression(Integer)),...)
--E 176

--S 177 of 504
m0133a:= a0133.1-r0133

--R  (129)

--R log
--R B i + 2
--R 2sin(d x + c)\|2a \|la cos(d x + c) +a - a cos(d x + c)

--R 2a cos(d x + c) + 3a

--R 2
--R cos(d x + ¢c) + 2cos(dx+c) +1

--R dx+c dx +c
--R - 12a cos(-———--- Jatanh(sin(-—----- ))

--R 64a d\la cos(d x + ¢c) + a

--R Type: Expression(Integer)
--E 177

--S 178 of 504

d0133a:= D(m0133a,x)

--R  (130)
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(6cos(d x + c¢)

sin(d x + ¢)

+——+ d x +
\l2a atanh(sin(-----

(- 6cos(d x + ¢c) -

dx+c?2
(- 6cos(-——-——- )

==t
sin(d x + c)\|2a

d x +

dx +c

dx+c
3a cos(-—----- Jcos

dx +c

dx+c?2 dx +c 2

——————— ) - 6cos(-—-—---))sin(d x + ¢)
2 2
dx+c3
c) - 6)sin(-——---- )
2
dx+c
+ 6)sin(------- )
2
c
--))
dx+c?2
6)sin(------- )
2
dx+c2
+ 6)cos(d x + c) - 6cos(————-—- ) + 6
2
c 2 dx+c
--)cos(d x + ¢) + 6a cos(------- Jcos(d x + c)
2
)
2 dx+c
(d x+c) - 6acos(-———---- Jcos(d x + c)
2
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*
sin(d x + ¢)
+
3 2
(3a cos(d x + c) -3acos(dx+c) - 15a cos(d x + c) - 9a)
*
dx+c3
sin(------- )
2
+
3 2
(- 3a cos(d x +c) + 3acos(d x +c) + 1ba cos(d x + c) + 9a)
*
dx+c
sin(------- )
2
*
dx+c
atanh(sin(---—--- ))
2
+
dx+c?2
((- 9a cos(d x + ¢) - 9a)sin(-——----- ) + 9a cos(d x + c) + 9a)
2
*
2
sin(d x + ¢)
+
3 2 dx+c2
(- 6a cos(d x + ¢c) - 12a cos(d x + ¢) - 6a cos(d x + ¢))sin(-——-—-- )
2
+
dx+c?2 3
(3a cos(-—————- ) + 6a)cos(d x + c)
2
+
dx+c?2 2
(- 3a cos(-———--- ) + 12a)cos(d x + c)
2
+
dx+c?2 dx+c?2
(- 15a cos(--—---- ) + 6a)cos(d x + ¢) - 9a cos(-——---- )
2 2
3 3 3 2 3 3
(32a cos(d x + ¢) - 32a cos(d x + c) - 160a cos(d x + ¢c) - 96a )
*
dx+c2
sin(-—----- )
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--R 3
--R - 32a cos(d x +

3
c)

--R \la cos(d x + ¢c) + a

--R 3

2

--R (- 64a cos(d x + ¢)

--R 3
--R 64a cos(d x + ¢

--R +——+
--R sin(d x + c)\|2a

--E 178
--S 179 of 504

m0133b:= a0133.2-r0133

--R (131)

2

3

+ 32a cos(d x + c¢)

- 128a cos(d x + c) - 64a )sin(

3

3

2

3

) + 128a cos(d x + c) + 64a

3

3

+ 160a cos(d x + c) + 96a

Type: Expression(Integer)

--R sin(d x + ¢)\|- 2a \|la cos(d x + ¢) + a

--R atan(---

--R dx+c

--R 32a d\la cos(d x + c)
--E 179
--S 180 of 504

d0133b:= D(m0133b,x)

--R  (132)
--R dx +c
--R (- 3cos(—————-—-

2a cos(d x + c) + 2a

+ a

dx+c

-)

Type: Expression(Integer)

dx+c

))sin(d x + c)

3



+
dx+c3
(3cos(d x + ¢) + 3)sin(-----—- )
2
"
dx +c
(- 3cos(d x + ¢) - 3)sin(-———-—— )
2
*
2
sin(d x + ¢)
+
dx+c dx+c d
(6cos (--—---- Ycos(d x + c) + 6cos(——————- Y)sin(-
2 2
+
dx+c dx+c
- 6cos(------- Jcos(d x + ¢) - 6cos(-———--- )
2 2
*
sin(d x + ¢)
+
2 dx+c3
(- 6cos(d x + ¢) - 12cos(d x + ¢) - 6)sin(-——---- )
2
+
2 dx +c
(Bcos(d x + ¢) + 12cos(d x + ¢) + 6)sin(-----—- )
2
dx+c
atanh(sin(------- )
2
dx+c?2 dx+c?2
(- 3cos(d x + ¢) - 3)sin(-——---- )+ (3cos(—————— )
2 2
+
dx +c?2
3cos(————--——- ) +3
2
2
sin(d x + ¢)
3 2
(- 6cos(d x + ¢) - 12cos(d x + ¢c) - 6cos(d x + c))sin(

()

+ 3)cos(d x + ¢)



--R 3 dx+c?2 2

--R 2 2 dx+c?2 2 2

--R 2
--R sin(d x + c)

--R 2 2 2 2 dx+c?2

--R (- 64a cos(d x + ¢) - 128a cos(d x + c) - 64a )sin(-———--- )

--R 2 2 2 2
--R 64a cos(d x + c) + 128a cos(d x + c) + 64a

--R \la cos(d x + ¢c) + a
--R Type: Expression(Integer)
--E 180

--S 181 of 504
t0134:= 1/(a-a*cos(c+d*x))~(3/2)

--R (133) - --- e

--R (a cos(d x +c) —a)\l-acos(dx+c) +a
--R Type: Expression(Integer)
--E 181

--S 182 of 504
r0134:= -1/2*atanh(cos(1/2%c+1/2%d*x))*sin(1/2%c+1/2%d*x) /a/d/_
(a—a*cos(c+d*x)) ~(1/2)-1/2*sin(c+d*x)/d/ (a-a*cos (c+d*x) )~ (3/2)

--R dx+c dx +c

-k (134) -- - - - -

--R (2a d cos(d x + ¢c) - 2a d)\|- acos(d x +c) +a
--R Type: Expression(Integer)
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--E 182

--S 183 of 504
a0134:= integrate(t0134,x)

--R  (135)

--R [

--R +——+
--R (cos(d x + c) - D\|2a

--R 2\|2a \la cos(d x + ¢c) +a - a cos(d x + c) - 3a
--R log(—---- e )
--R cos(d x +c) -1

--R 4\|a cos(d x + c) + a

--R 2 2
--R 8a d cos(dx +c) -8ad

--R +e——=t \l- 2a \|la cos(d x + ¢c) + a
--R (cos(@ x + ¢) - 1)\|- 2a atan(---- ————————————————— )
--R 2a

--R 2\|la cos(d x + ¢c) + a

--R 2 2
--R 4a d cos(d x + c) - 4a d

--R Type: Union(List(Expression(Integer)),...

--E 183
--S 184 of 504

m0134a:= a0134.1-r0134

--R  (136)

--R 2\|2a \la cos(d x + ¢c) +a - a cos(d x + c) - 3a

--R T Y G SR )
--R cos(d x +c) - 1

7



--R 4\|- a cos(d x +c) + a \lacos(d x+c) + a
--R dx+c dx+c

--R (4a cos(d x + ¢c) - 4a)sin(-———--- Yatanh(cos(-——----

--R 2 I +
--R (8a d cos(d x + ¢c) - 8a d)\|- a cos(d x +c) + a

)) - 4a sin(d x + c)

--R Type: Expression(Integer)

--E 184

--S 185 of 504
d0134a:= D(m0134a,x)
--R (137)

--R ((- 4cos(-———--- ) + 4)cos(d x + c) - 12cos(-

--R sin(d x + ¢)\|- a cos(d x + c) + a

--R dx+c2 2
--R ((2cos(-===———- ) - 2)cos(d x + ¢c) - 2cos

--R dx+c

--R +——+ dx+c
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+
dx+c2 dx+c2
((- 6cos(-—-——-- ) + 6)cos(d x + ¢c) - 6cos(-——--—-- ) + 6)
2 2
*
2
sin(d x + c)
+
3 2
(2cos(d x + ¢c) - 2cos(d x + c) - 2cos(d x + c) + 2)
*
dx+c?2
sin(-——---- )
2
+
dx+c?2 3
(- 4cos(-———-—-—- ) + 4)cos(d x + c)
2
+
dx+c?2
(4cos(————--- ) - 4)cos(d x + ¢)
2
*
+——+
\l2a
- +
\la cos(d x + ¢c) + a
dx+c?2 dx+c?2
((8cos(———=———- ) - 8)cos(d x + c) + 8cos(———---- ) - 8)sin(d x + ¢)
2 2
B i +
\l2a \|- a cos(d x + c) + a
dx+c2 3
(- a cos(-————-- ) + a)cos(d x + ¢)
2
+
dx +c?2 2
(- 3a cos(-—--—--- ) + 3a)cos(d x + ¢)
2
+
dx+c?2 dx+c?2
(a cos(——————- ) - a)cos(d x + ¢) + 3a cos(-———----- ) - 3a
2 2
*
dx+c
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2
+
dx+c3 dx+c 4
(- a cos(——————- ) + a cos(———---- ))cos(d x c)
2 2
+
dx+c3 dx+c 3
(- 2a cos(-—-——-—-- ) + 2a cos(-——----- ))cos(d x + ¢)
2 2
+
dx+c3 dx+c 2
(4a cos(------- ) - 4a cos(-—----- )cos(d x + ¢)
2 2
+
dx+c3 dx+c dx+c3
(2a cos(-——-—---—- ) - 2a cos(-——----- ))cos(d x c) - 3a cos(———----- )
2 2 2
+
dx+c
3a cos(--——--- )
2
dx+c
atanh(cos(-—----- ))
2
dx+c2 2
(3a cos(-————-—- ) - 3a)cos(d x + c)
2
+
dx+c?2 dx+c 2
(12a cos(-—-----—- ) - 12a)cos(d x + c) + 9a cos(-——----—- ) - 9a
2 2
2
sin(d x + ¢)
4 3 2
-acos(dx+c) - 2acos(dx+c) + 4acos(dzx+ c)

2a cos(d x + c) - 3a

(2a cos(-—----- ) - 2a)cos(d x

4
+ c)
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--R dx+c?2 3
--R (6a cos(-———-——- ) - 6a)cos(d x + c)

--R dx +c2 2
--R (- 2a cos(-———---- ) + 2a)cos(d x + c)

--R (- 6a cos(————--- ) + 6a)cos(d x + c)

--R (- 8a cos(-———--- ) + 8a)cos(d x + c)

--R 2 dx +c?2 2 4
--R (- 4a cos(-—-—---- ) + 4a )cos(d x + c¢)

--R (16a cos(-——-———- ) - 16a )cos(d x + c)

--R (8a cos(-——---—- ) - 8a)cos(d x + c) - 12a cos(-———---—- ) + 12a

--R \l- acos(d x +c) +a
--R Type: Expression(Integer)
--E 185

--S 186 of 504
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m0134b:= a0134.2-r0134

--R (138)

--R 2\|- a cos(d x + ¢c) + a \la cos(d x + c) + a
--R dx+c dx+c

--R (2a cos(d x + ¢c) - 2a)sin(-———--- Yatanh(cos(———---- )) - 2a sin(d x + c)

--R 2 R e +
--R (4a d cos(d x + ¢) - 4a d)\|- a cos(d x + ¢c) + a

--R Type: Expression(Integer)
--E 186

--S 187 of 504
d0134b:= D(m0134b,x)

--R  (139)
--R dx+c?2 dx+c2
--R ((cos(-==---- ) - 1)cos(d x + ¢) - cos(——-—---- ) + 1)

--R dx +c

--R dx+c3 dx+c 2

--R (cos(————--- ) - cos(-———--- ))cos(d x + ¢)

--R dx+c3 dx+c dx+c3
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--R (cos(d x + ¢) - 2cos(d x + ¢) + 1)sin(-———---- )

--R dx +c 2 2 dx +c 2
--R (- 2cos(-=—==--- ) + 2)cos(d x + ¢) + (2cos(-—----- ) - 2)cos(d x + ¢)

--R \l- a cos(dx +c) +al\lacos(dx+c)+a
--R Type: Expression(Integer)
--E 187

--S 188 of 504
t0135:= 1/(a-a*cos(c+d*x)) ~(5/2)

--R  (140) -- -—- -—- -—- -——

-R 2 2 2 R +

--R (acos(dx+c) -2acos(dx+c)+a)l)\l-acos(dx+c)+a

--R Type: Expression(Integer)
--E 188

--S 189 of 504

r0135:= -3/16*atanh(cos(1/2*c+1/2*d*x))*sin(1/2*c+1/2*xd*x)/a~2/d/_
(a-axcos(c+d*x))~(1/2)-1/4*sin(c+d*x)/d/_
(a—a*cos(c+d*x)) ~(5/2)-3/16*sin(c+d*x)/a/d/ (a—a*cos (c+d*x)) ~(3/2)
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--R (141)
--R 2 dx+c dx+c
--R (- 3cos(d x + ¢) + 6cos(d x + ¢) - 3)sin(-—-—---- )atanh(cos(-——---- ))

--R (3cos(d x + ¢c) - 7)sin(d x + c¢)

--R 2 2 2 2 Ammmmmmmmmmmmmmeeeee
--R (16a d cos(d x + ¢) - 32ad cos(d x + c) + 16a d)\|- a cos(d x + ¢c) + a
--R Type: Expression(Integer)
--E 189

--S 190 of 504
a0135:= integrate(t0135,x)

--R (142)

--R I

--R 2 -t
--R (3cos(d x + ¢) - 6cos(d x + ¢) + 3)\|2a

--R 2\|2a \la cos(d x + ¢c) +a - a cos(d x + ¢c) - 3a
--R log(——--- ity )
--R cos(d x +c) -1

--R (12cos(d x + ¢) - 28)\]a cos(d x + c) + a
--R 3 2 3 3

--R 64a d cos(d x + c) - 128a d cos(d x + c) + 64a d

--R 2 R
--R (3cos(d x + ¢c) - 6cos(d x + c) + 3)\I|- 2a

--R \l- 2a \la cos(d x + ¢c) + a
-R atan(--—- - )

--R (6cos(d x + c) - 14)\]a cos(d x + ¢c) + a

--R 3 2 3 3
--R 32a d cos(d x + c) -64a d cos(d x + ¢c) + 32a d

--R Type: Union(List(Expression(Integer)),...)
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--E 190
--S 191 of 504
m0135a:= a0135.1-r0135

--R  (143)
--R 2 dmmt e +
--R (83cos(d x + c) - 6cos(d x +c) + 3)\|2a \|- a cos(d x +¢c) +a

--R 2\|2a \la cos(d x + ¢c) +a - a cos(d x + c) - 3a

--R (12cos(d x + ¢c) - 28)\|- a cos(d x + c) + a \la cos(d x + ¢c) + a
--R 2 dx +c

--R (12a cos(d x + ¢c) - 24a cos(d x + c) + 12a)sin(-——-—----- )

--R dx +c

--R atanh(cos(-——-——-- ))

--R (- 12a cos(d x + c) + 28a)sin(d x + c)

--R 3 2 3 I e
--R (64a d cos(d x + ¢) - 128a d cos(d x + ¢c) + 64a d)\|- a cos(d x + ¢c) + a
--R Type: Expression(Integer)
--E 191

--S 192 of 504

d0135a:= D(m0135a,x)

--R  (144)

--R dx+c?2 3
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2
+
dx+c?2 dx+c?2
(- 6cos(——————- ) + 6)cos(d x + ¢) + 6cos(——————- ) -6
2 2
*
dx+c
sin(-——---- )sin(d x + ¢)
2
+
dx+c3 dx+c 4
(6cos (-—-—-—- ) - 6cos(-——--—-- )cos(d x + ¢)
2 2
+
dx+c3 dx +c 3
(- 12cos(————--- ) + 12cos(———---- ))cos(d x + ¢)
2 2
+
dx+c3 dx+c dx+c3
(12cos (-===———- ) - 12cos(———----- ))cos(d x + ¢) - 6cos(————---
2 2 2
+
dx+c
6cos (———---- )
2
+--+ dx +c
\|2a atanh(cos(-——------ ))
2
dx+c?2 2
(- 18cos(-——-——-—- ) + 18)cos(d x + c)
2
+
dx+c?2 dx+c?2
(40cos (—-—---- ) - 40)cos(d x + c) + 58cos(-——-—--- ) - 58
2 2
*
2
sin(d x + c)
+
4 3
(6cos(d x + c) - 12cos(d x + c) + 12cos(d x + ¢c) - 6)
*
dx+c?2
sin(-——---- )
2
+
dx+c2 4
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(- 12cos(-—---

dx+c
(28cos (-——----

(12cos(-——----

(- 28cos(-----

==t
\l2a

\la cos(d x + ¢c) + a

dx +c 2
((- 64cos(———---- )

sin(d x + c)\|2a \|-

d x
(- 3a cos(----

(- 6a cos(----

d x +
(12a cos(-----

d x +
(6a cos(------

dx+c

--) + 12)cos(d x + c)

2 3
) - 28)cos(d x + c)

2 2
) - 12)cos(d x + c)

--) + 28)cos(d x + c)

+ 64)cos(d x + c) - 64cos(——----

acos(dx+c) +a

+ c 2 4
---) + 3a)cos(d x + c)

---) + 6a)cos(d x + ¢)

c 2 2
--) - 12a)cos(d x + c)

c 2
-) - 6a)cos(d x + ¢c) - 9a cos(

3 dx+ c
+ 3a cos(-———-—- Mcos(d x + ¢
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+
dx +c3 dx+c 4
(- 3a cos(-—----- ) + 3a cos(-—----- ))cos(d x + ¢)
2 2
+
dx+c3 dx+c 3
(18a cos(-—----- ) - 18a cos(-—----- ))cos(d x + c)
2 2
+
dx+c3 dx+c 2
(- 6a cos(--——--- ) + 6a cos(-——--——- ))cos(d x + ¢)
2 2
+
dx+c3 dx +c
(- 15a cos(-—----- ) + 1ba cos(------- ))cos(d x + c)
2 2
+
dx+c3 dx+c
9a cos(-—----- ) - 9a cos(-——----- )
2 2
dx+c
atanh(cos(-—----- ))
2
dx +c 2 3
(9a cos(-—----- ) - 9a)cos(d x + ¢)
2
+
dx+c?2 2
(7a cos(-——---- ) - T7a)cos(d x + ¢)
2
+
dx+c?2
(- 89a cos(-——--—-- ) + 89a)cos(d x + c) - 87a cos(
2
2

sin(d x + c)

5
- 3a cos(d x + ¢c) - 3a cos(d x + ¢)
"
2
- 6a cos(d x + ¢) - 15a cos(d x + ¢
dx+c?2
sin(------- )
2
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+ 18a cos(d x + c)

) + 9a



dx +c
(6a cos(-—-----

(4a cos(-—-----

d x
(- 48a cos(-——-—-

d x +
(- 4a cos(-—---

d x +
(42a cos(------

\l2a \|- a co

3
(- 32a cos(

2 5
) - 6a)cos(d x + c)

2 4
) - 4a)cos(d x + c)

+ c 2

---) + 48a)cos(d x + c)
c 2 2
--) + 4a)cos(d x + c)

c 2

-) - 42a)cos(d x + c)

s(dx + c) +a\la cos(d

dx+c?2 3
_______ ) + 32a )cos(d x

_______ ) + 32a )cos(d x

______ ) - 192a )cos(d x

_______ ) + 64a )cos(d x

89

3

+ c)
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--R \|- acos(d x+c) +a

--E 192

--S 193 of 504
m0135b:= a0135.2-r0135

--R  (145)

--R (8cos(d x + ¢)

2

Type: Expression(Integer)

--R (6cos(d x + ¢c) - 14)\|- a cos(d x + c) + a \|la cos(d x +c) + a

--R (6a cos(d x + ¢)

2

dx+c

- 12a cos(d x + ¢) + 6a)sin(-—----- )

--R (- 6a cos(d x + c) + 14a)sin(d x + c)

--R 3

--R (32a 4 cos(d x + c)

--E 193

--S 194 of 504
d0135b:= D(m0135b,x)

--R (146)

2

3

- 6cos(d x + c) + 3)\|- 2a \|- acos(d x+c) + a

dx+c

- 64a d cos(d x + ¢c) + 32a d)\|- a cos(d x + c) + a

Type: Expression(Integer)
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*
dx +c
sin(--——---- Ysin(d x + ¢)
2
+
dx+c3 dx+c 3
(3cos(—===--- ) - 3cos(-——----- ))cos(d x + c¢)
2 2
+
dx+c3 dx +c 2
(- 9cos(-—-—---- ) + 9cos(-—-—---- ))cos(d x + ¢)
2
+
dx+c3 dx+c dx+c3
(9cos (===---= ) - 9cos(-—————- ))cos(d x + ¢) - 3cos(------- )
2 2 2
+
dx+c
3cos(———---- )
2
*
dx+c
atanh(cos(-————-- ))
2
+
dx+c?2 dx+c2
((- 9cos(-——--—- ) + 9cos(d x + ¢) + 29cos(-——-——- ) - 29)
2 2
*
2
sin(d x + ¢)
+
3 2 dx+c2
(3cos(d x + ¢) - 9cos(d x + ¢) + 9cos(d x + ¢) - 3)sin(-—----- )
2
+
dx+c?2 3
(- 6cos(——————- ) + 6)cos(d x + c)
2
+
dx+c?2 2
(20cos (-=—=---- ) - 20)cos(d x + c)
2
+
dx +c?2
(- 14cos(-—----- ) + 14)cos(d x + ¢)
2
- +

\la cos(d x + ¢c) + a
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--R dx+c?2 tomm e +

--R 2 dx+c?2 2 2

--R \l- acos(dx+c)+allacos(dx+c)+a
--R Type: Expression(Integer)
--E 194

--S 195 of 504
t0136:= (b*cos(c+d*x)) "~ (1/2)

--R (147) \|b cos(d x + c)
--R Type: Expression(Integer)
--E 195

--S 196 of 504
r0136:= 2x*(b*cos(c+d*x)) " (1/2)*E11lipticE(1/2%c+1/2*d*x,2)/d/cos(c+d*x)~(1/2)

--R There are no library operations named EllipticE

--R Use HyperDoc Browse or issue

--R Jwhat op EllipticE

--R to learn if there is any operation containing " EllipticE " in
--R its name.

--R

--RDaly Bug

--R  Cannot find a definition or applicable library operation named
--R EllipticE with argument type(s)

--R Polynomial (Fraction(Integer))

--R Positivelnteger

--R

--R Perhaps you should use "Q@" to indicate the required return type,
--R or "$" to specify which version of the function you need.

--E 196
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--S 197 of 504
a0136:= integrate(t0136,x)

--R (148) | \lb cos(JH d + c) d%H

--R ++

--R Type: Union(Expression(Integer),...)
--E 197

--S 198 of 504
--m0136:= a0136-r0136
--E 198

--S 199 of 504
--d0136:= D(m0136,x)
--E 199

--S 200 of 504
t0137:= (b*cos(c+d*x))~(3/2)

--R (149) b cos(d x + c)\Ib cos(d x + ¢)
--R Type: Expression(Integer)
--E 200

--S 201 of 504
r0137:= 2/3%b"2*(cos(c+d*x) ~(1/2)*E1lipticF(1/2%c+1/2*d*x,2)+_
cos(c+d*x) *sin(c+d*x))/d/ (b*cos(c+d*x)) ~(1/2)

--R

--R  There are no library operations named EllipticF

--R Use HyperDoc Browse or issue

--R Jwhat op EllipticF

--R to learn if there is any operation containing " EllipticF " in
--R its name.

--R

--RDaly Bug

--R Cannot find a definition or applicable library operation named
--R EllipticF with argument type(s)

--R Polynomial (Fraction(Integer))

--R PositivelInteger

--R

--R Perhaps you should use "Q" to indicate the required return type,
--R or "$" to specify which version of the function you need.

--E 201

--S 202 of 504

a0137:= integrate(t0137,x)
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--R ++ e +

--R  (150) | b cos(4H d + c)\Ib cos(%H 4 + c) d}H

--R ++

--R Type: Union(Expression(Integer),...)
--E 202

--S 203 of 504
--m0137:= a0137-r0137
--E 203

--S 204 of 504
--d0137:= D(m0137,x)
--E 204

--S 205 of 504
£0138:= (b*cos(c+d*x)) "~ (5/2)

--R 2 2 dmmmmmmmmmeeee +
--R (151) b cos(d x + ¢) \|b cos(d x + ¢)

--R Type: Expression(Integer)
--E 205

--S 206 of 504
r0138:= 2/5*b~2* (b*cos(c+d*x)) ~(1/2)*(3*xE1lipticE(1/2*%c+1/2*d*x,2)+_
cos(c+d*x) " (3/2) *sin(c+d*x))/d/cos (c+d*x) ~(1/2)

--R

--R There are no library operations named EllipticE

--R Use HyperDoc Browse or issue

--R Jwhat op EllipticE

--R to learn if there is any operation containing " EllipticE " in
--R its name.

--R

--RDaly Bug

--R  Cannot find a definition or applicable library operation named
--R EllipticE with argument type(s)

--R Polynomial (Fraction(Integer))

--R Positivelnteger

--R

--R Perhaps you should use "Q" to indicate the required return type,
--R or "$" to specify which version of the function you need.

--E 206

--S 207 of 504

a0138:= integrate(t0138,x)
--R

--R
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--R X

--R ++ 2 2 Ammm—mmm oo +

--R  (152) | b cos(hHd + c) \Ib cos(4H d + c) dJ/H

--R ++

--R Type: Union(Expression(Integer),...)
--E 207

--S 208 of 504
--m0138:= a0138-r0138
--E 208

--S 209 of 504
--d0138:= D(m0138,x)
--E 209

--S 210 of 504
t0139:= 1/ (b*cos(c+d*x)) "~ (1/2)

--R \lb cos(d x + ¢)
--R Type: Expression(Integer)
--E 210

--S 211 of 504
r0139:= 2*cos(c+d*x) " (1/2)*E11lipticF (1/2*c+1/2*d*x,2)/d/ (bxcos (c+d*x)) "~ (1/2)

--R  There are no library operations named EllipticF

--R Use HyperDoc Browse or issue

--R Jwhat op EllipticF

--R to learn if there is any operation containing " EllipticF " in
--R its name.

--R

--RDaly Bug

--R Cannot find a definition or applicable library operation named
--R EllipticF with argument type(s)

--R Polynomial (Fraction(Integer))

--R PositivelInteger

--R

--R Perhaps you should use "Q" to indicate the required return type,
--R or "$" to specify which version of the function you need.

--E 211

--S 212 of 504

a0139:= integrate(t0139,x)

--R

--R

--R X

95



-—R  (164) | —mmmmmmm—mm————- d%H

--R \Ib cos(H d + c)
--R Type: Union(Expression(Integer),...)
--E 212

--S 213 of 504
--m0139:= a0139-r0139
--E 213

--S 214 of 504
--d0139:= D(m0139,x)
--E 214

--S 215 of 504
£0140:= 1/ (b*cos(c+d*x))~(3/2)

--R  (185) -- - - -

--R b cos(d x + c)\Ib cos(d x + ¢)
--R Type: Expression(Integer)
--E 215

--S 216 of 504
r0140:= -2/b*(cos(c+d*x)*E1lipticE(1/2*c+1/2%d*x,2)-_
sin(c+d*x)*cos (c+d*x)~(1/2))/d/cos(c+d*x) " (1/2)/(b*cos(c+d*x)) " (1/2)

--R

--R There are no library operations named EllipticE

--R Use HyperDoc Browse or issue

--R Jwhat op EllipticE

--R to learn if there is any operation containing " EllipticE " in
--R its name.

--R

--RDaly Bug

--R Cannot find a definition or applicable library operation named
--R EllipticE with argument type(s)

--R Polynomial (Fraction(Integer))

--R Positivelnteger

--R

--R Perhaps you should use "Q" to indicate the required return type,
--R or "$" to specify which version of the function you need.

--E 216

--S 217 of 504

a0140:= integrate(t0140,x)
--R

--R
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--R ++ 1

--R  (156) - - d%H

--R ++ e +

--R b cos(4H d + ¢c)\Ib cos(%H 4 + ¢)

--R Type: Union(Expression(Integer),...)
--E 217

--S 218 of 504
--m0140:= a0140-r0140
--E 218

--S 219 of 504
--d0140:= D(m0140,x)
--E 219

--8 220 of 504
t0141:= 1/ (b*cos(c+d*x)) "~ (5/2)

--R b cos(d x + ¢) \Ib cos(d x + ¢)
--R Type: Expression(Integer)
--E 220

--S 221 of 504
r0141:= 2/3/b"2*(cos(c+d*x) ~(3/2)*E1lipticF(1/2%c+1/2*d*x,2)+_
sin(c+d*x))/d/cos (c+d*x) / (bxcos (c+d*x)) ~(1/2)

--R

--R There are no library operations named EllipticF

--R Use HyperDoc Browse or issue

--R Jwhat op EllipticF

--R to learn if there is any operation containing " EllipticF " in
--R its name.

--R

--RDaly Bug

--R  Cannot find a definition or applicable library operation named
--R EllipticF with argument type(s)

--R Polynomial (Fraction(Integer))

--R Positivelnteger

--R

--R Perhaps you should use "@" to indicate the required return type,
--R or "$" to specify which version of the function you need.

--E 221

--S 222 of 504

a0141:= integrate(t0141,x)

--R
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--R X

--R ++ 1

--R (158) | mmmmmmmmmmem e d%H
--R ++ 2 I +

--R b cos(4H d + ¢) \I|b cos(¥H d + c)

--R Type: Union(Expression(Integer),...)
--E 222

--S 223 of 504

--m0141:= a0141-r0141

--E 223

--S 224 of 504

--d0141:= D(m0141,x)

--E 224

--S 225 of 504

t0142:= x~2/(a+b*cos(x))

--R

--R

--R 2

--R X

--R  (159) ——————-——-——

--R b cos(x) + a

--R Type: Expression(Integer)
--E 225

--S 226 of 504

r0142:= - (%i*x"2*log((-a+(a~2-b"2) " (1/2)-bxexp(%hi*x))/(-a+(a~2-b"2)"(1/2)))-_
%hixx~2*xlog((a+(a~2-b~2) " (1/2) +b*exp (%ix*x))/(a+(a"2-b"2) " (1/2)))+_
2*xx*polylog(2,b*exp (%i*x)/(-a+(a"2-b"2)"(1/2)))-_
2xxxpolylog(2,-bxexp (%i*x)/(at+(a"2-b"2) " (1/2)))+_
2%%ixpolylog(3,bxexp(%i*x)/(-a+(a"2-b"2)"(1/2)))-_
2%%i*polylog(3,-bxexp(%i*x)/(a+(a~2-b"2)"(1/2))))/(a”2-b"2) " (1/2)

--R

--R There are no library operations named polylog

--R Use HyperDoc Browse or issue

--R )what op polylog

--R to learn if there is any operation containing " polylog " in its
--R name.

--R

--RDaly Bug

--R Cannot find a definition or applicable library operation named

--R polylog with argument type(s)

--R PositivelInteger

--R Expression(Complex(Integer))

--R

--R Perhaps you should use "@" to indicate the required return type,
--R or "$" to specify which version of the function you need.
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--E 226

--S 227 of 504
a0142:= integrate(t0142,x)

--R  (160) | = —mmmmmmm—mm avH

--R ++ b cos(JH) + a

--R Type: Union(Expression(Integer),...)
--E 227

--S 228 of 504
--m0142:= a0142-r0142
--E 228

--S 229 of 504
--d0142:= D(m0142,x)
--E 229

--S 230 of 504
t0143:= x~3/(atb*cos(x))

--R Type: Expression(Integer)

--S 231 of 504

r0143:= -(%i*x"3*log((-a+(a"2-b"2) " (1/2)-b*exp (%hi*x))/(-a+(a~2-b"2) " (1/2)))-_
%i*x~3%log((a+(a”2-b~2) " (1/2)+b*exp (%i*x))/(a+(a"2-b"2)"(1/2)))+_
3*x"2*polylog(2,b*exp(%i*x)/(-a+(a”2-b"2)"(1/2)))-_
3*x"2*xpolylog(2,-b*exp (%i*x)/(at+(a”2-b"2)"(1/2)))+_
6*%ixx*xpolylog(3,b*xexp(ix*x)/(~a+(a”2-b"2) " (1/2)))-_
6x%ixx*xpolylog(3,-b*xexp (%ix*x)/(at+(a"2-b~2)"(1/2)))-_
6*polylog(4,bxexp (hi*x)/(-a+(a”2-b"2)"(1/2)))+_
6*polylog(4,-b*exp(%i*x)/(a+(a~2-b~2)"(1/2))))/(a"2-b"2)"(1/2)

--R

--R There are no library operations named polylog

--R Use HyperDoc Browse or issue

--R )what op polylog

--R to learn if there is any operation containing " polylog " in its
--R name.

--R

--RDaly Bug

--R  Cannot find a definition or applicable library operation named
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--R polylog with argument type(s)
--R PositiveInteger
--R Expression(Complex(Integer))

--R Perhaps you should use "@" to indicate the required return type,
--R or "$" to specify which version of the function you need.

--E 231

--S 232 of 504
a0143:= integrate(t0143,x)

--R ++ b cos(JH) + a
--R Type: Union(Expression(Integer),...)

--S 233 of 504
--m0143:= a0143-r0143

--S 234 of 504
--d0143:= D(m0143,x)

--S 235 of 504
t0144:= x/(a-a*cos(x))

--R Type: Expression(Integer)

--S 236 of 504
r0144:= -x*cot(1/2*x)/a+2*log(sin(1/2*x))/a

--R X X
--R 2log(sin(-)) - x cot(-)

R (164) -- -—- -—-

--R Type: Expression(Integer)
--E 236

--S 237 of 504
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a0144:= integrate(t0144,x)

--R cos(x) + 1 cos(x) + 1

--R a sin(x)
--R Type: Union(Expression(Integer),...)

--S 238 of 504
m0144:= a0144-r0144

--R  (166)

--R sin(x) X 2

--R 2sin(x)log(--——------ ) - 2sin(x)log(sin(-)) - sin(x)log(---------- )
--R cos(x) + 1 2 cos(x) + 1

--R b4
--R x cot(-)sin(x) - x cos(x) - x
--R 2

--R a sin(x)
--R Type: Expression(Integer)
--E 238

--S 239 of 504
d0144:= D(m0144,x)

--R  (167)

--R X 3
--R 2sin(-)sin(x)
--R 2

--R x 2 X X
--R ((- x cos(x) - x)cot(-) + (2cos(x) + 2)cot(-) + x cos(x) + x)sin(-)
--R 2 2 2

--R b4 b4
--R - 2cos(-)cos(x) - 2cos(-)
--R 2 2

--R 2
--R sin(x)

--R 2 X 3 2 X
--R (2cos(x) - 2)sin(-)sin(x) + (2x cos(x) + 4x cos(x) + 2x cos(x))sin(-)
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--R X 2

--R (2a cos(x) + 2a)sin(-)sin(x)

--R 2

--R Type: Expression(Integer)
--E 239

--S 240 of 504
t0145:= x/(a+b*cos(x)) "2

R (168) -- e

--R 2 2 2

--R b cos(x) + 2a b cos(x) + a

--R Type: Expression(Integer)
--E 240

--S 241 of 504

r0145:= - i*a*x*log(1+b*exp (1)~ (Y%ix*x)/(a-(a"2-b"2)"(1/2)))/(a"2-b"2)"(3/2)+_
%hixaxx*xlog(1+b*exp (1)~ (%ixx)/(a+(a”2-b"2)"(1/2)))/(a"2-b"2)"(3/2)-_
log(at+b*cos(x))/(a"2-b"2)-_
a*polylog(2,-b*exp (1)~ (hi*x)/(a-(a~2-b~2)"(1/2)))/(a~2-b~2) "~ (3/2)+_
a*polylog(2,-b*exp (1)~ (%i*x)/(a+(a~2-b~2)"(1/2)))/(a~2-b~2) " (3/2)-_
b*x*sin(x)/(a~2-b~2)/(at+tb*cos(x))

--R

--R There are no library operations named polylog

--R Use HyperDoc Browse or issue

--R )Jwhat op polylog

--R to learn if there is any operation containing " polylog " in its
--R name.

--R

--RDaly Bug

--R Cannot find a definition or applicable library operation named

--R polylog with argument type(s)

--R PositivelInteger

--R Expression(Complex(Integer))

--R

--R Perhaps you should use "Q" to indicate the required return type,
--R or "$" to specify which version of the function you need.

--E 241

--S 242 of 504
a0145:= integrate(t0145,x)

--R ++ %H
--R  (169) | - -- d%H
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--R ++ 2 2 2
--R b cos(4H) + 2a b cos(JH) + a
--R Type: Union(Expression(Integer),...)

--S 243 of 504
--m0145:= a0145-r0145

--S 244 of 504
--d0145:= D(m0145,x)

--S 245 of 504
t0146:= x*(ata*xcos(c+d*x))~(1/2)

--R (170) =x\la cos(d x + c) + a
--R Type: Expression(Integer)
--E 245

--S 246 of 504
r0146:= 2%2~(1/2)* (a*xcos(1/2*c+1/2*d*x) ~2) " (1/2) *_
sec(1/2%c+1/2xd*x)* (2%cos (1/2%c+1/2%d*x) +d*x*sin(1/2%c+1/2*d*x))/d"~2

--R (171)
--R +-+ dx+c dx+c +-+ dx+c dx+c
--R (2d x\|2 sec(-——---- )sin(———----—- ) + 4\|2 cos(-———---- )sec(——————- ))

--R Type: Expression(Integer)
--E 246

--S 247 of 504

a0146:= integrate(t0146,x)

--R

--R

--RDaly Bug

--R >> Error detected within library code:

--R  integrate: implementation incomplete (constant residues)
--R
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--R Continuing to read the file...

--R

--E 247

--S 248 of 504

--m0146:= a0146-r0146

--E 248

--S 249 of 504

--d0146:= D(m0146,x)

--E 249

--S 250 of 504

t0147:= x"2*(a+a*cos(c+d*x)) " (1/2)
--R

--R

--R 2 e +
--R (172) x \la cos(d x + ¢c) + a
--R Type:
--E 250

--S 251 of 504

Expression(Integer)

r0147:= 2%2~(1/2)*(a*cos(1/2*c+1/2*d*x) ~2) ~(1/2) *sec(1/2%c+1/2*d*x) *_
(4xd*x*cos (1/2*c+1/2xd*x) - (8-d"2*x"2) *sin(1/2%c+1/2xd*x))/d 3

--R  (173)
--R 2 2 +-+ dx+c dx+c
--R (2d x - 16)\12 sec(———---- )sin(————--—- )

--R +-+ dx+c dx+c
--R 8d x\|2 cos(-—------ )sec(——————- )

--R Type:

--E 251

--S 2562 of 504

a0147:= integrate(t0147,x)
--R

--R

--RDaly Bug
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--R >> Error detected within library code:
--R  integrate: implementation incomplete (constant residues)

--R Continuing to read the file...
--E 252

--S 253 of 504
--m0147:= a0147-r0147
--E 253

--S 254 of 504
--d0147:= D(m0147,x)
--E 254

--S 255 of 504
t0148:= (a+a*cos(c+d*x)) ~(1/2)/x

--R Type: Expression(Integer)

--S 256 of 504
r0148:= 2~ (1/2)*(a*cos (1/2*c+1/2*d*x) ~2) ~(1/2) *sec(1/2*c+1/2*d*x) *_
(cos(1/2%c)*Ci(1/2*d*x)-sin(1/2%c)*Si(1/2*d*x))

--R  (175)

--R +-+ d x dx+c c +-+ d x c dx +c
--R (- \12 Si(---)sec(------- )sin(-) + \[2 Ci(---)cos(-)sec(-———--- )
--R 2 2 2 2 2 2

--R Type: Expression(Integer)

--S 257 of 504

a0148:= integrate(t0148,x)

--R

--R

--RDaly Bug

--R >> Error detected within library code:

--R  integrate: implementation incomplete (constant residues)
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--R Continuing to read the file...
--E 257

--S 258 of 504
--m0148:= a0148-r0148
--E 258

--S 259 of 504
--d0148:= D(m0148,x)
--E 259

--S 260 of 504
t0149:= (a+a*cos(c+d*x))~(1/2)/x"2

--R \la cos(d x + ¢c) + a
--R  (176) -- - -

--R Type: Expression(Integer)
--E 260

--S 261 of 504
r0149:= -1/2*(a*cos (1/2*c+1/2*d*x)~2) ~(1/2) *sec(1/2*c+1/2*d*x) *_

(2xcos (1/2*c+1/2%d*x) /x+d*Ci (1/2*d*x) *sin(1/2*c)+_
d*cos (1/2%c)*Si (1/2xd*x) ) %2~ (1/2)

--R  Q77)

--R +-+ d x dx+c [
--R - d x\|2 Ci(---)sec(-——---- )sin(-)
--R 2 2 2

--R +-+ dx+c +-+ d x c dx+c

--R 2 2 2 2

--R Type: Expression(Integer)
--E 261

--S 262 of 504
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a0149:= integrate(t0149,x)

--R
--R
--RDaly

Bug

--R >> Error detected within library code:
--R  integrate: implementation incomplete (constant residues)

--R Continuing to read the file...

--E 262

--S 263

--m0149:

--E 263
--S 264
--d0149
--E 264

--S 265

of 504

of 504
:= D(m0149,

of 504

= a0149-r0149

x)

t0150:= (a+a*cos(c+d*x))~(1/2)/x"3

--R (178) --

--E 265

--S 266

\la cos(d x + ¢c) + a

of 504

Type: Expression(Integer)

r0150:= -1/8%2"(1/2) *(a*cos (1/2*c+1/2*d*x) ~2) ~(1/2) *sec (1/2*c+1/2*d*x) *_
(4xcos (1/2*c+1/2%d*x) /x"2+d"2*cos (1/2*c) *Ci (1/2*d*x) - _
2%d*sin(1/2%c+1/2*d*x) /x-d"2*sin(1/2%c)*Si (1/2*d*x))

--R  (179)

+-+ dx+c

2d x\|

2 sec(-------

+-+ dx+c

A\

dx+c 2 2 +-+ d x dx +c
)sin(--—---- ) +d x \|2 Si(---)sec(-——----
2 2 2
2 2 +-+ d x c dx +c
) - d x \|2 Ci(-—=)cos(-))sec(-—————- )
2 2 2
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--R Type: Expression(Integer)

--S 267 of 504

a0150:= integrate(t0150,x)

--R

--R

--RDaly Bug

--R >> Error detected within library code:

--R  integrate: implementation incomplete (constant residues)

--R  Continuing to read the file...

--R

--E 267

--S 268 of 504

--m0150:= a0150-r0150

--E 268

--S 269 of 504

--d0150:= D(m0150,x)

--E 269

--S 270 of 504

t0151:= x*(a-a*cos(c+d*x))~(1/2)

--R

--R

--R . +
--R (180) x\|l- a cos(d x + c) + a
--R Type: Expression(Integer)
--E 270

--S 271 of 504

r0151:= -2%2~(1/2) *csc(1/2xc+1/2*d*x) * (d*x*cos (1/2*c+1/2*xd*x) -_
2%sin(1/2%c+1/2%d*x) ) * (a*sin(1/2%c+1/2%d*x) ~2) ~(1/2) /d"2

--R  (181)
--R +-+ dx+c dx+c +-+ dx+c dx+c
--R (4\12 csc(--—---- )sin(-=----- ) - 2d x\|2 cos(-——-—--- Yesc(—==————- )

108



--R d

--R Type: Expression(Integer)
--E 271

--S 272 of 504

a0151:= integrate(t0151,x)

--R

--R

--RDaly Bug

--R >> Error detected within library code:
--R  integrate: implementation incomplete (constant residues)

--R Continuing to read the file...
--E 272

--S 273 of 504
--m0151:= a0151-r0151
--E 273

--S 274 of 504
--d0151:= D(m0151,x)
--E 274

--S 275 of 504
t0152:= x"~2%(a—a*cos(c+d*x))~(1/2)

--R (182) x \|- acos(dx +c) + a
--R Type: Expression(Integer)
--E 275

--S 276 of 504

r0152:= 2*x27(1/2)*csc(1/2*c+1/2*d*x) * (8*cos (1/2*c+1/2*d*x) - _
d*x* (d*x*cos (1/2%c+1/2xd*x) -4*sin(1/2*c+1/2*d*x) ) ) *_
(a*sin(1/2%c+1/2*d*x)~2)~(1/2)/4"3

--R  (183)
--R +-+ dx+c dx+c
--R 8d x\|2 csc(—-—---- )sin(--—---- )

--R 22 +-+ dx+c dx+c
--R (-2d x + 16)\|2 cos(-——-—--- Yesc(===———-- )
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--R | dx+c?2

--R Type: Expression(Integer)
--E 276

--S 277 of 504

a0152:= integrate(t0152,x)

--R

--R

--RDaly Bug

--R >> Error detected within library code:

--R  integrate: implementation incomplete (constant residues)

--R  Continuing to read the file...
--E 277

--S 278 of 504

--m0152:= a0152-r0152

--E 278

--S 279 of 504

--d0152:= D(m0152,x)

--E 279

--S 280 of 504
t0153:= (a-a*cos(c+d*x)) ~(1/2)/x

--R \l- a cos(d x +c) +a
--R (184) -- --- ---

--R Type: Expression(Integer)
--E 280

--S 281 of 504
r0153:= 27 (1/2)*csc(1/2%c+1/2%d*x) * (a*sin(1/2xc+1/2%d*x) ~2) " (1/2) *_
(Ci(1/2*d*x)*sin(1/2*c)+cos(1/2*c)*Si(1/2*d*x))

--R (185)

--R +-+ d x dx+c c +-+ d x [ dx+c
--R (\12 Ci(---)csc(-———--- )sin(-) + \|2 Si(---)cos(-)csc(-———--- ))
--R 2 2 2 2 2 2
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--R Type: Expression(Integer)
--E 281

--S 282 of 504

a0153:= integrate(t0153,x)

--R

--R

--RDaly Bug

--R >> Error detected within library code:

--R  integrate: implementation incomplete (constant residues)

--R Continuing to read the file...
--E 282

--S 283 of 504
--m0153:= a0153-r0153
--E 283

--S 284 of 504
--d0153:= D(m0153,x)
--E 284

--S 285 of 504
t0154:= (a-a*cos(c+d*x)) "~ (1/2)/x"2

--R Type: Expression(Integer)

--S 286 of 504

r0154:= 1/2%csc(1/2*c+1/2%d*x)* (a*sin(1/2%c+1/2%d*x) ~2) " (1/2)*_
(d*cos (1/2*c)*Ci(1/2*d*x) -2*sin(1/2%c+1/2*d*x) /x—_
d*sin(1/2%c)*Si(1/2*d*x))*2"(1/2)

--R (187)

--R +-+ dx+c dx+c +-+ d x dx+c c
--R - 2\ |2 csc(-———--- )sin(-——----—- ) - d x\I2 Si(-—--)csc(-———--- )sin(-)
--R 2 2 2 2 2
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~R -+ dx c dx+c
—R d x\|2 Ci(---)cos(-)csc(------- )

--R Type: Expression(Integer)
--E 286

--S 287 of 504

a0154:= integrate(t0154,x)

--R

--R

--RDaly Bug

--R >> Error detected within library code:

--R  integrate: implementation incomplete (constant residues)

--R Continuing to read the file...
--E 287

--S 288 of 504

--m0154:= a0154-r0154

--E 288

--S 289 of 504

--d0154:= D(m0154,x)

--E 289

--S 290 of 504
t0155:= (a-a*cos(c+d*x))~(1/2)/x"3

--R + —+
--R \|- a cos(dx+c) +a

--R Type: Expression(Integer)

--S 291 of 504

r0155:= -1/8%2"(1/2) *csc(1/2*c+1/2*d*x) * (a*sin(1/2*c+1/2%d*x) ~2) ~(1/2) *_
(2xd*cos (1/2xc+1/2*d*x) /x+d"2*Ci(1/2*d*x) *sin(1/2%c)+_
4xsin(1/2%c+1/2xd*x) /x"2+d"2*cos (1/2%c) *Si (1/2*d*x))
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(189)
+-+ dx+c dx+c 2 2 +-+ d x dx+c c
- 4\ |2 csc(-———--- )sin(------- ) - d x \|2 Ci(-——-)csc(-——---- )sin(-)

+-+ dx +c 2 2 +-+ d x c dx+c

2 2 2 2

\ 2

8x
Type: Expression(Integer)

--E 291

--S 292 of 504
a0155:= integrate(t0155,x)

--R
--R

--RDaly Bug

>> Error detected within library code:
integrate: implementation incomplete (constant residues)

Continuing to read the file...

--E 292

--S 293 of 504
--m0155:= a0155-r0155
--E 293

--S 294 of 504
--d0155:= D(m0155,x)
--E 294

--S 295 of 504
£0156:= (1+cos(x)~2)"(1/2)

(190) \lcos(x) + 1
Type: Expression(Integer)

--E 295
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--S 296 of 504
r0156:= 27 (1/2)*EllipticE(x,1/2)

--R There are no library operations named EllipticE

--R Use HyperDoc Browse or issue

--R Jwhat op EllipticE

--R to learn if there is any operation containing " EllipticE " in
--R its name.

--RDaly Bug

--R Cannot find a definition or applicable library operation named
--R EllipticE with argument type(s)

--R Variable(x)

--R Fraction(Integer)

--R Perhaps you should use "Q" to indicate the required return type,
--R or "$" to specify which version of the function you need.
--E 296

--S 297 of 504
a0156:= integrate(t0156,x)

==k (191) | \lcos(4H) + 1 dJH

--R ++

--R Type: Union(Expression(Integer),...)
--E 297

--S 298 of 504
--m0156:= a0156-r0156
--E 298

--S 299 of 504
--d0156:= D(m0156,x)
--E 299

--S 300 of 504
t0157:= (-1-cos(x)"2)"(1/2)

--R (192) \|- cos(x) -1
--R Type: Expression(Integer)
--E 300

--S 301 of 504
r0157:= 27(1/2)*(-3-cos(2*x)) " (1/2)*EllipticE(x,1/2)/(3+cos(2*x)) "~ (1/2)
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--R  There are no library operations named EllipticE
--R Use HyperDoc Browse or issue
--R Jwhat op EllipticE

--R to learn if there is any operation containing " EllipticE " in

--R its name.

--RDaly Bug

--R  Cannot find a definition or applicable library operation named
--R EllipticE with argument type(s)

--R Variable(x)

--R Fraction(Integer)

--R Perhaps you should use "Q@" to indicate the required return type,

--R or "$" to specify which version of the function you need.
--E 301

--S 302 of 504
a0157:= integrate(t0157,x)

--R (193)

--R +-——4 2 ot
--R x\|- 1 x\[- 1
--R (2(%e ) - 2%e )

--R +—— —_— —_—

--R +——=+ 2 | +-——+ 4 +——=+ 2

--R x AEN|- 1 [ AH\I- 1 KENI- 1
--R ++  (4(%e )+ D\ (e )+ 6(%e )

--R | e
--R ++ +-——+ 6 +-——+ 4 +———+ 2

--R FHN[- 1 %H\I- 1 JH\[- 1
--R (%e ) + 6(%e )+ (Ye )

--R +-——+ | +-——+ 4 +-—=+ 2
--R x\[-1 I x\I-1 x\|- 1
--R Che + D\ e )+ 6(%e ) +1

--R +-——+ 2 ot
--R x\|- 1 x\[- 1
--R 2(%e ) - 2le

--R Type: Union(Expression(Integer),...)

--E 302
--S 303 of 504

--m0157:= a0157-r0157
--E 303
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--S 304 of 504
--d0157:= D(m0157,x)
--E 304

--S 305 of 504
t0158:= 1/(1+cos(x)~2)"(1/2)

--R \lcos(x) + 1
--R Type: Expression(Integer)
--E 305

--S 306 of 504
r0158:= 1/2*E1lipticF(x,1/2)*2~(1/2)

--R There are no library operations named EllipticF

--R Use HyperDoc Browse or issue

--R Jwhat op EllipticF

--R to learn if there is any operation containing " EllipticF " in
--R its name.

--RDaly Bug

--R  Cannot find a definition or applicable library operation named
--R EllipticF with argument type(s)

--R Variable(x)

--R Fraction(Integer)

--R Perhaps you should use "@" to indicate the required return type,
--R or "$" to specify which version of the function you need.
--E 306

--S 307 of 504
a0158:= integrate(t0158,x)

--R \lcos(}H) + 1
--R Type: Union(Expression(Integer),...)
--E 307

--S 308 of 504
--m0158:= a0158-r0158
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--E 308

--S 309 of 504
--d0158:= D(m0158,x)
--E 309

--S 310 of 504
£0159:= 1/(-1-cos(x)~2)"(1/2)

--R

--R 1

--R (196) --—————————————-

--R D +

--R | 2

--R \l- cos(x) -1

--R Type: Expression(Integer)
--E 310

--S 311 of 504

r0159:= 1/2%(3+cos(2%x)) ~(1/2)*EllipticF(x,1/2)*2"(1/2)/(-3-cos(2*x)) " (1/2)
--R

--R There are no library operations named EllipticF

--R Use HyperDoc Browse or issue

--R Jwhat op EllipticF

--R to learn if there is any operation containing " EllipticF " in
--R its name.

--R

--RDaly Bug

--R Cannot find a definition or applicable library operation named

--R EllipticF with argument type(s)

--R Variable(x)

--R Fraction(Integer)

--R

--R Perhaps you should use "Q" to indicate the required return type,
--R or "$" to specify which version of the function you need.

--E 311

--S 312 of 504
a0159:= integrate(t0159,x)

--R A:AY
--R (%e

+———+ 4

FH\|- 1

+-——+ 6

4o——t 2

FH\|- 1

+-——+ 4
AENI- 1 AENT- 1
+ 6(he )+ (Ye )
Type: Union(Expression(Integer),...)

+-——+ 2
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--S 313 of 504

--m0159:= a0159-r0159

--E 313

--S 314 of 504

--d0159:= D(m0159,x)

--E 314

--S 315 of 504

t0160:= x/(a+b*cos(x)~2)
--R

--R

--R X

--R (198) -————=———————-
--R 2

--R b cos(x) + a
--R Type: Expression(Integer)
--E 315

--S 316 of 504

r0160:= -1/4*(2*}i*x*x1log((-2*a-b+2*a”~ (1/2)*(atb) " (1/2)-bxexp(2*%i*x))/_
(-2xa-b+2*a”~ (1/2) *(a+b) ~(1/2)) ) -2x%i*xx1og((2*a+b+2*a~ (1/2)*_
(a+b) "~ (1/2) +bxexp (2+%ix*x) ) / (2*a+b+2%a” (1/2) * (a+b) ~(1/2) ) ) +_
polylog(2,bxexp(2*%i*x)/ (-2*%a-b+2*a” (1/2)*(a+b) ~(1/2)))-_
polylog(2,-b*exp (2*}i*x)/(2%a+b+2%a” (1/2)*_
(a+b)~(1/2))))/a~(1/2)/(at+b) " (1/2)

--R

--R  There are no library operations named polylog

--R Use HyperDoc Browse or issue

--R Jwhat op polylog

--R to learn if there is any operation containing " polylog " in its
--R name.

--R

--RDaly Bug

--R Cannot find a definition or applicable library operation named
--R polylog with argument type(s)

--R Positivelnteger

--R Expression(Complex(Integer))

--R

--R Perhaps you should use "Q@" to indicate the required return type,
--R or "$" to specify which version of the function you need.
--E 316

--S 317 of 504

a0160:= integrate(t0160,x)

--R

--R

--R X
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--R ++ %H

=R (199) | —mmmmmmmmmmm—- d%H

--R ++ 2

--R b cos(%H) + a

--R Type: Union(Expression(Integer),...)
--E 317

--S 318 of 504
--m0160:= a0160-r0160
--E 318

--S 319 of 504
--d0160:= D(m0160,x)
--E 319

--S 320 of 504
t0161:= x~2/(a+b*cos(x)"2)

--R b cos(x) + a
--R Type: Expression(Integer)
--E 320

--S 321 of 504

r0161:= -1/4%(2%}i*x"2x1log((-2*a-b+2*a”~ (1/2)*(atb) ~(1/2)-_
bxexp (2x%i*x))/(-2*a-b+2*a”~ (1/2)*(a+b) " (1/2)))-_
2%%ixx"2xLlog ((2*%a+b+2xa” (1/2) * (a+b) = (1/2) +bxexp (2%%ix*x) ) /_
(2xa+b+2*xa”~ (1/2)* (a+b) " (1/2)) ) +2*x*polylog(2,b*exp (2*}i*x) /_
(-2%a-b+2*a~ (1/2) *(a+b) ~(1/2) ) ) —2*x*_
polylog(2,-b¥exp (2*%i*x)/(2*a+b+2xa” (1/2)*(at+b) " (1/2)))+_
%i*xpolylog(3,b*exp (2x%i*x)/(-2*a-b+2*a”~ (1/2)*(at+tb) " (1/2)))-_
%ixpolylog(3,-b*exp(2x%ixx)/(2*at+tb+2*a” (1/2)*(at+b)~(1/2))))/_
a~(1/2)/(a+b)~(1/2)

--R

--R  There are no library operations named polylog

--R Use HyperDoc Browse or issue

--R Jwhat op polylog

--R to learn if there is any operation containing " polylog " in its
--R name.

--R

--RDaly Bug

--R Cannot find a definition or applicable library operation named
--R polylog with argument type(s)

--R Positivelnteger

--R Expression(Complex(Integer))

--R
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--R Perhaps you should use "Q" to indicate the required return type,
--R or "$" to specify which version of the function you need.
--E 321

--S 322 of 504
a0161:= integrate(t0161,x)

--R (201) | e d%H

--R b cos(%H) + a
--R Type: Union(Expression(Integer),...)
--E 322

--S 323 of 504
--m0161:= a0161-r0161
--E 323

--S 324 of 504
--d0161:= D(m0161,x)
--E 324

--S 325 of 504
t0162:= x~3/(a+b*cos(x)"2)

--R b cos(x) + a
--R Type: Expression(Integer)
--E 325

--S 326 of 504

r0162:= 1/8%(-4%}i*x"3xlog((-2*a-b+2*a”~ (1/2)*(atb)~(1/2)-_
b*exp (2x%i*x) )/ (-2*a-b+2*a”~ (1/2) *(a+b) ~(1/2)))+_
4x%ixx"~3xLlog ((2*a+b+2xa” (1/2)* (a+b) " (1/2)+_
b*exp(2x%i*x))/(2xa+b+2*a”~ (1/2)*(a+b) ~(1/2)))-_
6*x"2*polylog(2,b*exp (2x%ixx)/(-2*xa-b+2*xa~(1/2)*(a+b) “(1/2)))+_
6*x"2*%polylog(2,-b*exp (2} i*x) /(2*a+b+2%a” (1/2)*(a+b) " (1/2)))-_
6*/%i*xx*xpolylog(3,b*xexp(2*)i*x)/(-2*a-b+2*a~ (1/2)*(a+b) ~(1/2)))+_
6x%ixx*xpolylog(3,-b*exp (2*i*x)/(2*a+b+2*a”~ (1/2)*(a+b) ~(1/2)))+_
3*polylog(4,bxexp (2*%i*x)/(-2*a-b+2*a”~ (1/2)*(at+b) " (1/2)))-_
3*polylog(4,-bxexp(2*)i*x)/(2xatb+2xa”~ (1/2)*(a+b)~(1/2))))/_
a~(1/2)/(a+b)~(1/2)

--R

--R There are no library operations named polylog
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--R Use HyperDoc Browse or issue

--R Jwhat op polylog

--R to learn if there is any operation containing " polylog " in its
--R name.

--RDaly Bug

--R Cannot find a definition or applicable library operation named
--R polylog with argument type(s)

--R Positivelnteger

--R Expression(Complex(Integer))

--R Perhaps you should use "Q@" to indicate the required return type,
--R or "$" to specify which version of the function you need.
--E 326

--S 327 of 504
a0162:= integrate(t0162,x)

--R (203) | ______________ d%H

--R b cos(%H) + a
--R Type: Union(Expression(Integer),...)
--E 327

--S 328 of 504
--m0162:= a0162-r0162
--E 328

--S 329 of 504
--d0162:= D(m0162,x)
--E 329

--S 330 of 504
t0163:= 1/ (a+bxcos(x)"3)

--R b cos(x) + a
--R Type: Expression(Integer)
--E 330

--S 331 of 504

r0163:= 2/3*atan((a”(1/3)-b~(1/3))*tan(1/2*x)/(a~(2/3)-b~(2/3))~(1/2))/_
a~(2/3)/(a"(2/3)-b"(2/3)) " (1/2)+2/3*atan((a~ (1/3)-(-1) " (2/3) *_
b~ (1/3))*tan(1/2%x)/(a”(2/3)+(-1)"(1/3)*b~(2/3)) " (1/2))/a~(2/3)/_
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(a”(2/3)+(-1)"(1/3)*b"(2/3)) " (1/2)+2/3*atan((a~ (1/3)+(-1) " (1/3) *_

b~ (1/3))*tan(1/2*x)/(a~(2/3)-(-1)"(2/3)*b"(2/3))~(1/2))/_
a~(2/3)/(a~(2/3)-(-1)"(2/3)*b~(2/3))~(1/2)

--R  (205)

----- -—+ + et
| 3+-+2 3+-42 | 3+———+3+-+2 3+-+42
2\1-\Ib +\la \I\I-1\Ib +\la

3+-==+ X 3+-+ X 3+-+
\l- 1 tan(-)\Ib + tan(-)\la
2 2
atan(- -—- )
+-= -— -—+
| 3+-—-+2 3+-+2 3+-+2
A= \I-1 \lb + \la

| 3+-——+42 3+-42 3+-+2 |3+-——+3+-+42 3+-+2
2\I-\I-1  \Ib +\la \I\I-1\Ib + \la

x 3+-+ x 3+-+
tan(-)\Ib - tan(-)\la

| 3+-+2  3+-+2
\l-\Ib  +\la

| 3+===42 3+-+2 3+-+2 | 3+-+2 = 3+-+2
2\I-\I-1 \Nlb +\la \Il-\lb + \la

3+---+2 x 3+-+ x 3+-+
\I-1 tan(-)\|Ib - tan(-)\la

| 3+———+3+-+2 3+-+2
ANINI= 1 \lb  + \la

3+-+2 |  3+-——+42 3+-4+2 3+-+2 | 3+-+2 3+-42 | 3+-——+3+-+2
3\la \I-\I-1 \Ib +\la \I-\Ib +\la \I\I-1\Ib
Type: Expression(Integer)
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--S 332 of 504
a0163:= integrate(t0163,x)

--R  (206)

--R ROOT

--R (6b - 6a )

--R ROOT

--R 24 42 6 2

-1 (- 8lab + 162a b - 8la )%%EJO

--R 22 4 2 2
--I (18a b - 18a )%W4EJO + 4b - a

--R 2 4 4 2 6
--R 27a b - b4a b + 27a

--R 2 2

--I (- 6b + 6a )%4LEJO + 2

--R 3b - 3a

--R log

--R 4 2 6 4 2 6

-1 ((243a b - 243a )cos(x) + 243a b - 243a )%%EJO

--R 22 4 22 4
--R (27a b - 27a )cos(x) + 27a b - 27a

--R ROOT
--R 2 4 4 2 6 2
— (- 8lab + 162a b - 8la )%%EJO

--R 22 4 2 2
--I (18a b - 18a )%W4EJO + 4b - a

--R 24 4 2 6
--R 27a b - 54a b + 27a

--R 4 2 6 4 2 6 2
--I ((243a b - 243a )cos(x) + 243a b - 243a )%AEJO

--R 2 2 4 2 2 4
-1 ((- 27a b - 54a )cos(x) - 27a b - 54a )%AKEJO

--R 2 2
--R (6a b - 3a )cos(x) + 6a b - 3a
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+

co

ROOT

log

ROOT
2 2
(6b - 6a )
*
ROOT
24 4 2 6
(- 8ab + 162a b - 8la )%
"
22 4 2
(18a b - 18a )%%EJO + 4b -
/
24 4 2 6
27a b - 54a b + 27a
+
2 2
(- 6b + 6a )%LEJO + 2
/
2 2
3b - 3a
4b sin(x)
s(x) +1
2 2
(- 6b + 6a )
*
ROOT
24 42 6 2
(- 8lab + 162a b - 8la )%%EJO
+
22 4 2 2
(18a b - 18a )%%4EJO + 4b - a
/
24 42 6
27a b - 54a b + 27a
.
2 2
(- 6b + 6a )HKEJO + 2
2 2
3b - 3a

4 2 6 4 2
((243a b - 243a )cos(x) + 243a b
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22 4 22 4
(27a b - 27a )cos(x) + 27a b - 27a

ROOT
2 4 4 2 6 2
(- 8lab + 162a b - 8la )%%UEJO

22 4 2 2
(18a b - 18a )W4EJO + 4b - a

2 4 4 2 6
27a b - 54a b + 27a

4 2 6 4 2 6 2
((- 243a b + 243a )cos(x) - 243a b + 243a )%LEJO

2 2 4 2 2 4
((27a b + 54a )cos(x) + 27a b + 54a )%%4EJO

2 2
(- 6a b + 3a )cos(x) - 6a b + 3a

ROOT
2 2
(- 6b + 6a )
*
ROOT
2 4 4 2 6 2
(- 8lab + 162a b - 8la )%%UEJO
"
22 4 2 2
(18a b - 18a )W4EJO + 4b - a
/
24 4 2 6
27a b - 54a b + 27a
.
2 2
(- 6b + 6a )AKEJO + 2
/
2 2
3b - 3a
"
4b sin(x)
/
cos(x) + 1
ROOT

2 2
(- 6b + 6a )
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log

3b

ROOT
2 4 4 2 6 2
(- 8lab + 162a b - 8la )%%EJO

22 4 2 2
(18a b - 18a )%W4EJO + 4b - a
/
24 4 2 6
27a b - 54a b + 27a
2 2

(- 6b + 6a )%LEJO + 2

- 3a

4 2 6 4 2
((- 243a b + 243a )cos(x) - 243a b

2 2 4 2 2
(- 27Ta b + 27a )cos(x) - 27Ta b + 27

ROOT
24 4 2 6

(- 8lab + 162a b - 8la )%%EJO

i

22 4 2 2
(18a b - 18a )%W4EJO + 4b - a
/

24 4 2 6

27a b - 54a b + 27a

n
4 2 6 4 2

6
+ 243a )%%EJO

4

a

2

6 2

((243a b - 243a )cos(x) + 243a b - 243a )%AEJO

2 2 4 2 2 4
((- 27a b - 54a )cos(x) - 27a b - 54a )

2 2
(6a b - 3a )cos(x) + 6a b - 3a

ROOT
(- 6b + 6a )
ROOT

2 4 4 2 6
(- 8ab + 162a b - 81la )
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3b
+

4b sin(x)

cos(x) + 1

ROOT
2
(6b
*
ROOT
/
+
2
(- 6b
/
2
3b - 3a
log

22 4 2 2
(18a b - 18a )%%EJO + 4b - a

24 4 2 6
27a b - 54a b + 27a

2 2
(- 6b + 6a )WLEJO + 2

2 2
- 3a

- 6a )

2 4 4 2 6 2

(- 8lab + 162a b - 8la )%AEJO

22 4 2 2
(18a b - 18a )%%4EJO + 4b - a

2 4 4 2 6
27a b - b4a b + 27a

2
+ 6a )%AEJO + 2
2
4 2 6 4 2 6

((- 243a b + 243a )cos(x) - 243a b + 243a )%%EJO

+
22 4 2 2 4

(- 27a b + 27a )cos(x) - 27a b + 27a

ROOT

2 4 4 2 6 2
(- 8lab + 162a b - 8la )%%UEJO

22 4 2 2
(18a b - 18a )%W4EJO + 4b - a
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2 4 4 2 6
27a b - 54a b + 27a

4 2 6 4 2 6
((- 243a b + 243a )cos(x) - 243a b + 243a )%LEJO

2 2 4 2 2 4
((27a b + 54a )cos(x) + 27a b + 54a )%%4EJO

2 2
(- 6a b + 3a )cos(x) - 6a b + 3a

ROOT
2 2
(6b - 6a )
*
ROOT
24 4 2 6 2
(- 8lab + 162a b - 8la )%LEJO
+
2 2 4 2 2
(18a b - 18a )%%EJO + 4b - a
/
24 4 2 6
27a b - 54a b + 27a
+
2 2
(- 6b + 6a )%LEJO + 2
/
2 2
3b - 3a
+
4b sin(x)
/
cos(x) + 1
+o———— +
\ | 4%4EJO
log

4 2 6 4 2 6 2
((243a b - 243a )cos(x) + 243a b - 243a )%%LEJO

2 2 4 2 2 4
((- 27a b - 54a )cos(x) - 27a b - 54a )%%EJO

2 2
(- 3a b - 3a )cos(x) - 3ab - 3a
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-1 \ [ 4% 4EJO
__R +
--R 2b sin(x)

--R cos(x) + 1

--I \ 4% 4EJO

--R log
--R 4 2 6 4 2 6 2
-1 ((- 243a b + 243a )cos(x) - 243a b + 243a )HAEJO

--R 22 4 2 2 4
--1 ((27a b + 54a )cos(x) + 27a b + 54a )%4EJO

--R 2 2
--R (3a b + 3a )cos(x) + 3a b + 3a

-1 \ |4/ 4EJO
__R +
--R 2b sin(x)

--R cos(x) + 1

--R Type: Union(Expression(Integer),...)
--E 332

--S 333 of 504

--m0163:= a0163-r0163

--E 333

--S 334 of 504

--d0163:= D(m0163,x)

--E 334

--S 335 of 504
t0164:= 1/(a+b*cos(x)"4)

--R b cos(x) + a
--R Type: Expression(Integer)
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--S 336 of 504

r0164:= 1/2*atan(a”(1/4)*tan(x)/(a”(1/2)-(-b)~(1/2))"(1/2))/a"(3/4)/_
(@~ (1/2)-(-b)~(1/2))~(1/2)+1/2*atan(a~ (1/4) *tan(x) /(a~ (1/2)+_
(-b)~(1/2))°(1/2))/a~(3/4)/ (@~ (1/2)+(-b) " (1/2)) " (1/2)

--R Fom e + 4+—+
--R [ +-+ oot tan(x)\la

--R | +-+ ==t

--R \\la - \I-b

--R oo + 44—+
--R | +-+ +=——t tan(x)\la
--R \I\la - \I-b atan(---------—----—- )

--R | +-+ +———+
--R \I\la +\I-b

--R 4+-+43 | +-+ +———+ | +-+ +-——+

--R 2\la \I\la - \I-b \I\la +\I-Db

--R Type: Expression(Integer)
--E 336

--S 337 of 504
a0164:= integrate(t0164,x)

--R |[(8a b +8a ) |- —————————mmmmm -1
--R | | 32 4 5

--R | \| 64a b + 128a b + 64a

——R | ___________________________________________
--R | 2

--R \ | 4a b + 4a

--R |(8a b+ 8a) |- -—- - - -1

--R | | 32 4

--R | \| 64a b + 128a b + 64a

--R 4a sin(x) |- -—- ———— - 2cos(x)
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| 2
\ 4a b + 4a

cos(x) + 1

+- -— ———————————— +
| o +
| 2 | b
|[(- 8 b-8a) |- -—- -— -1
| | 32 4 5
| \| 64a b + 128a b + 64a
[— — I
| 2
A\ 4a b + 4a
e e +
| B +
| 2 | b
(-8 b-8a) |- == -1
| | 32 4 5
| \|l 64a b + 128a b + 64a
4a sin(x) |-————-———mm——mm—mmm e - 2cos(x)
| 2
\ 4a b + 4a
T )
cos(x) + 1
+- -_— -_— —-—
| +-—= - -—+
| 2 | b
|[(-8 b-8a) |- —————————————— -1
| | 32 4 5
| \| 64a b + 128a b + 64a
|- I I I
| 2
\ 4a b + 4a
*
log
- +
| +-—= -—— -———+
| 2 | b
[(-8ab-8a) |- —————————mmmmmm o -1
| | 32 4 5
| \| 64a b + 128a b + 64a
- 4a sin(x) |===-=———--mmmmm e
| 2
\ 4a b + 4a
+
- 2cos(x)
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--R cos(x) + 1

--R | +o———= -—- -+

--R |[(8a b +8a) |- ——————————————— -1
--R | | 32 4 5

--R | \| 64a b + 128a b + 64a

__R |_ —_ —_ -
--R | 2

--R \ 4a b + 4a

--R log

--R [(8a b +8a) |- ———————————mmmmm o -1
--R | | 32 4 5
--R | \|l 64a b + 128a b + 64a
--R - 4a sin(x) |=———————mmmmm

--R - 2cos(x)

--R cos(x) + 1

--R Type: Union(Expression(Integer),...)
--E 337

--S 338 of 504

m0164:= a0164-r0164

--R  (210)
--R Fmm - —-——+

--R [(8a b + 8a ) |- ————————mm—mmmmm -1
--R l | 32 4 5 S, +
—R 4+-+3 | \| 64a b + 128a b + 64a | 4=+ 4t
o a1 B \I\la - \I- b

132



\I\la +\I-b

+- -— -— -——t
| B et +
| | b
|(8a b +8a) |- -—- - -1
| | 32 4 5
| \l 64a b + 128a b + 64a
4a sin(x) |- -—- e - 2cos(x)
| 2
\ 4a b + 4a
log(-- -—- - -—- —
cos(x) + 1
- -— ——————————— +
| B e L e e +
| 2 | b
[(-8ab-8a) |- -——- --- -1
| | 32 4 5 Fommmmmm oo +
4+-+3 | \| 64a b + 128a b + 64a | +-—+ -t
\la |---- i \I\la - \I-b
| 2
\ 4a b + 4a
Fomm +
| +-+ +-——+
\I\la +\I- b
+——- -— ————— +
| B et e e e +
| | b
|(- 8 b-8a) |- --—- -—- - -1
| | 32 4 5
| \| 64a b + 128a b + 64a
4a sin(x) |--- -—- e - 2cos(x)
| 2
\ 4a b + 4a
log(- --- --- --- -—--)
cos(x) + 1
o —————— +
| e +
| 2 b
(- 8ab-8a) |- - - -— -1
| 32 4 5
4+-+3 | 64a b + 128a b + 64a
\la |- e

|
\Y



| +-+ +———+ | +-+

\IN\la - \I-b \l\la +\|-Db

log
e
| +-—= -—— —-———+
| 2 | b
(-8 b-8a) |- ———-——-——m—mmmm
| | 32 4 5
| \| 64a b + 128a b + 64a
- 4a sin(x) |-----—-——mmmmmmm oo
| 2
\ 4a b + 4a
+
- 2cos(x)
/
cos(x) + 1
e +
| +————= - -+
| 2 | b
[(8a b +8a ) |- ———————————mmmmm oo -1
| | 32 4 5 bommmmmmmoe o
4+-+3 | \| 64a b + 128a b + 64a | +-+
\la |--==—————--mmm e \\la -
| 2
\ 4a b + 4a
o +
| +-+ +-——+
\\la + \|-Db
log
e
| +-———- -— -+
| 2 | b
|[(8a b + 8a ) |- ———————————————
| | 32 4 5
| \l 64a b + 128a b + 64a
- 4a sin(x) |===-==——--mmmmmmmmm e
| 2
\ 4a b + 4a
+
- 2cos(x)
/

cos(x) + 1

+-——+
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--R e + 44—+
--R | +-+ +-——+ tan(x)\la
--R - \\la +\l- b atan(-------—--==---—- )

--R | +-+ +-——+

R \I\la - \I- b

--R Fom + 4+—+
--R R tan()\la
--R - \I\la = \I- b atan(----------=----- )

--R | +-+ +-——+
--R \[\la +\I-Db

--R 44+-+3 | +-+ +-——+ | +-+ +———+

--R 2\la \I\la - \I-b \I\la +\I-D

--R Type: Expression(Integer)
--E 338

--S 339 of 504
d0164:= D(m0164,x)

--R (211)
--R 4 4
--R - b cos(x) tan(x)

--R 4 2 2 4 2
--R (- a sin(x) - 2a cos(x) sin(x) + (- b - a)cos(x) )tan(x)

--R 4 2 2 4
--R (b + a)sin(x) + (2b + 2a)cos(x) sin(x) + (b + a)cos(x)

--R 4+-+2
--R \la

--R 4 2 2 4 2 4
--R (a sin(x) + 2a cos(x) sin(x) + (- b + a)cos(x) )tan(x) - a sin(x)

--R 2 2 4
--R - 2a cos(x) sin(x) + (- b - a)cos(x)

--R +—+
--R \la

--R 2 4 2 2 2 2 4 4
--R (a sin(x) + 2a cos(x) sin(x) + (a b + a )cos(x) )tan(x)

--R 2 4 2 2 2
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--R (a b+ a)dsin(x) + (2a b + 2a )cos(x) sin(x)
__R +

--R 2 2 4

--R (b + 2a b + a )cos(x)

--R 4+-+2
--R \la

--R 2 4 2 2 2 2 4 2 +—+

--R (2a sin(x) + 4a cos(x) sin(x) + (2a b + 2a )cos(x) )tan(x) \la

--R Type: Expression(Integer)
--E 339

--S 340 of 504
t0165:= 1/ (at+b*cos(x)"6)

--R b cos(x) + a
--R Type: Expression(Integer)
--E 340

--5 341 of 504

r0165:= 1/3*atan(a”(1/6)*tan(x)/(a”(1/3)+b~(1/3))"(1/2))/a~(5/6)/(a~(1/3)+_
b~ (1/3))"(1/2)+1/3*atan(a” (1/6) *tan(x)/(a~(1/3)-_
(-1)"(1/3)*b~(1/3))~(1/2))/a~(5/6)/(a~ (1/3)-_
(-1)"(1/3)*b~(1/3)) " (1/2)+1/3*atan(a” (1/6)*tan(x) /(a~ (1/3)+_
(-1)7(2/3)*b~(1/3))°(1/2)) /a~(56/6) / (a~ (1/3)+(-1) " (2/3)*b~ (1/3)) "~ (1/2)

--R o i + 6+-+
--R [3+-+  3+-+ |3+---+2 3+-+ 3+-+ tan(x)\la
--R NINIb  + \la \INI- 1 \Ib + \la atan(---- - )

--R | 3+-——+3+-+ 3+-+

--R A= \I- 1 \Ib + \la

--R o R + 6+-+
--R | B+=—=43+-+  3+-+ [|3+-——+2 3+-+ 3+-+ tan(x)\la

~-R M= \I= 1 \b +\la \I\NI- 1 \Ib + \la atan(-------------- )

--R | 3+-+ 3+-+

R \INIb + \la

--R R + o + 6+-+
--R | 3+=—=43+-+  3+-+ [3+-+  3+-+ tan(x)\la
--R \I=\I-1\Ib +\la \I\Ib + \la atan(--- --= )
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--R |3+---+2 3+-+ 3+-+

--R ANNI-1 \Ib + \la

--R 6+-+5 | 3+-———+3+-+ 3+-+ | 3+-+ 3+-+  |3+-——+2 3+-+ 3+-+

--R 3A\la \l=\I-1\Ib +\la \I\Ib +\la \I\[-1 \lb+ \la

--R Type: Expression(Integer)
--E 341

--S 342 of 504
a0165:= integrate(t0165,x)

--R  (214)

--R ROOT

--R 2
--R (12a b + 12a )

--R ROOT
--R 32 4 5 2
-—I (- 1296a b - 2592a b - 1296a )%%ELO

--R 2 3
-1 (- 72a b - 72a )%%KELO - 4b - a

--R 32 4 5
--R 432a b + 864a b + 432a

--R 2
-I (- 12a b - 12a )%%ELO - 1
--R 6a b + 6a

--R log
--R 6a sin(x)

--R ROOT

--R 2

- (12a b + 12a )

--R ROOT

--R 32 4 5 2
-1 (- 1296a b - 2592a b - 1296a )%%ELO

--R 2 3
-1 (- 72a b - 72a )/%ELO - 4b - a

--R 32 4 5
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ROOT

log

432a b + 864a b + 432a

2
(- 12a b - 12a )%AELO - 1
/
2
6a b + 6a
+

- 2cos(x)
cos(x) + 1

2

(- 12a b - 12a )

ROOT
32 4 5 2
(- 1296a b - 2592a b - 1296a )%%ELO

2 3
(- 72a b - 72a )%KELO - 4b - a

32 4 5
432a b + 864a b + 432a

2
(- 12a b - 12a )%%ELO - 1

2
6a b + 6a

6a sin(x)

ROOT
2
(- 12a b - 12a )

ROOT
32 4 5
(- 1296a b - 2592a b - 1296a )J%AELO

2 3
(- 72a b - 72a )%%ELO - 4b - a

32 4 5
432a b + 864a b + 432a

138

2



(- 12a b - 12a )%4ELO - 1

2
6a b + 6a

- 2cos(x)

cos(x) + 1

ROOT
2
(- 12a b - 12a )
*
ROOT
32 4 5 2
(- 1296a b - 2592a b - 1296a )%%ELO
.
2 3
(- 72a b - 72a )%ELO - 4b - a
/
32 4 5
432a b + 864a b + 432a
"
2
(- 12a b - 12a )%%ELO - 1
/
2
6a b + 6a
log
6a sin(x)
*
ROOT

2
(- 12a b - 12a )

ROOT
32 4 5
(- 1296a b - 2592a b - 1296a )%%ELO

2 3
(- 72a b - 72a )%AELO - 4b - a

32 4 5
432a b + 864a b + 432a

2
(- 12a b - 12a )%%ELO - 1
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ROOT

log

2
6a b + 6a
+
- 2cos(x)
cos(x) + 1
2
(12a b + 12a )
*
ROOT
32 4 5 2
(- 1296a b - 2592a b - 1296a )%%ELO
+
2 3
(- 72a b - 72a )%4ELO - 4b - a
/

32 4 5
432a b + 864a b + 432a

2
(- 12a b - 12a )%%ELO - 1

2
6a b + 6a
6a sin(x)
*
ROOT
2
(12a b + 12a )
*
ROOT
32 4 5
(- 1296a b - 2592a b - 1296a )%%ELO
"
2 3
(- 72a b - 72a )%%ELO - 4b - a
/
32 4 5
432a b + 864a b + 432a
.
2
(- 12a b - 12a )%%ELO - 1

/
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--R 6a b + 6a
--R - 2cos(x)

--R cos(x) + 1

-1 F————— + 6a sin(x)\|4%%ELO - 2cos(x)

-1 +o————— + - 6a sin(x)\|4%%ELO - 2cos(x)

! - \I4%%ELO log(--- --- --- -)
--R cos(x) + 1

--R Type: Union(Expression(Integer),...

--E 342

--S 343 of 504
m0165:= a0165-r0165
--R (215)

--R 6+-+5 | 3+——-+3+-+ 3+-+ |3+-+ 3+-+ |3+--—+2 3+-+ 3+-+

--R 3\la \l-\I- 1 \Ib + \la \I\Ib + \la \I\I-1 \Ib+ \la
--R ROOT

--R 2

—-R (12a b + 12a )

--R ROOT

--R 32 4 5 2

--I (- 1296a b - 2592a b - 1296a )%%ELO

--R 2 3
--I (- 72a b - 72a )%%ELO - 4b - a

--R 32 4 5
--R 432a b + 864a b + 432a

--R 2
-I (- 12a b - 12a )%%ELO - 1

--R 6a b + 6a

141



log
6a sin(x)
*
ROOT
2
(12a b + 12a )
*
ROOT
32 4 5 2
(- 1296a b - 2592a b - 1296a )%%ELO
+
2 3
(- 72a b - 72a )%LELO - 4b - a
/
32 4 5
432a b + 864a b + 432a
+
2
(- 12a b - 12a )%%ELO - 1
/
2
6a b + 6a
+
- 2cos(x)
/
cos(x) + 1
e B + b
6+-+5 | 3+———+3+—+ 3+-+  |3+-+ 3+-+ |3+-——+2 3+-+ 3+-+
3\la \I-\I- 1 \Ib + \la \I\Ib + \la \I\I-1 \lb + \la
ROOT
2
(- 12a b - 12a )
*
ROOT
32 4 5 2
(- 1296a b - 2592a b - 1296a )%AELO
+
2 3
(- 72a b - 72a )%LELO - 4b - a
/
32 4 5
432a b + 864a b + 432a
+
2
(- 12a b - 12a )%%ELO - 1
/
2
6a b + 6a
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log

6a sin(x)

ROOT
2
(- 12a b - 12a )

ROOT
32 4 5
(- 1296a b - 2592a b - 1296a
i
2 3
(- 72a b - 72a )%%ELO - 4b - a
/
32 4 5
432a b + 864a b + 432a
+
2
(- 12a b - 12a )%%ELO - 1
/
2
6a b + 6a
i
- 2cos(x)
cos(x) + 1
B e e L L Lt + Fm—m——— e + dm——————
6+-+5 | 3+-——+3+-+ 3+-+ |3+-+ 3+-+ |3+---+2
3\la \I=\I-1\Ib +\la \I\Ib +\la \I\I-1
ROOT
2
(- 12a b - 12a )
*
ROOT
32 4 5
(- 1296a b - 2592a b - 1296a )%%ELO
+
2 3
(- 72a b - 72a )%4ELO - 4b - a
/
32 4 5
432a b + 864a b + 432a
"
2
(- 12a b - 12a )%%ELO - 1
/
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\Ib + \la
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6a b + 6a
log
6a sin(x)
ROOT
(- 12a

ROOT

2
b - 12a )
32
(- 1296a b
2

4 5
- 2592a b - 1296a )%LELO

3

(- 72a b - 72a )%%ELO - 4b - a

32

4 5

432a b + 864a b + 432a

2

(- 12a b - 12a )%%ELO - 1

6a b + 6a
+

- 2cos(x)

cos(x) + 1

6+-+5 | 3+—-——+3+-+ 3+-+

3\la \I-\I-1\lb +\la

ROOT
2
(12a b + 12a )

ROOT
32
(- 1296a b

2

| 3+-+ 3+-+ |3+-——+2 3+-+ 3+-+

NANIb + \la \INI-1  \[b +\]a

4
- 2692a b -

3

5 2
1296a )%%ELO

(- 72a b - 72a )%4ELO - 4b - a

32

4 5

432a b + 864a b + 432a
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2

0-1

2
+ 12a )

32
(- 1296a b

2

4 5
- 2592a b - 1296a )%LELO

3

(- 72a b - 72a )%%ELO - 4b - a

32

4 5

432a b + 864a b + 432a

2

(- 12a b - 12a )%%ELO - 1

(- 12a b - 12a )%J%EL
/
2
6a b + 6a
*
log
6a sin(x)
*
ROOT
(12a b
*
ROOT
+
/
+
/
2
6a b + 6a
+
- 2cos(x)
/
cos(x) + 1
o + +
6+-+5 | 3+———+3+-+ 3+-+ |

3\la \I-\I-1\Ib +\la \I|

3+-+  3+-+

|3+-——+2 3+-+ 3+-+

\b +\la \NI\I-1 \Ib + \la

| 3+-+ 3+-+ |3+-——+2 3+-+ 3+-+

NANIb + \la \INI-1  \|b + \]a

TR +
4o +  6a sin(x)\|4%%ELO - 2cos(x)
\|4%%ELO log(--- -—- -
cos(x) + 1
S — ¥ AR —

6+-+5 | 3+-——+3+-+ 3+-+

3\la \I-\I-1\Ib + \la
*

R +
o + - 6a sin(x)\|4%%ELO - 2cos(x)
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--R tomm——— i T et + 6+—+
--R [3+-+  3+-+ [3+———+2 3+-+ 3+-+ tan(x)\la
--R - 2\I\Ib + \la \I\I- 1 \Ib + \la atan(- - -=)

--R | 3+-——+3+-+ 3+-+

--R \I=\I- 1 \Ib +\la

--R R i R + 6+-+
--R | B+=—=43+—+  3+—+ |3+-——+2 3+-+ 3+-+ tan(x)\la
--R - 2\I-\I- 1 \Ib +\la \I\I-1 \Ib + \la atan(-------------- )

--R | 3+-+ 3+-+

R \INIb + \la

--R o + - + 6+—+
--R | 3+=—=43+-+  3+-+ [3+-+  3+-+ tan(x)\la
--R - 2\I- \I- 1 \Ib + \la \I\Ib + \la atan( -—- -=)

--R |3+---+2 3+-+ 3+-+
--R \INI-1 \Ilb + \la

--R 6+-+5 | 3+———+3+-+ 3+-+  |3+-+ 3+—+ |3+-——+2 3+-+ 3+-+

--R 6\la \l-\I- 1 \Ib +\la \I\Ib +\la \I\I-1 \lb+ \la

--R Type: Expression(Integer)
--E 343

--S 344 of 504
--d0165:= D(m0165,x)
--E 344

--S 345 of 504
t0166:= 1/(at+b*cos(x)"8)

--R b cos(x) + a
--R Type: Expression(Integer)
--E 345

--5 346 of 504

r0166:= 1/4*atan(a”(1/8)*tan(x)/(a"~(1/4)+(-b)~(1/4))~(1/2))/a~(7/8)/_
(a”(1/4)+(-b)~(1/4)) "~ (1/2)+1/4*atan(a” (1/4) *tan(x) /(a~ (1/2)-_
a”(1/4)*(-b)~(1/4))~(1/2))/a~(3/4)/(a~ (1/2)-a~ (1/4)*_
(-b)"(1/4)) " (1/2)+1/4*atan(a” (1/4) *tan(x) /(a~ (1/2)-%i*a” (1/4)*_
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(-b)~(1/4))"(1/2))/a"(3/4)/(a~(1/2)-hi*a~(1/4)*(-b) " (1/4))~(1/2)+_
1/4*atan(a”(1/4)*tan(x)/(a"~ (1/2)+%i*a~ (1/4)*(-b)~(1/4))~(1/2))/_
a”(3/4)/(a”~(1/2)+)hi*xa~ (1/4)*(-b) " (1/4))~(1/2)

(217)

B et e + e I e ittt
8+-+7 | L+———+4+-+ +-+  |4+-+ A+-——+ |  A+-——+4+-+ +—+
\la \I- %i\l- b \la + \la \I\la + \|I- b \[%i\l- b \la + \|a

*
4+-+
tan(x)\la
atan(----------------—--——- )

o +

| 4+-———+4+—+ +-+
\I-\I- Db \la +\la
+

o + o + o +
8+-+7 | 4+—-—-+4+-+ +-+  |4+-+ L+-——+ |  A+-——+4+-+ +—+
\la \I=-\I-Db \la + \la \I\la + \I-b \Il%i\l- b \la + \la

*
4+-+
tan(x)\la
atan(-------——--—--—-—-——m——— )

e +

| 4+———+4+—+ +-+
\I- %i\l- b \la + \la
+

o I +
4+-+43 |  4+———+4+—+ +-+ | A+———+4+—+ +-+
\la \I=-\I-b \la + \la \I- %i\l- b \la + \la

*
e + 8+-+
| 4+-——+4+—+ +—+ tan(x)\la
\1%i\I- b \la + \la atan(---------------- )
o +
| 4+-+ L+-——+
\I\la +\|-Db
+

e + e + o
8+-+7 | 4+-——-+4+-+ +-+ | A+———+4+—+ +—+  |4+-+ L+-———+
\la \I-\I- Db \la + \la \I- %i\l- b \la + \la \l\la + \|-b

*
4+—+
tan(x)\la
atan(----------———-———————- )

o +

| 4+-——+4+—+ +-+

\%iNI- b \la + \la
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--R 4+-+3 8+-+7 | A4+-——+4+-+ +-+ | A+———+4+—+ +—+  |4+-+ L+-——+

--R 4\la \la \I-\NI-b\la + \la \I- %i\l- b \la + \la \[\la +\|-Db

--R | 4+———+4+-+ +—+

--R \%iNI- b \la + \la

--R Type: Expression(Complex(Integer))
--E 346

--S 347 of 504
a0166:= integrate(t0166,x)

--R  (218)

--R ROOT

--R 2
--R (16a b + 16a )

--R ROOT
--R 32 4 5 2
-1 (- 1636a b - 3072a b - 1536a )%%EM1

--R 32 4 5 2 3
--I ((- 1024a b - 2048a b - 1024a )%%EMO - 64a b - 64a )

--I %HEM1

--R 32 4 5 2
-1 (- 1636a b - 3072a b - 1536a )%ALEMO

--R 2 3
--I (- 64a b - 64a )%LEMO - 3b - a

--R 32 4 5
--R 512a b + 1024a b + 512a

--R 2 2
--I (- 16a b - 16a )%AEM1 + (- 16a b - 16a )%LEMO - 1
--R 8a b + 8a

--R log
--R 8a sin(x)

--R ROOT

--R 2
--R (16a b + 16a )
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ROOT
32 4 5 2
(- 1536a b - 3072a b - 1536a )%%KEM1

32 4 5
(- 1024a b - 2048a b - 1024a )%ALEMO

2 3
- 64a b - 64a

HHEML

32 4 5 2
(- 15636a b - 3072a b - 1536a )%%EMO

2 3
(- 64a b - 64a )H%EMO - 3b - a

32 4 5
512a b + 1024a b + 512a

2 2
(- 16a b - 16a )%4LEM1 + (- 16a b - 16a )%%EMO - 1
/
2
8a b + 8a
+
- 2cos(x)
/
cos(x) + 1
ROOT

2

(- 16a b - 16a )

ROOT
32 4 5 2
(- 15636a b - 3072a b - 1536a )%%EM1
"
32 4 5 2 3
((- 1024a b - 2048a b - 1024a )%%EMO - 64a b - 64a )
*
%HEM1
+
32 4 5 2
(- 15636a b - 3072a b - 1536a )%%EMO
+
2 3
(- 64a b - 64a )}%EMO - 3b - a
/
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log

32 4 5
512a b + 1024a b + 512a

2 2
(- 16a b - 16a )4%EM1 + (- 16a b - 16a )%LEMO - 1
2
8a b + 8a
8a sin(x)
*
ROOT
2
(- 16a b - 16a )
*
ROOT
32 4 5 2
(- 15636a b - 3072a b - 1536a )%%EM1
.
32 4 5
(- 1024a b - 2048a b - 1024a )%%EMO
+
2 3
- 64a b - 64a
*
%AEM1
.
32 4 5 2
(- 1636a b - 3072a b - 1536a )%%EMO
.
2 3
(- 64a b - 64a )%LEMO - 3b - a
/
32 4 5
512a b + 1024a b + 512a
+
2 2
(- 16a b - 16a )%LEM1 + (- 16a b - 16a )%%EMO - 1
/
2
8a b + 8a
.
- 2cos(x)
cos(x) + 1
ROOT
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log

(- 16a b - 16a )

ROOT
32 4 5 2
(- 15636a b - 3072a b - 1536a )%%EM1
+
32 4 5 2
(- 1024a b - 2048a b - 1024a )%%EMO - 64a b
i
3
- 64a
*
%HEM1
+
32 4 5 2
(- 15636a b - 3072a b - 1536a )%%EMO
+
2 3
(- 64a b - 64a )%LEMO - 3b - a
/

32 4 5
512a b + 1024a b + 512a

2 2
(- 16a b - 16a )%%EM1 + (- 16a b - 16a )%%EMO - 1

2
8a b + 8a

8a sin(x)
ROOT
2
(- 16a b - 16a )
ROOT
32 4 5 2
(- 1536a b - 3072a b - 1536a )%AEM1

32 4 5
(- 1024a b - 2048a b - 1024a )%%EMO

2 3
- 64a b - 64a

%HEM1
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ROOT

(- 1636a b - 3072a b - 1536a )%AEMO

2 3
(- 64a b - 64a )KLEMO - 3b - a

32 4 5
512a b + 1024a b + 512a

2 2
(- 16a b - 16a )%AEM1 + (- 16a b - 16a )%LEMO - 1
/
2
8a b + 8a
+
- 2cos(x)
cos(x) + 1
2
(16a b + 16a )
*
ROOT
32 4 5 2
(- 1536a b - 3072a b - 1536a )%LEM1
+
32 4 5 2
(- 1024a b - 2048a b - 1024a )%%EMO - 64a b
+
3
- 64a
*
yAAS
+
32 4 5 2
(- 1536a b - 3072a b - 1536a )%%EMO
+
2 3
(- 64a b - 64a )%LEMO - 3b - a
/

32 4 5
512a b + 1024a b + 512a

2 2
(- 16a b - 16a )%LEM1 + (- 16a b - 16a )%%EMO - 1

8a b + 8a
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log

\ [4%%EM1 log(

- 2cos(x)

cos(x) + 1

8a sin(x)
ROOT
2
(16a b + 16a )
*
ROOT
32 4 5 2
(- 15636a b - 3072a b - 1536a )%%EM1
i
32 4 5
(- 1024a b - 2048a b - 1024a )%%EMO
"
2 3
- 64a b - 64a
*
SHEML
+
32 4 5 2
(- 1636a b - 3072a b - 1536a )%%EMO
+
2 3
(- 64a b - 64a )/4KEMO - 3b - a
/
32 4 5
512a b + 1024a b + 512a
.
2 2
(- 16a b - 16a )%%EM1 + (- 16a b - 16a )%%EMO - 1
/
2
8a b + 8a
Fo———— +

8a sin(x)\|4%%EM1 - 2cos(x)

e )

cos(x) + 1

- 8a sin(x)\|4%%EM1 - 2cos(x)
- \I4%YEML log(---------—- I

cos(x) + 1



-1 A + 8a sin(x)\|4%%EMO - 2cos(x)
--I \ [4%%EMO log( e )
--R cos(x) + 1

-1 - + - 8a sin(x)\|4%%EMO - 2cos(x)

--R cos(x) + 1

--R Type: Union(Expression(Integer),...)

--S 348 of 504
--m0166:= a0166-r0166

--S 349 of 504
--d0166:= D(m0166,x)

--S 350 of 504
t0167:= 1/(a-b*cos(x)"3)

--R b cos(x) - a
--R Type: Expression(Integer)
--E 350

--S 351 of 504

r0167:= 2/3*atan((a~(1/3)+b~(1/3))*tan(1/2*x)/(a~(2/3)-b~(2/3))~(1/2))/_
a~(2/3)/(a~(2/3)-b~(2/3)) "~ (1/2)+2/3*atan((a~ (1/3)+_
(-1)7(2/3)*b~(1/3))*tan(1/2*x) /(a”(2/3)+(-1) " (1/3)*_
b~ (2/3))7(1/2))/a"(2/3)/(a”~(2/3)+(-1) " (1/3)*b~(2/3)) " (1/2) +_
2/3*atan((a~(1/3)-(-1)"(1/3)*b~(1/3) ) *tan(1/2*x) /(a~(2/3)-_
(-1)7(2/3)*b~(2/3))"(1/2)) /a~(2/3) /(a~(2/3)-(-1)~(2/3)*b~(2/3)) " (1/2)

--R | 3+=+2  3+-+2 [|3+-——+3+-+2  3+-+2
--R 2A\1-\Ib  +\la NI\I-1\Ib +\la

--R 3+-——+ X 3+-+ X 3+-+

--R \I- 1 tan(-)\Ib - tan(-)\la
--R 2 2
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--R | 3+-—-+2 3+-+2 3+-+2
--R N=-\I-1 \lb + \la

--R | 3+-——=+42 3+-42 3+-+2 |3+-——+3+-+2  3+-+2
--R 2AI-\I-1 \Ib +\la NIN\I-1\Ib +\la

--R X 3+-+ X 3+-+
--R tan(-)\Ib + tan(-)\la

--R | 3+-+2  3+-+2
--R \N-\Ib  +\la

--R | 3+=——42 3+-+2 3+-+2 | 3+-+2  3+-+2
--R 2\I-\I-1  \Ib +\la \I-\Ib +\la

--R 3+-—-+2 x 3+-+ x 3+-+
--R \l- 1 tan(-)\Ib + tan(-)\la

--R | 3+===+3+-+2 = 3+-+2
--R AINI= 1 \Ib +\la

--R 3+=+2 | 3+-—=+2 3+-+2 3+-+2 | 3+-+2  3+-+2 [3+-——+3+-+2  3+-+2
--R 3\la \I-\I-1 \Ib +\la \I-\Ib +\la \I\I-1\Ib +\la
--R Type: Expression(Integer)
--E 351

--S 352 of 504

a0167:= integrate(t0167,x)

--R  (221)

__R -

--R ROOT

—-R (6b - 6a )

--R ROOT

--R 2 4 4 2 6 2
-1 (- 8lab + 162a b - 8la )%AENO

--R 22 4 2 2
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log

3b

(18a

2 4
27a b

2 2
(- 6b + 6a )%

- 3a

((243a

2
(27a b

ROOT

(

(

27a

42
((243a b

22

((- 27a b

(- 6a b -

ROOT

(6b

ROO

b - 18a )%%ENO + 4b -
4 2 6
- b54a b + 27a

%ENO + 2

4 2 6
b - 243a )cos(x) + 243

2 4 22
- 27a )cos(x) + 27a b
2 4 4 2

- 8lab + 162a b - 8la

22 4
18a b - 18a )%%ENO + 4b

2 4 4 2 6
b - 54a b + 27a

6 4 2
- 243a )cos(x) + 243a b

4 2 2
- 54a )cos(x) - 27a b

2 2
3a )cos(x) - 6a b - 3a
2 2

- 6a )

T
2 4 4 2

(- 8lab + 162a b

22 4
(18a b - 18a )Y%%ENO

2 4 4 2 6
27a b - 54a b + 27a
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4 2 6
a b - 243a )%%ENO

4
- 27a
6 2

) %AENO

2 2
- a

6 2
- 243a )%%ENO

4
- 54a )Y%%ENO

6 2
- 8la )%%ENO

2 2
+ 4b - a



ROOT

3b

2 2
(- 6b + 6a )WLENO + 2

2 2
3b - 3a
+

4b sin(x)

cos(x) + 1

(- 6b + 6a )
ROOT
24 4 2 6
(- 8lab + 162a b - 8la )%%ENO

22 4 2 2
(18a b - 18a )%4ENO + 4b - a

2 4 4 2 6
27a b - b4a b + 27a

2 2

(- 6b + 6a )%LENO + 2

- 3a

4 2 6 4
((243a b - 243a )cos(x) + 243a b

22 4 22
(27a b - 27a )cos(x) + 27a b -
*
ROOT

24 4 2 6

(- 8lab + 162a b - 8la )%
"

22 4 2

(18a b - 18a )%%ENO + 4b -
/

2 4 4 2 6
27a b - 54a b + 27a

4 2 6 4 2
((- 243a b + 243a )cos(x) - 243a b
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2 6
- 243a )%%ENO

4
27a

2
%ENO

a

6 2
+ 243a )%%ENO



2 2 4 2 2 4
((27a b + 54a )cos(x) + 27a b + 54a )%%ENO

2 2
(6a b + 3a )cos(x) + 6a b + 3a

ROOT
2 2
(- 6b + 6a )
*
ROOT
24 4 2 6
(- 8lab + 162a b - 8la )%%ENO
i
22 4 2 2
(18a b - 18a )%4ENO + 4b - a
/
24 4 2 6
27a b - 54a b + 27a
+
2 2
(- 6b + 6a )%LENO + 2
/
2 2
3b - 3a
i
4b sin(x)

cos(x) + 1

ROOT
2 2
(- 6b + 6a )
*
ROOT
2 4 4 2 6 2
(- 8la b + 162a b - 8la )%AENO
+
2 2 4 2 2
(18a b - 18a )%%4ENO + 4b - a
/
2 4 4 2 6
27a b - 54a b + 27a
+
2 2
(- 6b + 6a )LKENO + 2
/
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log

3b

+

- 3a
4 2 6 4 2 6
((- 243a b + 243a )cos(x) - 243a b + 243a )%AENO
+
22 4 2 2 4
(- 27a b + 27a )cos(x) - 27a b + 27a
*
ROOT

2 4 4 2 6 2
(- 8lab + 162a b - 8la )%%ENO

22 4 2 2
(18a b - 18a )%4ENO + 4b - a

2 4 4 2 6
27a b - 54a b + 27a

4 2 6 4 2 6 2
((243a b - 243a )cos(x) + 243a b - 243a )%%ENO

2 2 4 2 2 4
((- 27a b - 54a )cos(x) - 27a b - 54a )%%ENO

2 2
(- 6a b - 3a )cos(x) - 6a b - 3a

ROOT
2 2
(- 6b + 6a )
*
ROOT
2 4 4 2 6 2
(- 8lab + 162a b - 8la )%%ENO
i
22 4 2 2
(18a b - 18a )%4ENO + 4b - a
/
24 4 2 6
27a b - 54a b + 27a
"
2 2
(- 6b + 6a )AKENO + 2
/
2 2
3b - 3a
4b sin(x)
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ROOT

log

3b

cos(x) + 1

(6b - 6a )

ROOT
2 4 4 2 6 2
(- 8lab + 162a b - 8la )%%ENO

22 4 2 2
(18a b - 18a )%4ENO + 4b - a
/
24 4 2 6
27a b - 54a b + 27a
2 2

(- 6b + 6a )%LENO + 2

- 3a

4 2 6 4 2 6

((- 243a b + 243a )cos(x) - 243a b + 243a )%LENO

2 2 4 2 2 4
(- 27a b + 27a )cos(x) - 27a b + 27a

ROOT
2 4 4 2 6 2
(- 8lab + 162a b - 8la )%%ENO

22 4 2 2
(18a b - 18a )%4ENO + 4b - a

2 4 4 2 6
27a b - 54a b + 27a

4 2 6 4 2 6 2
((- 243a b + 243a )cos(x) - 243a b + 243a )Y%LENO

2 2 4 2 2 4
((27a b + 54a )cos(x) + 27a b + 54a )%%ENO

2 2
(6a b + 3a )cos(x) + 6a b + 3a

ROOT
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(6b - 6a )

ROOT
24 4 2 6 2
(- 8lab + 162a b - 8la )%%ENO

22 4 2 2
(18a b - 18a )%%ENO + 4b - a

24 4 2 6
27a b - 54a b + 27a

2 2
(- 6b + 6a )%LENO + 2
/
2 2
3b - 3a
+
4b sin(x)
/
cos(x) + 1
O +
\ | 4%KENO
log
4 2 6 4 2 6 2
((243a b - 243a )cos(x) + 243a b - 243a )%AENO
+
2 2 4 2 2 4
((- 27a b - 54a )cos(x) - 27a b - 54a )%%ENO
+
2 2
(32 b - 3a )cos(x) + 3a b - 3a
*
e +
\ | 4%4ENO
+
2b sin(x)
/
cos(x) + 1
O +
\ | 4%4ENO
*
log

4 2 6 4 2 6
((- 243a b + 243a )cos(x) - 243a b + 243a )%LENO
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--R 22 4 22 4
--1 ((27a b + 54a )cos(x) + 27a b + 54a )%%ENO

--R 2 2
--R (- 3a b+ 3a )cos(x) - 3a b + 3a

-1 \ | 4%4ENO
__R +
--R 2b sin(x)

--R cos(x) + 1

--R Type: Union(Expression(Integer),...)
--E 352

--S 353 of 504
--m0167:= a0167-r0167
--E 353

--S 354 of 504
--d0167:= D(m0167,x)
--E 354

--S 355 of 504
t0168:= 1/(a-b*cos(x)"6)

--R b cos(x) - a
--R Type: Expression(Integer)
--E 355

--S 356 of 504
r0168:= 1/3*atan(a”~(1/6)*tan(x)/(a"~(1/3)-b~(1/3))"~(1/2))/a~(5/6)/_
(a~(1/3)-b~(1/3))~(1/2)+1/3*atan(a~(1/6)*tan(x)/(a~ (1/3)+_
-1~ (1/3)%b~(1/3))"~(1/2))/a~(5/6) /(a~ (1/3)+(-1) ~(1/3) *_
b~ (1/3))"(1/2)+1/3*atan(a~(1/6)*tan(x)/(a~(1/3)-_
(-1)"(2/3)*%b~(1/3))~(1/2))/a~(5/6)/(a~(1/3)-(-1) ~(2/3)*b~(1/3)) ~(1/2)

--R Hommmm e R + 6+-+
--R | 3+=+  3+-+ | 3+———+3+-+  3+-+ tan(x)\la

--R M= AIb # \a A\ 1 \[b + \la  atan(---------=m-m----m-m-m= )

--R | 3+--——+2 3+-+ 3+-+
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--R \I-\I-1 \Ib + \la

--R et + e + 6+-+
--R | 3+-=—=+42 3+-+ 3+-+ [3+---+3+-+  3+-+ tan(x)\la

--R M= A= 1 \Ib + \a \I\I- 1 \[b + \la atan(-—-------------- )

--R | 3+-+  3+-+
--R \I-\Ib +\la

--R Fom e + o + 6+-+
--R | 3+-—=+2 3+-+ 3+-+ | 3+-+  3+-+ tan(x)\la
--R \I=\I-1 \Ib+\la \I-\Ib + \la atan( - --)

--R | 3+-——+3+-+ 3+-+

--R \NINI=- 1 \Ib + \la

--R 6+-+5 | 3+———+42 3+-+ 3+-+ | 3+-+ 3+-+ | 3+———+3+-+ 3+-+

--R 3\la \I=\l-1 \lb+\la \-\lb +\la \N\I-1\lb +\la

--R Type: Expression(Integer)
--E 356

--S 357 of 504
a0168:= integrate(t0168,x)

--R  (224)

--R ROOT

--R 2
--R (12a b - 12a )

--R ROOT
--R 32 4 5 2
--I (- 1296a b + 2592a b - 1296a )%%E00

--R 2 3
--I (72a b - 72a )/%4E00 + 4b - a

--R 32 4 5
--R 432a b - 864a b + 432a

--R 2
-1 (- 12a b + 12a )%%E00 + 1
--R 6a b - 6a

--R log
--R 6a sin(x)
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ROOT

log

ROOT
2
(12a b - 12a )

ROOT
32 4 5
(- 1296a b + 2592a b - 1296a )%AE0O

2 3
(72a b - 72a )%ALE00 + 4b - a

32 4 5
432a b - 864a b + 432a

2
(- 12a b + 12a )%%E00 + 1
/
2
6a b - 6a
+

- 2cos(x)
cos(x) + 1

2

(- 12a b + 12a )
ROOT
32 4 5 2
(- 1296a b + 2592a b - 1296a )%AEQ0O

2 3
(72a b - 72a )%%EQ0 + 4b - a

32 4 5
432a b - 864a b + 432a

2

(- 12a b + 12a )%%E00 + 1

6a b - 6a

6a sin(x)
ROOT

2
(- 12a b + 12a )
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ROOT
32 4 5
(- 1296a b + 2592a b - 1296a )%AE0O

2 3
(72a b - 72a )%ALE00 + 4b - a

32 4 5
432a b - 864a b + 432a

2
(- 12a b + 12a )%%E00 + 1

2
6a b - 6a

- 2cos(x)

cos(x) + 1

ROOT
2
(- 12a b + 12a )
*
ROOT
32 4 5 2
(- 1296a b + 2592a b - 1296a )%%E00
+
2 3
(72a b - 72a )%4LE00 + 4b - a
/
32 4 5
432a b - 864a b + 432a
"
2
(- 12a b + 12a )%%E00 + 1
/
2
6a b - 6a
log
6a sin(x)
*
ROOT

2
(- 12a b + 12a )
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ROOT

log

ROOT
32 4 5
(- 1296a b + 2592a b - 1296a )%%EDO

2 3
(72a b - 72a )%LE00 + 4b - a

32 4 5
432a b - 864a b + 432a

2

(- 12a b + 12a )%%KE00 + 1

6a b - 6a

- 2cos(x)

cos(x) + 1

2
(12a b - 12a )

ROOT
32 4 5 2
(- 1296a b + 2592a b - 1296a )%%E00

2 3
(72a b - 72a )%%LEQ0 + 4b - a

32 4 5
432a b - 864a b + 432a

2
(- 12a b + 12a )%%E00 + 1

6a b - 6a

6a sin(x)
ROOT
2
(12a b - 12a )

ROOT
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R 32 4 5 2
-I (- 1296a b + 2592a b - 1296a )%%E00

--R 2 3
--I (72a b - 72a )%%E00 + 4b - a

--R 32 4 5
--R 432a b - 864a b + 432a

__R 2

-1 (- 12a b + 12a )%%4E00 + 1
--R 6a b - 6a

--R - 2cos(x)

--R cos(x) + 1

-1 = + 6a sin(x)\|4%%E00 - 2cos(x)

-1 +o————— + - 6a sin(x)\|4%%E00 - 2cos(x)

--I - \I4%%E00 log(-—- -— -—- -)
--R cos(x) + 1

--R Type: Union(Expression(Integer),...)
--E 357

--S 358 of 504
m0168:= a0168-r0168
--R  (225)

--R 6+-+5 | 3+-—--+42 3+-+ 3+-+ | 3+-+ 3+-+ | 3+-——+3+-+ 3+-+

--R 3\la \l-\I-1 \Ib+\la \I-\Ib + \la \I\I-1\Ib +\la

--R ROOT
--R 2
--R (12a b - 12a )

--R ROOT

--R 32 4 5 2
--I (- 1296a b + 2592a b - 1296a )%%E00
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2 3
(72a b - 72a )%LE00 + 4b - a

/
32 4 5
432a b - 864a b + 432a
+
2
(- 12a b + 12a )%%E00 + 1
/
2
6a b - 6a
log
6a sin(x)
*
ROOT
2
(12a b - 12a )
*
ROOT
32 4 5 2
(- 1296a b + 2592a b - 1296a )%%E0D0
+
2 3
(72a b - 72a )%LE00 + 4b - a
/
32 4 5
432a b - 864a b + 432a
+
2
(- 12a b + 12a )%%E00 + 1
/
2
6a b - 6a
+
- 2cos(x)
/
cos(x) + 1
Fmm + pm————————— + pmm——
6+-+5 | 3+———+42 3+-+ 3+-+ | 3+-+ 3+-+ | 3+-——+3+-+ 3+-+
3\la \I=-\I-1 \lb +\la \I=-\Ib + \la \I\I-1\Ib + \la

ROOT
2
(- 12a b + 12a )

ROOT

32 4 5 2
(- 1296a b + 2592a b - 1296a )%%LEDO
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log

+
2 3
(72a b - 72a )}%AE00 + 4b - a
/
32 4 5
432a b - 864a b + 432a
+
2
(- 12a b + 12a )%%E00 + 1
2
6a b - 6a
6a sin(x)
*
ROOT
2
(- 12a b + 12a )
*
ROOT
32 4 5 2
(- 1296a b + 2592a b - 1296a )%%E0O
+
2 3
(72a b - 72a )%%E00 + 4b - a
/
32 4 5
432a b - 864a b + 432a
+
2
(- 12a b + 12a )%%E00 + 1
/
2
6a b - 6a
+
- 2cos(x)
cos(x) + 1
e + +
6+-+5 | 3+-—-+42 3+-+ 3+-+ | 3+-+ 3+-+ | 3+-——+3+-+ 3+-+

3\la \I=-\I-1 NIb+\la \-\lb +\la \I\I-1\Ib +\la
ROOT
2
(- 12a b + 12a )

ROOT
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32 4 5 2
(- 1296a b + 2592a b - 1296a )%ALEDO

+
2 3
(72a b - 72a )%%E00 + 4b - a
/
32 4 5
432a b - 864a b + 432a
+
2
(- 12a b + 12a )%%E00 + 1
/
2
6a b - 6a
log
6a sin(x)
*
ROOT
2
(- 12a b + 12a )
*
ROOT
32 4 5
(- 1296a b + 2592a b - 1296a )%%E00
+
2 3
(72a b - 72a )%%E00 + 4b - a
/
32 4 5
432a b - 864a b + 432a
+
2
(- 12a b + 12a )%4E00 + 1
/
2
6a b - 6a
+
- 2cos(x)
/
cos(x) + 1
o + Fmm—— +
6+-+5 | 3+-—-+42 3+-+ 3+-+ | 3+-+ 3+-+ | 3+-——+3+-+ 3+-+

3\la \I-\|-1

ROOT

\lb + \la \l-\Ib +\la \I\[-1\|b + \l|a
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(12a b

ROOT

- 12a )

32 4 5 2

(- 1296a b + 2592a b - 1296a )%ALE0O

2 3
(72a b - 72a )%LE00 + 4b - a

32 4 5

432a b - 864a b + 432a

(- 12a b

6a b - 6a
log
6a

ROO

+

2
+ 12a )%AE00 + 1

sin(x)

T
2
(12a b - 12a )

ROOT
32 4 5
(- 1296a b + 2592a b - 1296a )%%EDO

2 3
(72a b - 72a )%LE00 + 4b - a

32 4 5
432a b - 864a b + 432a

2
(- 12a b + 12a )%%E00 + 1

6a b - 6a

- 2cos(x)

cos(x) + 1

6+-+5 | 3+-—-+2
3A\la \I-\I-1

3+-+ 3+-+ | 3+-+ 3+-+ | 3+-——+3+-+ 3+-+

\lb + \la \l-\lb +\la \I\I-1\Ib + \la

171

2



-1 fommm - + 6a sin(x)\[4%%4E00 - 2cos(x)
-1 \|4%%E00 log(--- - )
~R cos(x) + 1

--R 6+-+5 | 3+———+42 3+-+ 3+-+ | 3+-+ 3+—+ | 3+-——+3+-+ 3+-+

--R 3A\la \I-\I-1 \lb+ \la \[-\Ib + \la \I\[-1\Ib + \la

-1 = + - 6a sin(x)\|4%%E00 - 2cos(x)

--R S et e e + dommmm e + 6+-+
--R | 3+-+  3+-+ [3+-——+3+-+  3+-+ tan(x)\la
--R - 2\I- \Ib + \la \I\I- 1 \Ib + \|la atan( -—= )

--R | 3+-——+2 3+-+ 3+-+
--R \I=-\I-1 \Ib + \la

--R o R + 6+-+
--R | 3+=—=42 34—+ 3+-+ [3+———+3+-+  3+-+ tan(x)\la
--R -2\1-\I- 1 \lb+\la \I\I-1\Ib + \la atan(---------------- )

--R | 3+-+ 3+-+

--R \I-\Ib +\la

--R B B e + 6+-+
--R | 3+===+2 3+-+ 3+-+ | 3+-+  3+-+ tan(x)\la
--R - 2\[-\I-1 \lb+\la \l-\Ib + \la atan(-- -—= )

--R | 3+-——+3+-+ 3+-+

--R ANI\I- 1 \lb + \la

--R 6+-+5 | 3+-———+42 3+-+ 3+-+ | 3+-+ 3+-+ | 3+———+3+-+ 3+-+

--R 6\la \l-\I-1 \lb+\la \|l-\lb + \la \I\I-1\Ib +\la

--R Type: Expression(Integer)
--E 358

--S 359 of 504
--d0168:= D(m0168,x)
--E 359

--S 360 of 504

t0169:= 1/(a-b*cos(x)"8)
--R

--R
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--R (226) - —----mmmmmm-

--R 8

--R b cos(x) - a

--R Type: Expression(Integer)
--E 360

--S 361 of 504

r0169:= 1/4*atan(a~(1/8)*tan(x)/(a~(1/4)-b"(1/4))~(1/2))/a~(7/8)/_
(a~(1/4)-b~(1/4))~(1/2)+1/4*atan(a” (1/8) *tan(x)/_
(a~(1/4)-%i*b~(1/4))~(1/2))/a~(7/8) /(a~ (1/4) -%i*b~(1/4))~(1/2)+_
1/4*atan(a~(1/8)*tan(x)/(a"~ (1/4)+)%i*b~(1/4))~(1/2))/a~(7/8)/_
(a~(1/4)+%i*xb~(1/4)) "~ (1/2)+1/4*atan(a” (1/8) *tan(x)/_
(a~(1/4)+b~(1/4))~(1/2))/a~(7/8)/(a~(1/4)+b~(1/4))~(1/2)

--R Fom + + + 8+-+
--R | 44—+ A+—+ | A+—+  Ad+—+  |4+—+  4+—+ tan(x)\la

--R \I-%i\Ib  + \la \I%i\lb + \la \I\Ib + \|la atan(--------------—- )

--R | 44—+ 44—+
- A= \Ib +\la

--R e e LTt + mmmm—— e + mmmmmm—— e + 8+-+
--R | 4+—+  4+—+ | A+—+ A+—+  |4+-+ A+-+ tan(x)\la

--R M= \Ib + \a \I%\b + \la \I\Ib + \la atan(----------------—- )

--R | 4+-+ 4+-+

R \I- %i\Ib + \la

--R e R I + 8+—+
--R | 4+-+  A4+-+ | A+—+  A+-+ |4+-+  4+—+ tan(x)\la

R \I=\Ib +\la \I- %\b + \la \I\Ib + \la atan(--------------—- )

--R | 4+-+ 4+—+
R \I%i\Ib + \la

--R o + o ——— I + 8+-+
--R | 4+—+  4+-+ | 4+-+  4+—+ | 4+-+ 4+-+ tan(x)\la

--R \=\Ib + \la \I- %i\Ib + \la \Il%i\lb + \la atan(-------—----—- )
--R | 4+-+ 44—+

R \INIb + \la

--R 8+-+7 | 4+-+ 4+-+ | 4+-+ 4+-+ |  4+-+ 4+-+ | 4+-+ 4+-+
--R Ala \I-\b + \la \l- %i\Ib + \la \Il%i\lb + \la \I\Ib + \la
--R Type: Expression(Complex(Integer))
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--S 362 of 504
a0169:= integrate(t0169,x)

--R  (228)

--R ROOT

--R 2
--R (16a b - 16a )

--R ROOT
--R 32 4 5 2
--I (- 15636a b + 3072a b - 1536a )%%4EP1

--R 32 4 5 2 3
--I ((- 1024a b + 2048a b - 1024a )%%EPO + 64a b - 64a )

--I %HEP1

--R 32 4 5 2
-1 (- 1536a b + 3072a b - 1536a )%LEPO

--R 2 3
--I (64a b - 64a )%ALEPO + 3b - a

--R 32 4 5
--R 512a b - 1024a b + 512a

--R 2 2
--I (- 16a b + 16a )%KEP1 + (- 16a b + 16a )%%EPO + 1
--R 8a b - 8a

--R log
--R 8a sin(x)

--R ROOT
R 2
--R (16a b - 16a )

--R ROOT
--R 32 4 5 2
-1 (- 1536a b + 3072a b - 1536a )%%EP1

--R 32 4 5
--I (- 1024a b + 2048a b - 1024a )%AEPO

--R 2 3
--R 64a b - 64a
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ROOT

#HEP1

32 4 5 2
(- 1536a b + 3072a b - 1536a )%%EPO

2 3
(64a b - 64a )%KEPO + 3b - a

32 4 5
512a b - 1024a b + 512a

2 2
(- 16a b + 16a )%4EP1 + (- 16a b + 16a )%%EPO + 1
/
2
8a b - 8a
+

- 2cos(x)
cos(x) + 1

2

(- 16a b + 16a )

ROOT
32 4 5 2
(- 1536a b + 3072a b - 1536a )%LEP1
"
32 4 5 2 3
((- 1024a b + 2048a b - 1024a )%LEPO + 64a b - 64a )
*
%HEP1
+
32 4 5 2
(- 1636a b + 3072a b - 1536a )%%EPO
+
2 3
(64a b - 64a )%LEPO + 3b - a
/

32 4 5
512a b - 1024a b + 512a

2 2
(- 16a b + 16a )%LEP1 + (- 16a b + 16a )%%EPO + 1

8a b - 8a
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log

8a sin(x)
ROOT
2
(- 16a b + 16a )
ROOT
32 4 5 2
(- 1636a b + 3072a b - 1536a )%%4EP1

32 4 5
(- 1024a b + 2048a b - 1024a )%%EPO

2 3
64a b - 64a

WHEP1

32 4 5 2
(- 1536a b + 3072a b - 1536a )%%EPO

2 3
(64a b - 64a )%%EPO + 3b - a

32 4 5
512a b - 1024a b + 512a

2 2
(- 16a b + 16a )%LEP1 + (- 16a b + 16a )%LEPO + 1

2
8a b - 8a

- 2cos(x)
cos(x) + 1
ROOT
2
(- 16a b + 16a )
ROOT
32 4 5 2

(- 1636a b + 3072a b - 1536a )%LEP1

32 4 5 2
(- 1024a b + 2048a b - 1024a )%LEPO + 64a b
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log

3
- 64a

%hKEP1

32 4 5 2
(- 15636a b + 3072a b - 1536a )%%EPO

2 3
(64a b - 64a )JLEPO + 3b - a

32 4 5
512a b - 1024a b + 512a

2 2
(- 16a b + 16a )%LEP1 + (- 16a b + 16a )/LEPO + 1

8a b - 8a

8a sin(x)

ROOT
2
(- 16a b + 16a )

ROOT
32 4 5 2
(- 1636a b + 3072a b - 1536a )%%EP1
¥
32 4 5
(- 1024a b + 2048a b - 1024a )%%EPO
.
2 3
64a b - 64a
*
%HEP1
+
32 4 5 2
(- 1536a b + 3072a b - 1536a )%LEPO
+
2 3
(64a b - 64a )%AEPO + 3b - a
/

32 4 5
512a b - 1024a b + 512a
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ROOT

log

(- 16a b + 16a )%%EP1 + (- 16a b + 16a )%%EPO + 1

/
2
8a b - 8a
.
- 2cos(x)
cos(x) + 1
2
(16a b - 16a )
*
ROOT
32 4 5 2
(- 15636a b + 3072a b - 1536a )%%EP1
.
32 4 5 2
(- 1024a b + 2048a b - 1024a )%%EPO + 64a b
"
3
- 64a
*
%HEP1
+
32 4 5 2
(- 1536a b + 3072a b - 1536a )%%EPO
+
2 3
(64a b - 64a )%LEPO + 3b - a
/

32 4 5
512a b - 1024a b + 512a

2 2
(- 16a b + 16a )%LEP1 + (- 16a b + 16a )%%EPO + 1

8a b - 8a

8a sin(x)
ROOT
2
(16a b - 16a )

ROOT
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cos

\ 4%%EP1 log(

- \I4J%EP1 lo

32 4 5 2
(- 15636a b + 3072a b - 1536a )%%EP1

32 4 5
(- 1024a b + 2048a b - 1024a )%LEPO

2 3
64a b - 64a

%HEP1

32 4 5 2
(- 1636a b + 3072a b - 1536a )%ALEPO

2 3
(64a b - 64a )%KEPO + 3b - a

32 4 5
512a b - 1024a b + 512a
+

2 2
(- 16a b + 16a )%%EP1 + (- 16a b + 16a )%%EPO + 1

2
8a b - 8a

2cos (x)

(x) +1

8a sin(x)\|4%%EP1 - 2cos(x)

mmmmmmeees )

cos(x) + 1

- 8a sin(x)\|4%%4EP1 - 2cos(x)
g(——- -—= -)
cos(x) + 1

8a sin(x)\|4%%EPO - 2cos(x)

- 8a sin(x)\|4%%EPO0 - 2cos(x)
g(-—————————- - -)
cos(x) + 1
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--R Type: Union(Expression(Integer),...)
--E 362

--S 363 of 504
m0169:= a0169-r0169
--R  (229)

--R 8+-+7 | 4+-+ 4+-+ | 4+-+ 4+-+ |  4+—+ 4+-+  |4+-+ 4+-+
--R 2\la \I- \Ib + \la \I- %i\lb + \la \I%i\Ib + \la \I\Ib + \la
--R ROOT

--R 2

--R (16a b - 16a )

--R ROOT

--R 32 4 5 2

--I (- 1636a b + 3072a b - 1536a )%ALEP1

--R 32 4 5 2 3
-1 ((- 1024a b + 2048a b - 1024a )}%EPO + 64a b - 64a )

--I %HEP1

--R 32 4 5 2
-1 (- 1636a b + 3072a b - 1536a )%%EPO

--R 2 3
-I (64a b - 64a )%LEPO + 3b - a

--R 32 4 5
--R 512a b - 1024a b + 512a

--R 2 2
--I (- 16a b + 16a )%LEP1 + (- 16a b + 16a )%%EPO + 1
--R 8a b - 8a

--R log
--R 8a sin(x)

--R ROOT
--R 2
--R (16a b - 16a )

--R ROOT
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(- 1636a b + 3072a b - 1536a )%AEP1

32 4 5
(- 1024a b + 2048a b - 1024a )%AEPO

2 3
64a b - 64a

HHEP1

32 4 5 2
(- 1536a b + 3072a b - 1536a )%%EPO

2 3
(64a b - 64a )%LEPO + 3b - a

32 4 5
512a b - 1024a b + 512a

2 2
(- 16a b + 16a )%4EP1 + (- 16a b + 16a )%%EPO + 1
/
2
8a b - 8a
+
- 2cos(x)
/
cos(x) + 1
Fomm B et + - + o +
8+-+7 | 4+-+ 4+-+ | 4+-+ 4+-+ |  4+-+ 4+-+ |4+-+ 4+-+
2\la \I- \lb + \la \I- %i\Ib + \la \I%i\lb + \la \I\Ib + \la
ROOT

2
(- 16a b + 16a )

ROOT
32 4 5 2
(- 1636a b + 3072a b - 1536a )%LEP1

32 4 5 2 3
((- 1024a b + 2048a b - 1024a )%LEPO + 64a b - 64a )

%HEP1

32 4 5 2
(- 1536a b + 3072a b - 1536a )%LEPO

181



log

(64a b - 64a )%L%EPO + 3b - a

32 4 5
512a b - 1024a b + 512a

2 2

(- 16a b + 16a )%%EP1 + (- 16a b + 16a )%%EPO + 1

8a b - 8a

8a sin(x)

ROOT
2
(- 16a b + 16a )

ROOT
32 4 5 2
(- 1536a b + 3072a b - 1536a )%LEP1

32 4 5
(- 1024a b + 2048a b - 1024a )%%EPO

2 3
64a b - 64a

WHEP1

32 4 5 2
(- 1536a b + 3072a b - 1536a )%%4EPO

2 3
(64a b - 64a )%LEPO + 3b - a

32 4 5
512a b - 1024a b + 512a

2 2
(- 16a b + 16a )%LEP1 + (- 16a b + 16a )%%EPO + 1

2
8a b - 8a
+

- 2cos(x)

cos(x) + 1
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8+—+7 | 4+-+ 4+-+ | 4+-+ 4+-+ |  4+—+ 4+-+

2\la \I- \Ib + \la \I- %i\lb + \la \I%i\Ib + \la

Fommmm - +

| 4+-+ 4+-+
\I\Ib + \la
ROOT

2
(- 16a b + 16a )

ROOT
32 4 5 2
(- 1636a b + 3072a b - 1536a )%LEP1
+
32 4 5 2
(- 1024a b + 2048a b - 1024a )%%EPO + 64a b
+
3
- 64a
*
%HEP1
n
32 4 5 2
(- 1536a b + 3072a b - 1536a )%%EPO
n
2 3
(64a b - 64a )%LEPO + 3b - a
/

32 4 5
512a b - 1024a b + 512a

2 2
(- 16a b + 16a )%AEP1 + (- 16a b + 16a )%LEPO + 1
/
2
8a b - 8a
log
8a sin(x)
*
ROOT

2
(- 16a b + 16a )

ROOT

32 4 5
(- 15636a b + 3072a b - 1536a )%4LEP1
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*
32 4 5
(- 1024a b + 2048a b - 1024a )%%EPO
+
2 3
64a b - 64a
*
#HEP1
"
32 4 5 2
(- 1636a b + 3072a b - 1536a )%%EPO
i
2 3
(64a b - 64a )%KEPO + 3b - a
/
32 4 5
512a b - 1024a b + 512a
.
2 2
(- 16a b + 16a )%KEP1 + (- 16a b + 16a )%%EPO + 1
/
2
8a b - 8a
"
- 2cos(x)
/
cos(x) + 1
e e L et B + dmmmmm—— e +
8+-+7 | 4+-+ 4+-+ | 4+-+ 4+-+ |  4+-+ 4+-+

2\la \I- \Ib + \la \I- %i\lb + \la \I%i\Ib + \la

Fommm e +

| 4+-+ 4+-+
\I\Ib + \la
ROOT

2
(16a b - 16a )

ROOT
32 4 5 2
(- 1636a b + 3072a b - 1536a )%LEP1
"
32 4 5 2
(- 1024a b + 2048a b - 1024a )%LEPO + 64a b
"

3

- 64a
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log

#HEP1

32 4 5 2
(- 15636a b + 3072a b - 1536a )%%EPO

2 3
(64a b - 64a )%LEPO + 3b - a

32 4 5
512a b - 1024a b + 512a

2 2
(- 16a b + 16a )%KEP1 + (- 16a b + 16a )%%EPO + 1

8a b - 8a

8a sin(x)

ROOT
2
(16a b - 16a )

ROOT
32 4 5 2
(- 1636a b + 3072a b - 1536a )%4LEP1

32 4 5
(- 1024a b + 2048a b - 1024a )%ALEPO

2 3
64a b - 64a

#HEP1

32 4 5 2
(- 1636a b + 3072a b - 15636a )%ALEPO

2 3
(64a b - 64a )%LEPO + 3b - a

32 4 5
512a b - 1024a b + 512a
+
2 2
(- 16a b + 16a )%LEP1 + (- 16a b + 16a )%%EPO + 1
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8a b - 8a
+
- 2cos(x)
/
cos(x) + 1
B B e I + o
8+-+7 | 4+-+ 4+-+ | 4+-+ 4+-+ |  4+-+ 4+-+  |4+-+ 4+-+

2\la \I-\Ib + \la \[- %i\Ib + \la \I%i\lb + \la \I\Ib + \la

Hmmmm e + 8a sin(x)\[4%%EP1 - 2cos(x)
\14%%EP1 log(--- _— -9

8+-+7 | 4+-+ 4+-+ | 4+-+ 4+-+ |  4+—+ 4+-+

2\la \I- \Ib + \la \I- %i\lb + \la \I%i\Ib + \la

*
Fommm e + B +
[4+-+  4+—+ +-————- + - 8a sin(x)\I4%%EP1 - 2cos(x)
\INIb  + \la \[4%%EP1 log(---- -—= --- )
cos(x) + 1
o B + - + o
8+-+7 | 4+-+ 4+-+ | 4+-+ 4+-+ |  4+-+ 4+-+ |4+-+ 4+-+

2\la \I- \Ib + \la \I- %i\Ib + \la \I%i\lb + \la \I\Ib + \la

A + 8a sin(x)\|4%4%EPO - 2cos(x)
\|4%4EPO Log(~——-=-n-mmmmmmmmmmmmmmemmem )
cos(x) + 1

8+-+7 | 4+-+ 4+-+ | 4+-+ 4+-+ |  4+—+ 4+-+

2\la \I- \Ib + \la \I- %i\lb + \la \I%i\Ib + \la

[4+-+ 44—+ +—————- + - 8a sin(x)\|4%%EPO - 2cos(x)

o I A B + 8+-+
| 4+-+ 4+-+ |  4+-+ 4+-+ |4+-+ 4+-+ tan(x)\la

- \I-%iNIb  + \la \I%iNIb + \la \I\Ib + \la atan(------------———-
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- \I-\Ib +\la

--R Fmmm R I + 8+-+
--R | 4+-+  A+-+ | 4+-+  L+—+ [|4+-+  4+-+ tan(x)\la

--R “A\I-\Ib # \la \I%\Db + \la \I\Ib + \la atan(-----------—----—-

--R | 4+-+  4+-+
R \I- %i\Ib + \la

--R o + o I + 8+-+
--R | 4+—+  4+—+ | 44—+ A4+ |44+ 44—+ tan(x)\la

--R “\I=\Ib + \la A= %\ b+ \la \I\Ib + \la atan(--------------—-

--R | 4+-+ 4+-+
_R \I%i\Ib + \la

--R e R + o + 8+—+
--R | 4+-+  4+—+ | A+—+  4+-+ | 4+-+  L+—+ tan(x)\la

--R - \I=\Ib +\la \I- %\Ib + \la \I%i\Ib + \la atan(--------------

--R | 4+-+ 4+-+

R \I\b + \la

--R 8+-+7 | 4+-+ 4+-+ | 4+-+ 4+-+ |  4+—+ 4+-+ |4+-+ A+-+
--R 4A\la \l- \lb + \la \I- %i\lb + \la \Il%i\lb + \la \I\Ib + \la
--R Type: Expression(Complex(Integer))
--E 363

--S 364 of 504
d0169:= D(m0169,x)

--R (230)
--R 8 8
--R b cos(x) tan(x)

--R 8 2 6 4 4
--R - a sin(x) - 4a cos(x) sin(x) - 6a cos(x) sin(x)

--R 6 2 8
--R - 4a cos(x) sin(x) + (b - a)cos(x)

--R 6
--R tan(x)

--R 8 2 6
--R (- b + a)sin(x) + (- 4b + 4a)cos(x) sin(x)

--R 4 4 6 2
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(- 6b + 6a)cos(x) sin(x) + (- 4b + 4a)cos(x) sin(x)

8
(- b + a)cos(x)

8+-+6
\la

8 2 6 4 4
a sin(x) + 4a cos(x) sin(x) + 6a cos(x) sin(x)

6 2 8
4a cos(x) sin(x) + (3b + a)cos(x)

6
tan(x)
+
8 2 6 4 4
- 3a sin(x) - 12a cos(x) sin(x) - 18a cos(x) sin(x)
+
6 2 8
- 12a cos(x) sin(x) + (3b - 3a)cos(x)
*
4
tan(x)
4+—+8+-+4
\la \la
8 2 6 4 4
3a sin(x) + 12a cos(x) sin(x) + 18a cos(x) sin(x)
+
6 2 8
12a cos(x) sin(x) + (3b + 3a)cos(x)
*
4
tan (x)
+
8 2 6 4 4
- 3a sin(x) - 12a cos(x) sin(x) - 18a cos(x) sin(x)
+
6 2 8
- 12a cos(x) sin(x) + (3b - 3a)cos(x)
*
2
tan(x)
4+-42 8+-+2
\la \la
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8
3a sin(x) + 12a cos(x)

2 6 4 4
sin(x) + 18a cos(x) sin(x)

+
6 2 8
12a cos(x) sin(x) + (b + 3a)cos(x)
*
2
tan(x)
+
8 2 6 4 4
- a sin(x) - 4a cos(x) sin(x) - 6a cos(x) sin(x)
+
6 2 8
- 4a cos(x) sin(x) + (b - a)cos(x)
4+-+3
\la
2 8 2 2 6 2 4 4
a sin(x) + 4a cos(x) sin(x) + 6a cos(x) sin(x)
+
2 6 2 2 8
4a cos(x) sin(x) + (- a b + a )cos(x)
*
8
tan(x)
+
2 8 2 2 6

(-ab+ a)sin(x) + (- 4a b + 4a )cos(x) sin(x)

2 4
(- 6a b + 6a )cos(x) sin(x)

2 2 8
(b - 2a b+ a )cos(x)

8+-+6
\la

2 8 2 2

4 2 6
+ (- 4a b + 4a )cos(x) sin(x)

6 2 4 4

4a sin(x) + 16a cos(x) sin(x) + 24a cos(x) sin(x)

+
2 6 2
16a cos(x) sin(x) + (- 4a

6 4+-+8+-+4
tan(x) \la \la

2 8 2 2

2 8
b + 4a )cos(x)

6 2 4 4

6a sin(x) + 24a cos(x) sin(x) + 36a cos(x) sin(x)
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--R 2 6 2 2 8
--R 24a cos(x) sin(x) + (- 6a b + 6a )cos(x)

--R 4 4+-+2 8+-+2
--R tan(x) \la \la

--R 2 8 2 2 6 2 4 4
--R 4a sin(x) + 16a cos(x) sin(x) + 24a cos(x) sin(x)
--R +

--R 2 6 2 2 8

--R 16a cos(x) sin(x) + (- 4a b + 4a )cos(x)

--R 2 4+-+3

--R tan(x) \la

--R Type: Expression(Complex(Integer))
--E 364

--S 365 of 504
t0170:= 1/(1+cos(x)"3)

--R Type: Expression(Integer)

--S 366 of 504

r0170:= -2/3*atan((-1)"(2/3)*(1+(-1)"(1/3)) " (1/2)*tan(1/2*x))/_
(1+(-1)"(1/3)) " (1/2)+2/3*atan((-1) " (1/3) *(1-(-1) " (2/3)) " (1/2) *_
tan(1/2%x))/(1-(-1)"(2/3)) " (1/2) +sin(x) / (3*cos (x) +3)

--R  (232)

--R | 3+-—-+2 3+-—-+2 X |3+--—+
--R (- 2cos(x) - 2\I-\I-1 + 1 atan(\|- 1 tan(-)\I\I-1 + 1)

--R | 3+———+ 34-——+ x | 3+-—-+2
--R (2cos(x) + 2)\I\I- 1 + 1 atan(\|- 1 tan(-)\|- \|- 1 +1)

--R | 3+-——+2 | 3+——-+
--R sin(x)\I-\I-1 + 1\I\Il-1 +1
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--R | 3+———+2 | 3+———+

--R (Bcos(x) + 3\I-\I-1 + 1 \I\[-1 +1

--R Type: Expression(Integer)
--E 366

--S 367 of 504
a0170:= integrate(t0170,x)

--R (233)

--R hpi x 4 %pi x 2 hpi x 2
--R cos(---)sin(-) + (2cos(---)cos(-) - 2cos(---))sin(-)
--R 12 2 12 2 12 2

--R hpi x 4 %pi x 2 %pi
--R cos(---)cos(-) + 2cos(---)cos(-) + cos(---)
--R 12 2 12 2 12

--R log

--R %pi 2 4+—+ %pi %pi 2 +-+4+—+ %pi
--R sin(---) + \I3 sin(---) + cos(---) - \I3 \I3 cos(---)
--R 12 12 12 12

--R 4+-+2
--R \13

--R x 4
--R sin(-)

--R x 2 %pi 2 44—+ x 2 hpi
--R (2cos(-) - 2)sin(---) + 2\|3 cos(-) sin(---)
--R 2 12 2 12

--R %pi 2 +-+4+-+ %pi 4+-+2 x 2
--R (2cos(---) - 2\13 \I3 cos(---) + 2\|3 )cos(-)
--R 12 12 2

--R %pi 2 4+-+2
--R - 2cos(---) + 2\|3
--R 12

--R x 2
--R sin(-)
--R 2

--R +-+4+-+ X %pi 4+-+ %pi X X

--R (4\13 \I3 cos(-)sin(---) + 4\|3 cos(---)cos(-))sin(-)
--R 2 12 12 2 2
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+
x 4 x 2 %pi 2 4+—+ x4 4+-+ %pi
(cos(=) + 2cos(-) + 1)sin(-—-) + (\I3 cos(-) - \I3 )sin(---)
2 2 12 2 12
+
%pi 2 +-+4+-+ hpi 4+-+2 x 4
(cos(---) = \I3 \I3 cos(---) + \I3 )cos(-)
12 12 2
+
%pi 2 4+-42 x 2 wpi 2 +-+4+—+ hpi
(2cos(--=) - 2\I3 )cos(-) + cos(-—-) + \I3 \I3 cos(-——-)
12 2 12 12
+
4+-+2
\I3
x 4 x 2 x 2 x 4 x 2
sin(-) + (2cos(-) - 2)sin(-) + cos(-) + 2cos(-) + 1
2 2 2 2 2
hpi x 4 %pi x 2 %pi x 2
- cos(---)sin(-) + (- 2cos(---)cos(-) + 2cos(---))sin(-)
12 2 12 2 12 2
%pi x 4 %pi x 2 %pi
- cos(---)cos(-) - 2cos(---)cos(-) - cos(---)
12 2 12 2 12
%pi 2 4+-+ %pi %pi 2 +-+4+-+ %pi
sin(---) + \|3 sin(---) + cos(---) - \I3 \I3 cos(---)
12 12 12 12
+
4+—+2
\I3
*
x 4
sin(-)
2
+
x 2 %pi 2 4+—+ x 2 hpi
(2cos(-) - 2)sin(---) + 2\|3 cos(-) sin(---)
2 12 2 12
+
%pi 2 +=+4+—+ %pi 4+-+2 x 2
(2cos(---) - 2\13 \I3 cos(---) + 2\|3 )cos(-)
12 12 2
+

Ypi 2 4+-+2
- 2cos(---) + 2\|3
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12

x 2
sin(-)
2

+-+4+-+ X

2
x 4

(cos(-)
2

X
+ 2cos(-)
2

%pi 2
(cos(---)
12

%pi 2
(2cos(---)
12

4+-+2
\I3

x 4
sin(-)
2

x 2
+ (2cos(-)
2

hpi x 4
cos(---)sin(-)
12 2

hpi x 4
cos(---)cos(-)
12 2

log
%pi 2
sin(---)
12

4+-+2
\13

x 4
sin(-)

x 2

+-+4+-+
- \I3 \I3 cos(-—-) + \I3

4+~
- 2\I3

+ (2cos(---)cos(-)

+ 2cos(---)cos(-)

4+—+
- \13 sin(---) + cos(---)

%pi

12

2 hpi
+ 1)sin(---)
12

%pi
12

+2 X 2
)cos(-)

2

x 2
- 2)sin(-)
2

+

%pi x 2

12 2

%pi x 2

+

12 2

%pi

12

hpi 2
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4+-+
(- 4\ 13 \I3 cos(-)sin(---) - 4\|3 cos(-—-)cos(-))sin(-)

+ cos(-——-)

44—+

%pi X

12 2

2 4+-+ X

+ (\I3 cos(-)
2

4+-+2 x 4
Ycos(-)
2

+—+

+\[3

%pi 2

12

x 4
cos(-)
2

+ 2cos(

%pi
12

%pi
cos(---)
12

%pi 2 +—+
+\I3

12

x 2 %

X
2
4 4+-+ %pi

- \I13 J)sin(---)
12

4+-+ %pi
\|3 cos(---)
12

x 2
=)
2

+1

x 2

- 2cos(---))sin(-)

2

4+—+ %pi
\13 cos(---)
12

pi



(2cos(-)
2

- 2)si

%pi 2
(2cos(---)
12

%pi 2
- 2cos(---)
12

+ 2

x 2
sin(-)
2

+—+4+—+ X

2
x 4

(cos(-)
2

x 2
+ 2cos(-)
2

4=
+\13

4+-+ x 4
(- \I3 cos(-)
2

+-+4+-
+\13 \13

%pi 2
(cos(---)
12

4+-+2
- 2\13

Wpi 2
(2cos (---)
12

4+-+2
\I3

x 4
sin(-)
2

x 2
+ (2cos(-)
2

%pi x 4
- cos(---)sin(-)
12 2

+ (- 2c

%pi x 4
- cos(---)cos(-)
12 2

- 2cos(

n(---)
12

- 2\ |3 cos(

+-+4+-+ %pi

+ 2\13 \I3 cos(---) + 2\|3

12

4+-+2
\ I3

hpi 4+—+ %pi

12 12
%pi 2
+ 1)sin(---)

12

+ %pi

)sin(---)
12

+ %pi 4+-+2

cos(---) + \I3
12

Jc

x 2
)cos(-)
2

%pi
+ cos(---)
12

x 2
2)sin(-)
2

+ cos(-)
2

%pi x 2
os(---)cos(-)
12 2

+ 2c

hpi x 2
---)cos(-)
12 2

- cos(-
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x 4

%

-) sin(---)
2 12

x 2
Ycos(-)
2

4+-+2

X X

(4\13 \|3 cos(-)sin(-—-) + 4\|3 cos(---)cos(-))sin(-)

2 2

x 4
os(-)
2

2 +—+4+-+ %pi
- \I3 \13 cos(---)
12

x 2
+ 2cos(-)
2

+1

%pi x 2
os(---))sin(-)
12 2

pi
-2
12



log

%pi 2 4+—+ hpi %pi 2 +—+4+—+ hpi
sin(---) - \|3 sin(---) + cos(---) + \[3 \[|3 cos(---)
12 12 12 12
+
4+-+2
\I3
x 4
sin(-)
2
x 2 %pi 2 4+—+ x 2 hpi
(2cos(-) - 2)sin(---) - 2\|3 cos(-) sin(---)
2 12 2 12
+
%pi 2 +=+4+—+ hpi 4+-+2 x 2
(2cos(-—=) + 2\[3 \I3 cos(-—-) + 2\|3 )cos(-)
12 12 2
+
wpi 2 4+-+2
- 2cos(---) + 2\|[3
12
x 2
sin(-)
2
+—+4+-+ x %pi 4+—+ %pi X X
(- 4\13 \I3 cos(-)sin(---) - 4\|3 cos(-—--)cos(-))sin(-)
2 12 12 2 2
x 4 x 2 %pi 2
(cos(-) + 2cos(-) + 1)sin(---)
2 2 12
4+—+ x 4  4+-+ %pi
(= \13 cos(-) + \I3 )sin(---)
2 12
%pi 2 +-+4+-+ hpi 4+-+2 x4
(cos(-—-) + \I3 \I3 cos(-—-) + \I3 )cos(-)
12 12 2
%pi 2 44+-+2 x 2 %pi 2 +—+4+—+ %pi
(2cos(--=) - 2\I3 Jcos(-) + cos(---) - \I13 \I|3 cos(---)
12 2 12 12
4+-+2
\I3
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x 4 x 2 x 2 x 4 x 2
sin(-) + (2cos(-) - 2)sin(-) + cos(-) + 2cos(-) + 1
2 2 2 2 2

%pi x 4 x 2 %pi x 2

2sin(---)sin(-) + (4cos(-) - 4)sin(---)sin(-)

12 2 2 12 2

x 4 x 2 %pi

(2cos(-) + 4cos(-) + 2)sin(---)

atan

2 2 12

%pi +-+ hpi 4+—+ x 4
(sin(---) - \13 cos(---) + 2\[3 )sin(-)
12 12 2

x 2 %pi +-+ %pi 44—+

x 2

(2cos(-) - 2)sin(-—-) + (- 2\13 cos(---) + 4\|3 )cos(-)

2 12 12

+—+ %pi
2\ |3 cos(---)
12

x 2
sin(-)
2

x 4 x 2 %pi
(cos(-) + 2cos(-) + 1)sin(---)
2 2 12

+-+ %pi 4+—+ x 4 +—+ %pi x 2
(= \13 cos(-—=) + 2\[|3 )cos(-) - 2\|3 cos(---)cos(-)
12 2 12 2

+-+ %pi 4+—+
- \I3 cos(---) - 2\I3
12

+=+ %pi %pi x 4
(\I3 sin(---) + cos(---))sin(-)
12 12 2

+-+ x 2 +-+ %pi %pi x 2

(2\13 cos(-) - 2\[|3 )sin(---) + 2cos(---)cos(-)
2 12 12 2
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2



%pi

- 2cos(---)
12
*
x 2
sin(-)
2
+
4+-+ bq X
- 8\13 cos(-)sin(-)
2 2
+
+-+ x 4 +-+ x 2 +-+ %pi %pi x 4
(\I3 cos(-) + 2\I3 cos(-) + \I3 )sin(---) + cos(---)cos(-)
2 2 12 12 2
+
%pi x 2 %pi
2cos(---)cos(-) + cos(---)
12 2 12
hpi x 4 x 2 %pi x 2
- 2sin(---)sin(-) + (- 4cos(-) + 4)sin(---)sin(-)
12 2 2 12 2
+
x 4 x 2 %pi
(- 2cos(-) - 4cos(-) - 2)sin(---)
2 2 12
atan
%pi +-+ hpi 4+-+ x 4
(sin(---) - \I3 cos(---) + 2\|3 )sin(-)
12 12 2
+
x 2 %pi +-+ %pi 44—+ x 2
(2cos(-) - 2)sin(---) + (- 2\13 cos(---) + 4\|3 )cos(-)
2 12 12 2
+
+—+ %pi
2\ |3 cos(---)
12
*
x 2
sin(-)
2
+
x 4 x 2 %pi
(cos(-) + 2cos(-) + 1)sin(---)
2 2 12
+
+-+ %pi 4+—+ x 4 +-+ %pi x 2
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(= \13 cos(-==) + 2\[|3 )cos(-) - 2\|3 cos(---)cos(-)

12 2 12 2
+
+-+ %pi 4+-+
- \13 cos(---) - 2\I3
12
/
+—+ %pi hpi x 4
(\13 sin(---) + cos(---))sin(-)
12 12 2
+
+-+ x 2 +—+ %pi %pi x 2
(2\13 cos(-) - 2\[|3 )sin(---) + 2cos(---)cos(-)
2 12 12 2
+
%pi
- 2cos(---)
12
*
x 2
sin(-)
2
+
4+-+ b X +-+ x 4 +-+ x 2 +-+ %pi
8\13 cos(-)sin(-) + (\I3 cos(-) + 2\I3 cos(-) + \[|3 )sin(---)
2 2 2 2 12
+
%pi x 4 %pi x 2 %pi
cos(---)cos(-) + 2cos(---)cos(-) + cos(---)
12 2 12 2 12
%pi x 4 x 2 %pi x 2
2sin(---)sin(-) + (4cos(-) - 4)sin(---)sin(-)
12 2 2 12 2
+
x 4 x 2 %pi
(2cos(-) + 4cos(-) + 2)sin(---)
2 2 12
atan
%pi +-+ %pi 4+—+ x 4
(sin(---) - \I3 cos(-—-) - 2\I3 )sin(-)
12 12 2
+
x 2 %pi +—+ %pi 4+—+ x 2
(2cos(-) - 2)sin(---) + (- 2\|3 cos(---) - 4\I3 )cos(-)
2 12 12 2
+
+-+ %pi

2\ |3 cos(---)
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12

*
x 2
sin(-)
2
+
x 4 x 2 %pi
(cos(-) + 2cos(-) + 1)sin(---)
2 2 12
+
+-+ %pi 4+-+ x 4 +-+ hpi x 2
(= \13 cos(-—=) - 2\[|3 )cos(-) - 2\|3 cos(-—-)cos(-)
12 2 12 2
+
+—+ %pi 4+—+
= \I3 cos(---) + 2\I3
12
/
+—+ %pi %pi x 4
(\I3 sin(---) + cos(---))sin(-)
12 12 2
+
+—+ x 2 +—+ %pi %pi x 2
(2\13 cos(-) - 2\|3 )sin(---) + 2cos(---)cos(-)
2 12 12 2
+
%pi
- 2cos(---)
12
*
x 2
sin(-)
2
+
4+-+ X X
- 8\|3 cos(-)sin(-)
2 2
+
+=+ x 4 +-+ x 2 +-+ %pi %pi x 4
(\I3 cos(-) + 2\|3 cos(-) + \I3 )sin(---) + cos(---)cos(-)
2 2 12 12 2
+
%pi x 2 %pi
2cos(---)cos(-) + cos(---)
12 2 12
%pi x 4 x 2 %pi x 2
- 2sin(---)sin(-) + (- 4cos(-) + 4)sin(---)sin(-)
12 2 2 12 2
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(_

atan

x 4 x 2 %pi
2cos(-) - 4cos(-) - 2)sin(---)

2 2 12
%pi +—+ %pi 4+-+ X 4
(sin(---) - \I3 cos(---) - 2\I3 )sin(-)
12 12 2
+
x 2 hpi +-+ %pi 4+-+ x 2
(2cos(-) - 2)sin(-—-) + (- 2\13 cos(---) - 4\|3 )cos(-)
2 12 12 2
+
+-+ %pi
2\13 cos(---)
12
*
x 2
sin(-)
2
+
x 4 x 2 %pi
(cos(-) + 2cos(-) + 1)sin(---)
2 2 12
+
-+ %pi 4+-+ x 4 -+ hpi x 2
(- \13 cos(-—=) - 2\[|3 )cos(-) - 2\|3 cos(-—-)cos(-)
12 2 12 2
+
+-+ %pi 4+—+
- \I3 cos(---) + 2\|3
12
+-+ %pi hpi x 4
(\13 sin(---) + cos(---))sin(-)
12 12 2
+
+-+ x 2 +—+ %pi %pi x 2
(2\13 cos(-) - 2\[|3 )sin(---) + 2cos(---)cos(-)
2 12 12 2
+
%pi
- 2cos(---)
12
*
x 2
sin(-)
2
+
4+—+ x X +-+ x 4 +-+ x 2 +-+ hpi



--R 8\I3 cos(-)sin(-) + (\I|3 cos(-) + 2\[3 cos(-) + \|3 )sin(---)
--R 2 2 2 2 12

--R %pi x 4 %pi x 2 %pi
--R cos(---)cos(-) + 2cos(---)cos(-) + cos(---)
--R 12 2 12 2 12

--R 4+-+ X X
--R 8\ |3 cos(-)sin(-)
--R 2 2

--R 4+-+ x 4 4+-+ x 2 4+-+ x 2 4+-+ x 4
--R 6\I3 sin(-) + (12\[3 cos(-) - 12\|3 )sin(-) + 6\[3 cos(-)
--R 2 2 2 2

--R 44—+  x 2 4+—+

--R 12\13 cos(-) + 6\I3

--R 2

--R Type: Union(Expression(Integer),...)

--R Type: Expression(Integer)

--S 369 of 504
r0171:= 1/2*atan(tan(x)/(1-%i)"~(1/2))/(1-%i)~(1/2)+_
1/2*atan(tan(x)/(1+%1)~(1/2))/(1+%1i) "~ (1/2)

--R 2\11 - %i \I1 + %i
--R Type: Expression(Complex(Integer))
--E 369

--S 370 of 504

a0171:= integrate(t0171,x)
--R
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(236)

44—+ %pi
\12 cos(---)
8

log
x 4 +=—+4+—+ %pi X x 3
sin(-) + 2\|2 \|2 cos(---)cos(-)sin(-)
2 8 2 2

44+-+2 x 2 %pi 2 44+-+2 %pi 2
(2\12 cos(-) sin(---) + (2\|2 cos(---)
2 8 8

+-+4+-+ %pi x 3 X x 4
- 2\|2 \|2 cos(---)cos(-) sin(-) + cos(-)
8 2 2 2

x 4 x 2 x 2 x 4
sin(-) + (- 2cos(-) - 2)sin(-) + cos(-) +
2 2 2 2

4+-+ %pi
\12 cos(---)
8

log
x 4 +=+4+—+ %pi bq x 3
sin(-) - 2\[2 \I2 cos(---)cos(-)sin(-)
2 8 2 2

4+-+2 x 2 %pi 2 4+-+2 %
(2\|2 cos(-) sin(---) + (2\|2 cos(-
2 8

x 2
sin(-)
2

+—+4+—+ %pi x 3 bq x 4
2\12 \|2 cos(---)cos(-) sin(-) + cos(-)
8 2 2 2

X 4 x 2 x 2 b4

sin(-) + (- 2cos(-) - 2)sin(-) + cos(-)
2 2 2 2
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x 2 x 2
- 2)cos(-) )sin(-)
2 2

x 2
2cos(-) + 1
2

pi 2 x 2
-=) - 2)cos(-) )
8 2

4 x 2
+ 2cos(-) + 1
2



--R 4+-+ %pi
--R 2\12 sin(---)
--R 8

--R 44—+ x hpi X

--R 2\|2 cos(-)sin(---)sin(-)

--R 2 8 2

--R atan(--- -— -— -— -)
--R +-+ x 2 4+—+ %pi X X +-+ x 2
--R \l2 sin(-) - 2\|2 cos(---)cos(-)sin(-) - \I[2 cos(-)
--R 2 8 2 2 2

--R 4+-+ X %pi X

--R 2\ |2 cos(-)sin(---)sin(-)

--R 4+-+ %pi 2 8 2

--R - 2\|2 sin(---)atan(-——————=————— -
--R 8 +-+ x 2 4+-+ %pi X x +-+ x 2
--R \l2 sin(-) + 2\|2 cos(---)cos(-)sin(-) - \I[2 cos(-)
--R 2 8 2 2 2

--R +—+

--R 4\12

--R Type: Union(Expression(Integer),...)
--E 370

--S 371 of 504
m0171:= a0171-r0171

--R fm———— + 4= +4+—+ %Pi
--R \I1 - %i \I1 + %i \I|2 cos(---)

--R x 4 +-+4+-+ %pi X x 3
--R sin(-) + 2\12 \|2 cos(---)cos(-)sin(-)
--R 2 8 2 2

--R 4+-+2 x 2 %pi 2 4+-+2 %pi 2 x 2 x 2
--R (2\|2 cos(-) sin(---) + (2\|2 cos(---) - 2)cos(-) )sin(-)
--R 2 8 8 2 2

--R +—+4+—+ %pi x 3 X x 4
--R - 2\|2 \|2 cos(---)cos(-) sin(-) + cos(-)
--R 8 2 2 2

--R x 4 x 2 x 2 x 4 x 2

--R sin(-) + (- 2cos(-) - 2)sin(-) + cos(-) + 2cos(-) + 1
--R 2 2 2 2 2
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+—————- + +-————- +4+-+ %pi
N1 = %1 \I1 + %i \|2 cos(---)
8
*
log
x 4 +-+4+—+ %pi X x 3
sin(-) - 2\12 \|2 cos(---)cos(-)sin(-)
2 8 2 2
+
4+-+2 x 2 %pi 2 4+-+2 %pi 2 x 2
(2\12 cos(-) sin(---) + (2\|2 cos(---) - 2)cos(-) )
2 8 8 2
*
x 2
sin(-)
2
+
+-+4+-+ %pi x 3 X x 4
2\ |12 \ 12 cos(-—-)cos(-) sin(-) + cos(-)
8 2 2 2
/
x 4 x 2 x 2 x 4 x 2
sin(-) + (- 2cos(-) - 2)sin(-) + cos(-) + 2cos(-) + 1
2 2 2 2 2
R + +-+ tan(x) Fomm + +-+ tan(x)
- 2\|1 + %i \|2 atan(---—------ ) - 2\I1 - %i \|2 atan(--——----- )
B + B +
\I1 - %i N1+ %
R + +-————- +4+-+ %pi
2\I1 - %i \I1 + %i \I2 sin(---)
8
*
4+—+ X %pi X
2\ |2 cos(-)sin(---)sin(-)
2 8 2
atan(--- -—- -—- -—- -)
+-+ x 2 4+-+ %pi X X +-+ x 2
\12 sin(-) - 2\|2 cos(---)cos(-)sin(-) - \|2 cos(-)
2 8 2 2 2
+o———— + F————— +4+-+ %pi
2\I1 - %i \I1 + %i \|2 sin(---)
8
*
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--R 4+-+ X %pi X
--R 2\ |2 cos(-)sin(---)sin(-)
--R 2 8 2

--R +-+ x 2 4+-+ hpi X X +—+ x 2
--R \l2 sin(-) + 2\|2 cos(---)cos(-)sin(-) - \I|2 cos(-)
--R 2 8 2 2 2

--R A1 - %1 N1+ %1 \I2
--R Type: Expression(Complex(Integer))
--E 371

--S 372 of 504
--d0171:= D(m0171,x)
--E 372

--S 373 of 504
t0172:= 1/(1+cos(x)"8)

--R Type: Expression(Integer)

--S 374 of 504

r0172:= 1/4*atan(tan(x)/(1-(-1)"(1/4))"(1/2))/(1-(-1)"(1/4))~(1/2)+_
1/4*atan(tan(x)/(1+(-1)"(1/4))~(1/2))/ (A+(-1)~(1/4))~(1/2)+_
1/4*atan(tan(x)/(1-(-1)"(3/4))~(1/2))/(1-(-1)"(3/4))~(1/2)+_
1/4*atan(tan(x)/(1+(-1)7(3/4))~(1/2))/(1+(-1)"(3/4))~(1/2)

--R | +-+ +-——+ | +-+ +-——+ | +-+ +———+
--R N2 = \[-1 +1 \NI2 +\[-1 -1 I\[2 +\|-1 +1

--R | +-+ +-——+
--R N2 - \[-1 -1
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| +-+ +-==+ | +-+ +-==+

| +-+ +———+

| +-+ +-——+ | +-+ +-——+
INT2 = \[-1 -1 I\N[2 -\|-1 +1

| +-+ +-—=+

| +-+ +———+
N2+ \[-1 +1

| +-+ | +-+ | +-+
A\ \2 \ | \ 2 \ | \ 2
tan (x)
atan(-------——-——-——-———- )
B +
| +-+ +-——+
N2 +\I-1 -1
| mmmmmm e
| +—+
A\ \l2
e I I +
| +-+ +-——+ | +-+ +———+ | +-+ +-——+
N2 - \I-1 -1 N2 -\I-1 +1 N2 +\l-1 -1
| = |- | ==
| +-+ | +—+ | +—+
\ \ 2 \ | \ 2 \ | \ 2
tan(x)
atan(------------—-————— )
o +
| +-+ +-——+

INI2 + \[-1 +1
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--R | +-+ +———+ | +-+ +-——+ | +-+ +-——+
--R N2 = \I-1 -1 N2 -\I-1 +1 |\|2 +\|[-1 -1

--R | +-+ +-——+

--R Type: Expression(Integer)

--S 375 of 504
a0172:= integrate(t0172,x)

--R  (240)

--R I3\12 + 4
--R o + atan(64 |--------- )
--R | +-+ | +—+
--R [4\12 + 4 \| 4096\]|2

--R x 8 x 2 x 6 x 4 x 4
--R sin(-) + 4cos(-) sin(-) + (6cos(-) - 2)sin(-)
--R 2 2 2 2 2

--R x 6 x 2 x 2 x 8 X 4
--R (4cos(-) + 12cos(-) )sin(-) + cos(-) - 2cos(-) + 1
--R 2 2 2 2 2

--R I3\12 + 4
--R o +2 atan(64 |--------- )
--R | +—+ | +-+
--R [4\12 + 4 \| 4096\]2

207



+-+ x 8 +-+ x 2 x 6 +-+ x 4 x 4
2\[2 sin(-) + 8\|2 cos(-) sin(-) + 12\|2 cos(-) sin(-)

2 2 2 2 2
+
+-+ x 6 x 2 +-+ x 8 +-+
8\[2 cos(-) sin(-) + 2\|2 cos(-) - 2\]|2
2 2 2
B +
| +-+
13\12 +4
Ao + atan(64 |-------—-—- )
| +-+ | +-+
lavl2 + 4 \| 4096\ |2
|-—==—==—= sin(--——-——=——-——-—————- )
4] +-+ 2
A \I2
x 8 x 2 x 6 x 4 x 4
sin(-) + 4cos(-) sin(-) + (6cos(-) - 2)sin(-)
2 2 2 2 2
+
x 6 x 2 x 2 x 8 x 4
(4cos(-) + 12cos(-) )sin(-) + cos(-) - 2cos(-) + 1
2 2 2 2 2
o + 2
| +-+
I3\I2 + 4
o +2 atan(64 |--------—- )
| +-+ | +-+
|14\2 + 4 \| 4096\|2
|-—==————= cos(———————=——mm—mmmm )
4] +-+ 2
A \I2
o ———— +
| +-+
+—+ X x 3 +—+ x 3 X [4\12 + 4
(16\12 cos(-)sin(-) - 16\|2 cos(-) sin(-)) |-————--—-
2 2 2 2 4 +-+
N \I2
o +
|+
13\I12 +4
atan(64 |----———-—- )
| +-+
\| 4096\|2
cos(——————————————————— )



x 8
2sin(-)
2

X
(8cos(-)
2

x 8
sin(-)
2

X
(6cos(-)
2

x
(4cos (=)
2

x 4

6cos(-)
2

S

(

x 2 X 6
+ 8cos(-) sin(-)
2 2

6 x 2
- 24cos(-) )sin(
2

X 2
+ (4cos(-) - 4)si
2

4 x 2
- 4cos(-) + B)s
2

6 x 4
+ 4cos(-) - 4co
2

x 2
+ 4cos(-) + 1

x 8 x 2
in(-) + 4cos(-) s
2 2

x 6 b d
4cos(-) + 12cos(-
2 2

———————— +2 atan

209

x 4
+ (12cos(-)
2

x 2 x 8
-) + 2cos(-)
2 2

x 6
n(-)
2

x 4
in(-)
2

x 2
s(-) - 4)sin(
2

+-+

x 6
in(-) + (6cos
2

2 x 2
) Jsin(-) + ¢

| +—+
I3\I2 + 4
(64 |-===————--

x 4
+ 4)sin(-)
2

x 4
+ 4cos(-)
2

X 2 X
=) + cos(-)
2 2

x 4

+ 2

8 x 6
+ 4cos(-)
2

x 4

(-) - 2)sin(-)

2

x 8

2

X 4

os(-) - 2cos(-) +1

2



| +—+ | +-+
[4\12 + 4 \| 4096\ |2
|-—=—=———- sin( - --)
4] +-+ 2
\ \ |2
+-+ x 8 +-+ x 2 x 6 +-+ x 4
2\[2 sin(-) + 8\|2 cos(-) sin(-) + 12\|2 cos(-) sin(-)
2 2 2 2
+
+-+ x 6 x 2 +-+ x 8 +-+
8\[2 cos(-) sin(-) + 2\|2 cos(-) - 2\]|2
2 2 2
B +
| +-+
[3\|2 + 4
Fommm e + atan(64 |--------—- )
| +-+ | +—+
[4\12 + 4 \| 4096\|2
|-==—=——— sin(- - -)
4] +-+ 2
\ \ |2
x 8 x 2 x 6 X 4 x 4
sin(-) + 4cos(-) sin(-) + (6cos(-) - 2)sin(-)
2 2 2 2 2
+
x 6 x 2 x 2 x 8 x 4
(4cos(-) + 12cos(-) )sin(-) + cos(-) - 2cos(-)
2 2 2 2 2
o + 2
| +-+
[3\I12 + 4
oo +2 atan(64 |------—-- )
| +-+ | +-+
14\12 + 4 \| 4096\ |2
[~ cos( - --)
4] +-+ 2
\ \ |2
| +-+
bt x x 3 +—+ x 3 X [4\12
(- 16\|2 cos(-)sin(-) + 16\|2 cos(-) sin(-)) [-—===—-—-
2 2 2 2 4]
\ |
o +



| +-+
I3\12 + 4
atan(64 |--------- )
| +-+
\| 4096\|2
cos( -—- --)
2
+
x 8 x 2 x 6 x 4 b4
2sin(-) + 8cos(-) sin(-) + (12cos(-) + 4)sin(-)
2 2 2 2 2
+
x 6 x 2 x 2 x 8 b4
(8cos(-) - 24cos(-) )sin(-) + 2cos(-) + 4cos(-)
2 2 2 2 2
/
x 8 x 2 x 6
sin(-) + (4cos(-) - 4)sin(-)
2 2 2
+
x 4 x 2 x 4
(6cos(-) - 4cos(-) + 6)sin(-)
2 2 2
+
x 6 x 4 x 2 x 2
(4cos(-) + 4cos(-) - 4cos(-) - 4)sin(-) + cos(
2 2 2 2
+
x 6 x 4 x 2
4cos(-) + 6cos(-) + 4cos(-) + 1
2 2 2
o +
| +-+
[3\I2 + 4
Fommm e + atan(64 |--------—- )
| +-+ | +-+
[4\|2 + 4 \| 4096\|2
|- cos( - --)
4| +-+ 2
\ \|2
log
x 8 x 2 x 6 x 4 x 4
sin(-) + 4cos(-) sin(-) + (6cos(-) - 2)sin(-)
2 2 2 2 2
+
x 6 x 2 x 2 x 8 b4
(4cos(-) + 12cos(-) )sin(-) + cos(-) - 2cos(-)
2 2 2 2 2
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4

4
+ 2

x 8
-)
2

4
+ 1



_________ +2 atan(64

+—+ x 8 +-+
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X X
- 8cos(-))sin(-)
2 2

6

2 +-+ x 8
)+ \|2 cos(-)
2



[4\l2 + 4 \| 4096\ |2
R sin(-—————————————m————— )
4| +-+ 2
\ \12
+-+ X x 5 +-+ x 3 +-+ X x 3
- 4\ |2 cos(-)sin(-) + (- 8\[|2 cos(-) + 8\|2 cos(-))sin(-)
2 2 2 2 2
+
+-+ x5 +-+ x 3 +-+ X X
(- 4\12 cos(-) - 8\|2 cos(-) - 4\|2 cos(-))sin(-)
2 2 2 2
B +
| +-+
[3\[2 + 4
o + atan(64 |--------- )
| +—+ | +—+
[4\12 + 4 \| 4096\|2
| == cos(————————————— )
4| +-+ 2
\ | \l2
x 8 x 2 x 6
2sin(-) + (8cos(-) - 4)sin(-)
2 2 2
x 4 x 2 x 4
(12cos(-) - 4cos(-) + 4)sin(-)
2 2 2
x 6 x 4 x 2 x 2 x 8
(8cos(-) + 4cos(-) - 24cos(-) - 4)sin(-) + 2cos(-)
2 2 2 2 2
x 6 x 4 x 2
4cos(-) + 4cos(-) + 4cos(-) + 2
2 2 2
o +
|+
I3\12 + 4
————————— + atan(64 |---------)
+—+ | +-+
4\12 + 4 \| 4096\ |2
————————— sin(-——————————----———--)
+—+ 2
\ |2
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atan

+-+ X
4\ |2 cos(-)s
2

+-=+ X
(4\12 cos(-)
2

| +—+
[4\12 + 4

4| +—+

\NONI2

+-+ x 8
\12 sin(-)
2

+-+ X
(6\12 cos(-)
2

+—+ X
(4\12 cos(-)
2

+-+ x 8
\12 cos(-)
2

b4 x b5
- 8cos(-)sin(-)
2 2

x b5

x 5 +-+ x 3 +-+ X x 3
in(-) + (8\|2 cos(-) - 8\|2 cos(-))sin(-)
2 2 2 2
5 +-+ x 3 +-+ X X
+ 8\12 cos(-) + 4\|2 cos(-))sin(-)
2 2 2
fomm +
| +-+
[3\I2 + 4
atan(64 |--------- )
| +—+
\| 4096\[2
N )
2
+-+ x 2 +-+ x 6
+ (4\12 cos(-) - 2\|2 )sin(-)
2 2
4 +-+ x 2 x 4
- 2\12 cos(-) Jsin(-)
2 2
6 +-+ x 4 +-+ x 2
+ 2\12 cos(-) + 2\|2 )sin(-)
2 2
+-+ x 6 +-+ x 2 +-+
+ 2\|2 cos(-) - 2\|2 cos(-) - \I[2
2 2
Fomm +
| +-+
[3\I2 + 4
atan(64 |-------—- )
| +-+
\| 4096\[2
s(- -== -)
2
x 3 x 3
- 16cos(-) sin(-)
2 2
X X
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(- 8cos(-) + 8cos(-))sin(-)

2

+-+ x 8
\I2 sin(-) +
2

+-+ x 4
(6\12 cos(-)
2

+-+ x 6
(4\12 cos(-)
2

+-+ x 8
\I2 cos(-) +
2

2 2

+-+ x 2 +-+ X 6
(4\12 cos(-) - 2\|2 )sin(-)
2 2

+—+ x 2 x 4
- 2\ |2 cos(-) )sin(-)
2 2

+-+ x 4 +-+ x 2
+ 2\|2 cos(-) + 2\|2 )sin(-)
2 2

+—+ X 6 +—+ x 2 +—+
2\|2 cos(-) - 2\|2 cos(-) - \|2

[3\I2 + 4
atan(64 |---—-———-- )
| +-+
\| 4096\|2

e sin(-—------- -)

+—+ b

2

x 5

- 4\|2 cos(-)sin(-)

2

+-+ X
(- 8\I2 cos(-)
2

+-+ X
(- 4\l2 cos(-)
2

2

3 +-+ X x 3
+ 8\ |2 cos(-))sin(-)
2 2

5 +-+ x 3 +-+ X X
- 8\|2 cos(-) - 4\|2 cos(-))sin(-)
2 2 2

| +-+
I3\I2 + 4
atan(64 |--------- )
| +-+
\| 4096\ (2

|-~ cos(- --- -)
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(

(

x 8
2sin(-)
2
x 4

- 12cos(-) +
2

x 6

- 8cos(-)
2

x 6
4cos(-)

+-+ X

4\ |2 cos(-)sin(-)

2

+-+ x 5
(4\12 cos(-)
2

+-+ x 8
- \12 sin(-)
2

+ (- 8cos(-)

- 4cos(-)

- 4cos(-)

x 2
2

x 2
4cos(-)
2
x 4

2

x 4

| +-+
I3\12 + 4

atan(64 |-------—- )

| +-+
\| 4096\ |2

x 5 +-+
2

+-+ x 3
+ 8\|2 cos(-)

+-+

+ (- 4\|2 cos(-)

234

+ 24cos(-)

x 6

+ 4)sin(-)

2

x 4

- 4)sin(-)

2
x 2 x 2 x 8
+ 4)sin(-) - 2cos(-)
2 2 2

x 2

- 4cos(-)

+ (8\12 cos(-)

X

2

-2

x 3 +-+ X x 3
- 8\I2 cos(-))sin(-)

2 2 2

+—+ X x
+ 4\ |2 cos(-))sin(-)
2 2

+-+

2 +-+ x 6
+ 2\ |2 )sin(-)
2



+—+
(- 6\|2 cos

+—+
(- 4\|2 cos

+—+
- 2\ 12 cos(

X x 5
8cos(-)sin(-)
2 2

+-+ x 8
\I12 sin(-)
2

+—+ x
(6\12 cos(-
2

+-+ X
(4\ 12 cos(-
2

+-+ X
2\ |2 cos(-)
2

x 4 +-+ x 2 x 4
(=) + 2\12 cos(-) )sin(-)
2 2 2
x 6 +-+ x 4 +-+ x 2 +-+ x 8
(=) - 2\12 cos(-) - 2\|2 )sin(-) - \[|2 cos(-)
2 2 2 2
x 6 +-+ x 2 +-+
=)+ 2\I|2 cos(-) + \I2
2 2
o +
| +-+
I3\I2 + 4
atan(64 |--------- )
| +—+
\| 4096\ |2
08(——=——m—mmmm e )
2
x 3 x 3 x 5 X X
+ 16cos(-) sin(-) + (8cos(-) - 8cos(-))sin(-)
2 2 2 2 2
+-+ x 2 +-+ x 6
+ (4\|2 cos(-) - 2\|2 )sin(-)
2 2
4 +-+ x 2 x 4
) - 2\|2 cos(-) )sin(-)
2 2
6 +-+ x 4 +-+ x 2 +-+ x 8
)+ 2\[2 cos(-) + 2\[2 )sin(-) + \|2 cos(-)
2 2 2
6 +—+ x 2 +—+
- 2\|2 cos(-) - \I|2
2
B +
| +-+
I3\I2 + 4
atan(64 |--------- )
| +-+
\| 4096\ |2
in(-===--mmmmmmm e )
2
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atan

AV RN

+-+
4\ 12

+-

(4\12

x 8
2sin(-)
2
X
(12cos(-)
2
x 6
(8cos (-)
2
x 6

4cos(-)
2

4\

2
X x 5 +-+ x 3 +-+ X x 3
cos(-)sin(-) + (8\|2 cos(-) - 8\|2 cos(-))sin(-)
2 2 2 2 2
+ x b5 +-+ x 3 +-+ X b4
cos(=) + 8\|2 cos(-) + 4\|2 cos(-))sin(-)
2 2 2 2
B +
| +-+
[3\[2 + 4
————t atan(64 |--------- )
| +—+
+4 \| 4096\ (2
-—== ¢08(~———————mm— )
-+ 2
2
x 2 x 6
+ (8cos(-) - 4)sin(-)
2 2
4 x 2 x 4
- 4cos(-) + 4)sin(-)
2 2
x 4 x 2 x 2 x 8
+ 4cos(-) - 24cos(-) - 4)sin(-) + 2cos(-)
2 2 2 2
x 4 x 2
+ 4cos(-) + 4cos(-) + 2
2 2
o +
|+
I3\12 + 4
+ atan(64 |--------- )
| +-+
\| 4096\|2
sin(-———————————-——————- )
2
+-+ X x b5 +-+ x 3 +-+ b4 x 3
|2 cos(-)sin(-) + (8\|2 cos(-) - 8\|2 cos(-))sin(-)
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2 2 2 2
+
+-+ x 5 +-+ x 3 +-+ X X
(4\12 cos(-) + 8\|2 cos(-) + 4\|2 cos(-))sin(-)
2 2 2 2
Fmm +
| +-+
I3\I2 + 4
Fommmmmmeo + atan(64 |--------- )
| +—+ | +—+
14\12 + 4 \| 4096\ (2
|-—==———= sin(--------——--—--mm- )
4] +-+ 2
\ \ |2
+-+ x 8 +-+ x 2 +-+ x 6
- \l2 sin(-) + (- 4\|2 cos(-) + 2\|2 )sin(-)
2 2 2
+
+-+ x 4 +-+ x 2 x 4
(- 6\|2 cos(-) + 2\|2 cos(-) )sin(-)
2 2 2
+
+-+ x 6 +-+ x 4 +-+ x 2
(- 4\|2 cos(-) - 2\I2 cos(-) - 2\|2 )sin(-)
2 2 2
+
+—+ x 8 +—+ X 6 +—+ x 2 +—+
- \l2 cos(-) - 2\|2 cos(-) + 2\|2 cos(-) + \|[2
2 2 2
B +
| +-+
[3\I2 + 4
oo + atan(64 |-------—- )
| +-+ | +-+
14\12 + 4 \| 4096\ (2
[~ cos(- - -)
4] +-+ 2
\ \ |2
X x 5 x 3 x 3
- 8cos(-)sin(-) - 16cos(-) sin(-)
2 2 2 2
x b5 X X

(- 8cos(-) + 8cos(-))sin(-)

2 2 2
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+-+ x 8 +-
\I12 sin(-) + (4\[2
2

. x 4 +
(6\12 cos(-) - 2\|
2

+ x 2 +-+
cos(-) - 2\|2
2

-+ x 2 X
2 cos(-) )sin(-)
2 2

+-+ x 6 +-+ x 4 +-

(4\12 cos(-) + 2\|
2

+—+ x 8 +-+

\I12 cos(-) + 2\[2
2

+o——————- + atan(

2 cos(-) + 2\|2
2

x 6 +-+
cos(-) - 2\|2 ¢

I3\|2 + 4
64 |-—-—————-- )
| +-+
\| 4096\|2

+-+ X x b
4\ |2 cos(-)sin(-)
2 2

+-+ x5 +

(4\12 cos(-) + 8\|
2

+-——————- + atan(

- -)
2

+-+ x 3
+ (8\12 cos(-)
2

—+ x 3 .
2 cos(-) + 4\]|2

[3\I12 + 4
64 |--—--—--- )
| +—+
\| 4096\|2

x 8 X
- 2sin(-) + (- 8cos(-)
2 2

x 4 x 2
(- 12cos(-) + 4cos(-)

238

- -)

2 x 6
+ 4)sin(-)
2

x 4
- 4)sin(-)

x 6
)sin(-)
2
4
+ x 2
)sin(-)
2
x 2 +-+
os(-) - \I|2
2
+-+ X x 3
- 8\I|2 cos(-))sin(-)
2 2
+ x x

cos(-))sin(-)
2 2



2 2 2
+
x 6 x 4 x 2 x 2 x 8
(- 8cos(-) - 4cos(-) + 24cos(-) + 4)sin(-) - 2cos(-)
2 2 2 2 2
+
x 6 x 4 x 2
- 4cos(-) - 4cos(-) - 4cos(-) -2
2 2 2
B +
| +—+
[3\12 -4
————————— + atan(64 |---------)
+—+ | +-+
a4\|2 - 4 \| 4096\|2
————————— sin(-———————————mmm———-)
+—+ 2
\l2
+-+ X x 5 +-+ x 3 +-+ X x 3
4\ |2 cos(-)sin(-) + (8\|2 cos(-) - 8\|2 cos(-))sin(-)
2 2 2 2 2
+
+-+ x 5 +-+ x 3 +-+ X X
(4\12 cos(-) + 8\|2 cos(-) + 4\|2 cos(-))sin(-)
2 2 2 2
*
B +
| +-+
I3\I2 - 4
o + atan(64 |-------—-—- )
| +-+ | +-+
[4\12 - 4 \| 4096\ |2
|-—==————= sin(--——-——=——-——-—-———- )
4| +—+ 2
\ \ |2
+
+-+ x 8 +-+ x 2 +-+ x 6
- \l2 sin(-) + (- 4\|2 cos(-) + 2\|2 )sin(-)
2 2 2
+
+-+ x 4 +-+ x 2 x 4
(- 6\|2 cos(-) + 2\|2 cos(-) )sin(-)
2 2 2
+
+-+ x 6 +-+ x 4 +-+ X 2 +-+ x 8
(- 4\I12 cos(-) - 2\I2 cos(-) - 2\|2 )sin(-) - \|2 cos(-)
2 2 2 2
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+-+ x 6

+-+ x 2

- 2\|2 cos(-) + 2\[2 cos(-) + \

2

[3\|2 -4

Fommmm e + atan(64 |---------

bd x 5
8cos(-)sin(-) + 16cos
2 2

+-+ x 8 +
\I2 sin(-) + (4\|
2

+-+ x 4

| +-+
\| 4096\ |2

x 3 x 3
(=) sin(-) + (
2 2

-+ x 2 +
2 cos(-) - 2\|
2

+-+ x 2

+-+
|2

x 5 X X
8cos(-) - 8cos(-))sin(-)
2 2 2

-+ x 6
2 )sin(-)
2

x 4

(6\12 cos(-) - 2\|2 cos(-) )sin(-)

2

+-+ x 6
(4\12 cos(-) + 2\
2

— x 6 +
2\[2 cos(-) - 2\|
2

2

+-+ x 4

|2 cos(=) + 2\
2

-+ X 2 +—
2 cos(-) - \|2

[3\|2 -4

Ao + atan(64 |-------——-

+-+ X x b5
4\ |2 cos(-)sin(-)
2 2

| +-+
\| 4096\|2

+-+ X
+ (8\|2 cos(-)

2

+-+ x 2 +-+ x 8
[2 )sin(-) + \|2 cos(-)
2 2

+

3 +-+ X x 3
- 8\I2 cos(-))sin(-)
2 2



(4\|2

x 8
2sin(-)
2

X

(12cos(-)
2

x 6
(8cos(-)
2

x 6

4cos(-)
2

4\

(4

cos(-) + 8\|2 cos(-) + 4\|2

cos(-))sin(-)

2 2 2 2
B +
| +-+
[3\I2 - 4
-———+ atan(64 |--------- )
| +—+
-4 \| 4096\12
-—== cos(-—=——--—---m—mmmm )
-+ 2
2
x 2 x 6
+ (8cos(-) - 4)sin(-)
2 2
4 x 2 x 4
- 4cos(-) + 4)sin(-)
2 2
x 4 x 2 x 2 x 8
+ 4cos(-) - 24cos(-) - 4)sin(-) + 2cos(-)
2 2 2 2
x 4 x 2
+ 4cos(-) + 4cos(-) + 2
2 2
o +
| +-+
[3\I2 - 4
+ atan(64 |--------- )
| +-+
\| 4096\|2
sin(----=-———--——--———-- )
2
+-+ X x 5 +-+ x 3 +-+ X x 3
|2 cos(-)sin(-) + (8\|2 cos(-) - 8\|2 cos(-))sin(-)
2 2 2 2 2
+-+ x b +-+ x 3 +-+ b X
\l2 cos(-) + 8\|2 cos(-) + 4\|2 cos(-))sin(-)
2 2 2 2
B +
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+-+ X
- \12 sin(-)
2

+—+
(- 6\|2 cos(

.
(- 4\ |2 cos(

+-+ X
- \12 cos(-)
2

b4 x b5
- 8cos(-)sin(-)
2 2

x 5
(- 8cos(-) + 8c
2

+-+ x 8
\12 sin(-)
2

+-+ X
(6\12 cos(-)
2

| +—+
I3\I2 - 4
atan(64 |--------- )
| +-+
\| 4096\ |2

in(- L 5

8 +=+ x 2 —
+ (- 4\|2 cos(-) + 2\|2 )sin
2

x 4 +—+ x 2 x 4
-) + 2\|2 cos(-) )sin(-)
2 2 2

X 6 +-+ x 4 +—+
-) - 2\|2 cos(-) - 2\|2 )sin(
2 2

8 +-+ x 6 +-+ x 2
- 2\ |2 cos(-) + 2\|2 cos(-)

[3\12 - 4
atan(64 |--------- )
| +-+
\| 4096\|2
s(- -— -)

x 3 x 3
- 16cos(-) sin(-)
2 2

X X
os(-))sin(-)
2 2

+—+ x 2 +-+ x 6
+ (4\|2 cos(-) - 2\I[2 )sin(-)
2 2

4 +-+ x 2 x 4

- 2\|2 cos(-) )sin(-)
2 2
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x 6
)
2

x 2
-)
2

+-+
+\|2



.
(4\12 ¢

+—+
\|2 cos

+—+
4\ 12 co

=+
(4\12 ¢

x 8
- 2sin(-)
2

X
(- 12cos(-)
2

x 6
(- 8cos(-)

x 6

+—+

x 4

os(-) + 2\|2 cos(-)

2

x 8 +-

+

2

x 6

(=) + 2\|2 cos(-) -

2

[3\1]2

-—+ atan(64 |-----

X x 5
s(-)sin(-)
2 2

x b

+ (8\12 cos(-)

+—+

|
\| 4096

+-+

x 3

os(-) + 8\I2 cos(-)

2

X
+ (- 8cos(-
2

4 b4
+ 4cos(-)
2

x 4
- 4cos(-)

2
)

2

+ 4)sin

+—+
+ 2\|2 )sin(

+-+ x 2
2\ |2 cos(-)

+-+

\ 12

x 3 +-
2
+-+ X

+ 4\ |2 cos(-
2

+-+

x 6
)
2

x 4

- 4)sin(-)

X

2

2 b4

+ 24cos(-) + 4)sin(-)

2

2

x 2
-)
2

+-+

- \Il2

+ X

2

X
))sin(-)
2

2 x 8
- 2cos(-)
2

x 3

- 8\I2 cos(-))sin(-)

2



--R - 4cos(-) - 4cos(-) - 4cos(-) -2
--R 2 2 2

--R +—+

--R 16\12

--R Type: Union(Expression(Integer),...)
--E 375

--S 376 of 504
t0173:= 1/(1-cos(x)"3)

--R Type: Expression(Integer)

--5 377 of 504

r0173:= 2/3*atan((1-(-1)~(1/3))*tan(1/2*x)/(1-(-1)"(2/3))~(1/2))/_
(1-(-1)"(2/3)) " (1/2)+2/3*atan((1+(-1) " (2/3) ) *tan(1/2*x) /_
1+ (-1)"(1/3))"(1/2)) / (1+(-1) " (1/3)) " (1/2) -sin(x) / (3-3*cos(x))

--R  (242)

--R 3+-——+ x
--R Fommm o + A\l-1 - Dtan(-)
--R | 3+-——+ 2
--R (- 2cos(x) + 2)\I\I- 1 + 1 atan(--——-—--——-——-———- )

--R | 3+-——+2 2
--R (2cos(x) - 2)\I- \I-1 + 1 atan(-—————————————————= )

--R | 3+-——+2 | 3+———+
--R sinGONI- \I- 1 + 1 \I\I-1 +1

--R | 3+-——+2 | 3+-—-+
--R (Bcos(x) - 3\I-\I-1 + 1\I\I-1 +1
--R Type: Expression(Integer)
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--E 377

--S 378 of 504
a0173:= integrate(t0173,x)

--R  (243)

--R hpi x 4 %pi x 2 hpi x 2
--R - cos(---)sin(-) + (- 2cos(---)cos(-) - 2cos(---))sin(-)
--R 12 2 12 2 12 2

--R %pi x4 hpi x 2 hpi
--R - cos(---)cos(-) + 2cos(---)cos(-) - cos(---)
--R 12 2 12 2 12

--R log

--R %pi 2 4+-+ %pi %pi 2 +—+4+-+ %pi
--R 3sin(---) + 3\|3 sin(---) + 3cos(---) + \|3 \[|3 cos(---)
--R 12 12 12 12

--R 4+-+2
--R \I3

--R x 4
--R sin(-)

--R x 2 %pi 2 44—+ x 2 hpi
--R (6cos(-) - 6)sin(-—-) + 6\|3 cos(-) sin(---)
--R 2 12 2 12

--R %pi 2 +—+4+-+ %pi 4+-+2 x 2
--R (6cos(-—=) + 2\|3 \I3 cos(-—-) + 2\|3 )cos(-)
--R 12 12 2

--R %pi 2 4+-+2
--R - 6cos(---) + 2\|[3
--R 12

--R x 2
--R sin(-)
--R 2

R Al x hpi 4+—+ pi x x
R (4\13 \13 cos(-)sin(---) - 12\|3 cos(---)cos(-))sin(-)
R 2 12 12 2 2

--R x 4 x 2 %pi 2

--R (3cos(-) + 6cos(-) + 3)sin(---)
--R 2 2 12
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+
4+—+ x 4 4+—+ %pi
(3\I3 cos(-) - 3\I3 )sin(---)
2 12
+
%pi 2 +—+4+-+ %pi 4+-+2 x 4
(Bcos(-=-) + \I3 \I3 cos(---) + \I3 )cos(-)
12 12 2
+
%pi 2 4+-42 x 2 %pi 2 +-+4+-+ hpi
(6cos(---) - 2\I3 )cos(-) + 3cos(-—-) - \I3 \I3 cos(---)
12 2 12 12
+
4+-+2
\I3
x 4 x 2 x 2 x 4 x 2
sin(-) + (2cos(-) - 2)sin(-) + cos(-) + 2cos(-) + 1
2 2 2 2 2
hpi x 4 %pi x 2 hpi x 2
cos(---)sin(-) + (2cos(---)cos(-) + 2cos(---))sin(-)
12 2 12 2 12 2
%pi x 4 %pi x 2 %pi
cos(---)cos(-) - 2cos(---)cos(-) + cos(---)
12 2 12 2 12
hpi 2 44—+ %pi %pi 2 +=+4+-+ %pi
3sin(---) + 3\|3 sin(---) + 3cos(---) + \I3 \I3 cos(---)
12 12 12 12
+
4+—+2
\I3
*
x 4
sin(-)
2
+
x 2 %pi 2 4+—+ x 2 hpi
(6cos(-) - 6)sin(---) + 6\|3 cos(-) sin(---)
2 12 2 12
+
%pi 2 +-+4+-+ %pi 4+-+2 x 2
(6cos(---) + 2\13 \I3 cos(---) + 2\|3 )cos(-)
12 12 2
+

Ypi 2 4+-+2
- Bcos(-—--) + 2\|3
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12

*
x 2
sin(-)
2
+
+—+4+-+ X %pi 4+-+ %pi X b d
(- 4\ 13 \I3 cos(-)sin(---) + 12\13 cos(---)cos(-))sin(-)
2 12 12 2 2
+
x 4 x 2 %pi 2
(3cos(-) + 6cos(-) + 3)sin(---)
2 2 12
+
4+—+ x 4 4+—+ %pi
(3\I3 cos(-) - 3\I3 )sin(---)
2 12
+
wpi 2 +-+4+-+ %pi 4+-+2 x 4
(3cos(==-) + \I3 \I3 cos(---) + \I3 )cos(-)
12 12 2
+
%pi 2 4+-+2 x 2 %pi 2 +-+4+-+ %pi
(6cos(-—-) - 2\I3 )cos(-) + 3cos(---) - \I3 \|3 cos(---)
12 2 12 12
+
4+—+2
\13
x 4 x 2 x 2 x 4 x 2
sin(-) + (2cos(-) - 2)sin(-) + cos(-) + 2cos(-) + 1
2 2 2 2 2
%pi x4 %pi x 2 hpi x 2
- cos(---)sin(-) + (- 2cos(---)cos(-) - 2cos(---))sin(-)
12 2 12 2 12 2
hpi x 4 hpi x 2 hpi
- cos(---)cos(-) + 2cos(---)cos(-) - cos(---)
12 2 12 2 12
%pi 2 4+-+ %pi %pi 2 +—+4+—+ %pi
3sin(---) - 3\|3 sin(---) + 3cos(---) - \|3 \[3 cos(---)
12 12 12 12
+
4+-+2
\I3
*
x 4
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sin(-)

2
+
x 2 %pi 2 4+-+ x 2 %pi
(6cos(-) - 6)sin(-—-) - 6\|3 cos(-) sin(---)
2 12 2 12
+
%pi 2 +-+4+—+ %pi 4+-+2 x 2
(6cos(-—=) - 2\I3 \I3 cos(-—-) + 2\|3 )cos(-)
12 12 2
+
%pi 2 4+-+2
- 6cos(---) + 2\|[3
12
*
x 2
sin(-)
2
+
+-+4+—+ X %pi 4+—+ %pi be X
(4\13 \|3 cos(-)sin(---) - 12\|3 cos(---)cos(-))sin(-)
2 12 12 2 2
+
x 4 x 2 %pi 2
(3cos(-) + 6cos(-) + 3)sin(---)
2 2 12
+
4+-+ x 4 4+-+ %pi
(= 3\I3 cos(-) + 3\I3 )sin(---)
2 12
+
%pi 2 +—+4+-+ %pi 4+-+2 x 4
(3cos(-—-) - \I3 \I3 cos(-—-) + \I3 )cos(-)
12 12 2
+
%pi 2 44-+2 x 2 %pi 2 +-+4+-+ %pi
(6cos(--=) - 2\I13 )cos(-) + 3cos(--=) + \I3 \I|3 cos(---)
12 2 12 12
+
4+-+2
\I3
X 4 x 2 x 2 X 4 x 2
sin(-) + (2cos(-) - 2)sin(-) + cos(-) + 2cos(-) + 1
2 2 2 2 2
hpi x 4 %pi x 2 hpi x 2

cos(---)sin(-) + (2cos(---)cos(-) + 2cos(---))sin(-)

12 2 12 2 12 2
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hpi x 4 %pi x 2 %pi

cos(---)cos(-) - 2cos(-—--)cos(-) + cos(---)
12 2 12 2 12
log
wpi 2 4+-+ %pi hpi 2 +-+4+—+ %pi
3sin(---) - 3\I3 sin(---) + 3cos(---) - \[3 \[|3 cos(---)
12 12 12 12
+
4+-+2
\ I3
*
x 4
sin(-)
2
+
x 2 %pi 2 4+—+ x 2 %pi
(6cos(-) - 6)sin(---) - 6\|3 cos(-) sin(---)
2 12 2 12
+
%pi 2 +-+4+-+ %pi 4+-+2 x 2
(6cos(-—=) - 2\13 \I3 cos(---) + 2\I3 )cos(-)
12 12 2
+

%pi 2 4+-+2
- Bcos(-—--) + 2\|[3

12
*
x 2
sin(-)
2
+
+-+4+—+ X hpi 4+-+ %pi X X
(- 4\13 \I3 cos(-)sin(---) + 12\|3 cos(---)cos(-))sin(-)
2 12 12 2 2
+
x 4 x 2 %pi 2
(3cos(-) + 6cos(-) + 3)sin(---)
2 2 12
+
4+—+ x 4 4+—+ %pi
(= 3\13 cos(-) + 3\I3 )sin(---)
2 12
+
wpi 2 +-+4+-+ %pi 4+-+2 x 4
(3cos(---) - \I3 \I3 cos(---) + \I3 )cos(-)
12 12 2
+
%pi 2 4+-+2 x 2 %pi 2 +=t+4+—+ hpi

(6cos(---) - 2\I3 )cos(-) + 3cos(-—-) + \[|3 \|3 cos(---)
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12 2 12 12
+
4+-+2
\I3
/
x 4 x 2 x 2 x 4 x 2
sin(-) + (2cos(-) - 2)sin(-) + cos(-) + 2cos(-) +
2 2 2 2 2
%pi x 4 x 2 %pi x 2
2sin(---)sin(-) + (4cos(-) + 4)sin(---)sin(-)
12 2 2 12 2
+
x 4 x 2 %pi
(2cos(-) - 4cos(-) + 2)sin(---)
2 2 12
atan
%pi +-+ %pi 4+-+ x 4
(8sin(---) + \I3 cos(---) + 2\|3 )sin(-)
12 12 2
+
x 2 %pi +-+ %pi 4+—+ x 2
(6cos(-) - 6)sin(---) + (2\13 cos(---) + 4\|3 )cos(-)
2 12 12 2
+
+-+ %pi
- 2\|3 cos(---)
12
*
x 2
sin(-)
2
+
x 4 x 2 %pi
(3cos(-) + 6cos(-) + 3)sin(---)
2 2 12
+
+=+ hpi 4+-+ x 4 +-+ %pi x 2
(\I3 cos(-=-) + 2\13 Jcos(-) + 2\[|3 cos(---)cos(-)
12 2 12 2
+
+-+ %pi 4+-+
\I3 cos(---) - 2\I3
12
/
+-+ %pi %pi x 4
(\I3 sin(---) - 3cos(---))sin(-)
12 12 2
+
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+=+ x 2 +—+ %pi %pi x 2
(2\13 cos(-) - 2\|3 )sin(---) - 6cos(---)cos(-)

2 12 12 2
+
%pi
6cos(-—-)
12
*
x 2
sin(-)
2
+
4+-+ X b
- 8\13 cos(-)sin(-)
2 2
+
+-+ x 4 +-+ x 2 +-+ %pi hpi x 4
(\I3 cos(-) + 2\I3 cos(-) + \I3 )sin(---) - 3cos(---)cos(-)
2 2 12 12 2
+
hpi x 2 %pi
- 6cos(---)cos(-) - 3cos(---)
12 2 12
%pi x 4 x 2 %pi x 2
- 2sin(---)sin(-) + (- 4cos(-) - 4)sin(---)sin(-)
12 2 2 12 2
+
x 4 x 2 %pi
(- 2cos(-) + 4cos(-) - 2)sin(---)
2 2 12
atan
%pi +—+ %pi 4+-+ x 4
(8sin(---) + \I3 cos(---) + 2\|3 )sin(-)
12 12 2
+
x 2 %pi +—+ %pi 4+—+ x 2
(6cos(-) - 6)sin(---) + (2\13 cos(---) + 4\|3 )cos(-)
2 12 12 2
+
+-+ %pi
- 2\13 cos(---)
12
*
x 2
sin(-)
2
+
x 4 x 2 %pi
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(3cos(-) + 6cos(-) + 3)sin(---)

2 2 12
+
+-+ %pi 4+-+ x 4 +-+ %pi x 2
(\I3 cos(-—=) + 2\[|3 )cos(-) + 2\|3 cos(-—--)cos(-)
12 2 12 2
+
+—+ %pi 4+-+
\13 cos(---) - 2\|3
12
/
+-+ %pi %pi x 4
(\I3 sin(---) - 3cos(---))sin(-)
12 12 2
+
+-+ x 2 +-+ %pi %pi x 2
(2\13 cos(-) - 2\|3 )sin(---) - 6cos(---)cos(-)
2 12 12 2
+
%pi
6cos(——-)
12
*
x 2
sin(-)
2
+
4+-+ X X +-+ x 4 +—+ x 2 +-+ %pi
8\I3 cos(-)sin(-) + (\I3 cos(-) + 2\I[3 cos(-) + \I3 )sin(---)
2 2 2 2 12
+
%pi x 4 %pi x 2 %pi
- 3cos(---)cos(-) - 6cos(---)cos(-) - 3cos(---)
12 2 12 2 12
%pi x 4 x 2 %pi x 2
2sin(---)sin(-) + (4cos(-) + 4)sin(---)sin(-)
12 2 2 12 2
+
x 4 x 2 %pi
(2cos(-) - 4cos(-) + 2)sin(---)
2 2 12
atan
%pi +-+ %pi 4+-+ x 4
(3sin(---) + \I3 cos(---) - 2\I3 )sin(-)
12 12 2
+
x 2 %pi +—+ %pi 4+-+ x 2

(6cos(-) - 6)sin(-—--) + (2\13 cos(-—--) - 4\|3 )cos(-)
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+
+-+ %pi
- 2\|3 cos(---)
12
*
x 2
sin(-)
2
+
x 4 x 2 %pi
(3cos(-) + 6cos(-) + 3)sin(---)
2 2 12
+
+-+ %pi 44—+ x 4 +-+ %pi x 2
(\I3 cos(-—-) - 2\[3 )cos(-) + 2\I3 cos(---)cos(-)
12 2 12 2
+
+-+ %pi 4+-+
\13 cos(---) + 2\|3
12
+-+ %pi %pi x 4
(\I3 sin(---) - 3cos(---))sin(-)
12 12 2
+
+-+ x 2 +-+ %pi %pi x 2
(2\I3 cos(-) - 2\I3 )sin(---) - 6cos(---)cos(-)
2 12 12 2
+
%pi
6cos(---)
12
*
x 2
sin(-)
2
+
4+-+ X X
- 8\13 cos(-)sin(-)
2 2
+
+=+ x 4 +—+ x 2 +-+ %pi %pi x 4
(\I3 cos(-) + 2\I3 cos(-) + \I3 )sin(---) - 3cos(---)cos(-)
2 2 12 12 2
+
hpi x 2 %pi
- 6cos(---)cos(-) - 3cos(---)
12 2 12

253



hpi x 4 x 2 %pi x 2
- 2sin(---)sin(-) + (- 4cos(-) - 4)sin(---)sin(-)

12 2 2 12 2
+
x 4 x 2 %pi
(- 2cos(-) + 4cos(-) - 2)sin(---)
2 2 12
atan
%pi +-+ %pi 4+-+ x 4
(8sin(---) + \13 cos(---) - 2\|3 )sin(-)
12 12 2
+
x 2 %pi +-+ %pi 4+—+ x 2
(6cos(-) - 6)sin(---) + (2\13 cos(---) - 4\|3 )cos(-)
2 12 12 2
+
+-+ hpi
- 2\|3 cos(---)
12
*
x 2
sin(-)
2
+
x 4 x 2 %pi
(3cos(-) + 6cos(-) + 3)sin(---)
2 2 12
+
+-+ %pi 44—+ x 4 +-+ %pi x 2
(\I3 cos(-=-) - 2\13 Jcos(-) + 2\|3 cos(---)cos(-)
12 2 12 2
+
+-+ %pi 4+-+
\I3 cos(---) + 2\|3
12
/
+—+ %pi %pi x 4
(\I3 sin(---) - 3cos(---))sin(-)
12 12 2
+
+-+ x 2 +—+ %pi %pi x 2
(2\13 cos(-) - 2\I3 )sin(---) - 6cos(---)cos(-)
2 12 12 2
+
%pi
6cos(——-)
12
*
x 2
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--R sin(-)
--R 2

--R 4+-+ X X +-+ x 4 +-+ x 2 +-+ %pi
--R 8\I3 cos(-)sin(-) + (\I3 cos(-) + 2\I[3 cos(-) + \|3 )sin(---)
--R 2 2 2 2 12

--R hpi x 4 %pi x 2 %pi
--R - 3cos(---)cos(-) - 6cos(---)cos(-) - 3cos(---)
--R 12 2 12 2 12

--R 4+-+ X X
--R - 8\13 cos(-)sin(-)
--R 2 2

--R 4+-+ x 4 4+-+ X 2 4+-+ X 2 4+-+ x 4
--R 6\I3 sin(-) + (12\|3 cos(-) + 12\|3 )sin(-) + 6\[3 cos(-)
--R 2 2 2 2

--R 4+-+ x 2 4+-+

--R - 12\13 cos(-) + 6\I[3

--R 2

--R Type: Union(Expression(Integer),...)
--E 378

--S 379 of 504
t0174:= 1/(1-cos(x)"6)

--R Type: Expression(Integer)

--5 380 of 504
r0174:= 1/3*atan(tan(x)/(1+(-1)"(1/3))"(1/2))/(1+(-1)"(1/3))~(1/2)+_
1/3*atan(tan(x)/(1-(-1)"(2/3))"(1/2))/(1-(-1)"(2/3)) " (1/2)-1/3*cot (x)

--R | 3+———+ tan(x) | 3+-——+2 tan(x)
--R \I\I-1 + 1 atan(-——————----————- Y +\|- \|-1 + 1 atan(----————————-



--R | 3+-——+2 | 3+——-+
--R - cotGONI-\I-1 +1\N\I-1 +1

--R | 3+———+2 | 3+———+

--R 3A\[-\I-1 +1\\I-1 +1

--R Type: Expression(Integer)
--E 380

--S 381 of 504
a0174:= integrate(t0174,x)

--R (246)

--R hpi x 8 %pi x 2 x 6
--R cos(---)sin(-) + 4cos(---)cos(-) sin(-)
--R 12 2 12 2 2

--R %pi x 4 %pi x 4
--R (6cos(---)cos(-) - 2cos(---))sin(-)
--R 12 2 12 2

--R %pi x 6 %pi x 2 x 2 %pi x 8
--R (4cos(---)cos(-) + 12cos(---)cos(-) )sin(-) + cos(---)cos(-)
--R 12 2 12 2 2 12 2

--R %pi x 4 hpi
--R - 2cos(-=--)cos(-) + cos(---)
--R 12 2 12

--R log

--R %pi 2 4+—+ %pi hpi 2 4+-+2 x 8
--R (sin(---) + 2\|3 sin(---) + cos(---) + \|3 )sin(-)
--R 12 12 12 2

--R x 2 %pi 2 4+—+ x 2 %pi
--R 4cos(-) sin(---) + 8\|3 cos(-) sin(---)
--R 2 12 2 12

--R %pi 2 4+-+2 x 2
--R (4cos(--=) + 4\I|3 )cos(-)
--R 12 2

--R x 6

--R sin(-)

--R x 4 %pi 2 4+-+ x 4 %pi
--R (6cos(-) - 2)sin(---) + 12\|3 cos(-) sin(---)
--R 2 12 2 12
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+
%pi 2 4+-+2 x 4 %pi 2 4+-+2
(6cos(-—=) + 6\I|3 )cos(-) - 2cos(-—-) + 2\]|3
12 2 12
x 4
sin(-)
2
4+-+ %pi X x 3
16\ |3 cos(---)cos(-)sin(-)
12 2 2
x 6 x 2 %pi 2 4+-+ x 6 %pi
(4cos(-) + 12cos(-) )sin(---) + 8\|3 cos(-) sin(---)
2 2 12 2 12
+
%pi 2 4+-+2 x 6 wpi 2 4+-+2 x 2
(4cos(——-) + 4\|3 )cos(-) + (12cos(---) - 12\I3 )cos(-)
12 2 12 2
x 2
sin(-)
2
4+-+ hpi x 3 X
- 16\ |3 cos(---)cos(-) sin(-)
12 2 2
x 8 x 4 pi 2
(cos(-) - 2cos(-) + 1)sin(---)
2 2 12
4+-+ x 8 4+-+ %pi hpi 2 4+-+2 x 8
(2\13 cos(-) - 2\I3 )sin(---) + (cos(---) + \I3 )cos(-)
2 12 12 2
%pi 2 4+-+2 x 4 %pi 2 4+-+2
(- 2cos(--=) + 2\|3 )cos(-) + cos(-—--) + \|3
12 2 12
x 8 x 2 x 6
sin(-) + (4cos(-) - 4)sin(-)
2 2 2
x 4 x 2 x 4
(6cos(-) - 4cos(-) + 6)sin(-)
2 2 2
x 6 x 4 x 2 x 2 x 8 x 6
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--R (4cos(-) + 4cos(-) - 4cos(-) - 4)sin(-) + cos(-) + 4cos(-)

--R 2 2 2 2 2

--R x 4 x 2
--R 6cos(-) + 4cos(-) + 1
--R 2 2

--R %pi x 8 hpi x 2 X 6
--R - cos(---)sin(-) - 4cos(---)cos(-) sin(-)
--R 12 2 12 2 2

--R %pi X 4 %pi x 4
--R (- 6cos(---)cos(-) + 2cos(---))sin(-)
--R 12 2 12 2

--R %pi x 6 %pi x 2 x 2 %pi x 8
--R (- 4cos(---)cos(-) - 12cos(-—-)cos(-) )sin(-) - cos(-—-)cos(-)
--R 12 2 12 2 2 12 2

--R %pi x 4 %pi
--R 2cos(---)cos(-) - cos(---)
--R 12 2 12

--R log

--R %pi 2 4+-+ %pi %pi 2 4+-+2 x 8
--R (sin(---) + 2\|3 sin(---) + cos(---) + \|3 )sin(-)
--R 12 12 12 2

--R x 2 %pi 2 4+-+ x 2 hpi
--R 4cos(-) sin(---) + 8\|3 cos(-) sin(---)
--R 2 12 2 12

--R %pi 2 4+-+2 x 2
--R (4cos(---) + 4\|3 )cos(-)
--R 12 2

--R x 6
--R sin(-)

--R x 4 %pi 2 4+—+ x 4 %pi
--R (6cos(-) - 2)sin(---) + 12\|3 cos(-) sin(---)
--R 2 12 2 12

--R %pi 2 4+-+2 x 4 %pi 2 4+-+2
--R (6cos(---) + 6\I3 )Dcos(-) - 2cos(---) + 2\I|3
--R 12 2 12

--R x 4

--R sin(-)
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4+-+ %pi X x 3
- 16\ |3 cos(---)cos(-)sin(-)
12 2 2
x 6 x 2 %pi 2 4+-+ x 6 %pi
(4cos(-) + 12cos(-) )sin(---) + 8\|3 cos(-) sin(---)
2 2 12 2 12
+
%pi 2 4+-+2 x 6 %pi 2 4+-+2 x 2
(4cos(-—=) + 4\|3 )cos(-) + (12cos(---) - 12\|3 )cos(-)
12 2 12 2
*
x 2
sin(-)
2
4+-+ %pi x 3 X x 8 x 4 %pi 2
16\ |3 cos(---)cos(-) sin(-) + (cos(-) - 2cos(-) + 1)sin(---)
12 2 2 2 2 12
4+-+ x 8 4+-+ %pi wpi 2 4+-+2 x 8
(2\13 cos(-) - 2\I3 )sin(-—-) + (cos(---) + \I3 )cos(-)
2 12 12 2
%pi 2 4+-+2 x 4 %pi 2 4+-+2
(- 2cos(-=-) + 2\|3 )cos(-) + cos(---) + \|[3
12 2 12
x 8 x 2 x 6
sin(-) + (4cos(-) - 4)sin(-)
2 2 2
x 4 x 2 x 4
(6cos(-) - 4cos(-) + 6)sin(-)
2 2 2
x 6 x 4 x 2 x 2 x 8 x 6
(4cos(-) + 4cos(-) - 4cos(-) - 4)sin(-) + cos(-) + 4cos(-)
2 2 2 2 2 2
X 4 x 2
6cos(-) + 4cos(-) + 1
2 2
hpi x 8 %pi x 2 X 6

cos(---)sin(-) + 4cos(---)cos(-) sin(-)

12 2 12 2 2
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%pi x 4 hp
(6cos(---)cos(-) - 2cos(--
12 2 1
+
%pi x 6 %
(4cos(---)cos(-) + 12cos(-
12 2
+
%pi x 4 hp
- 2cos(---)cos(-) + cos(--
12 2 1
log

%pi 2 4+—+
(sin(---) - 2\[3 sin(
12

x 2 %pi 2
4cos(-) sin(---)
2 12

%pi 2 4+-
(4cos(---) + 4\|3
12

x 6
sin(-)

x 4
(6cos(-) - 2)sin(
2

%pi 2 4+-
(6cos(---) + 6\I3
12

x 4
sin(-)
2

4+—+ %pi X
16\ |3 cos(---)cos(-)si
12 2

x 6
(4cos(-) + 12cos(
2

%pi 2 4+-+2

i x 4
-))sin(-)
2 2
pi x 2 x 2 %pi x 8
--)cos(-) )sin(-) + cos(---)cos(-)
12 2 2 12 2
i
-)
2
%pi %pi 2 4+-+2 x 8
--=) + cos(---) + \|3 )sin(-)
12 12 2
4+—+ x 2 %pi
- 8\13 cos(-) sin(---)
2 12
+2 x 2
Ycos(-)
2
%pi 2 4+-+ x 4 %pi
---) - 12\|3 cos(-) sin(---)
12 2 12
+2 x 4 %pi 2 4+-+2
Ycos(-) - 2cos(---) + 2\|3
2 12
x 3
n(-)
2
x 2 hpi 2 4+-+ x 6 %pi
-) J)sin(---) - 8\I3 cos(-) sin(---)
2 12 2 12
x 6 %pi 2 4+-+2
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(4cos(---) +
12

x 2
sin(-)
2

4+-+ %pi
- 16\ |3 cos(-—-
12

x 8
(cos(-)
2

- 2cos

4+-+ x 8
(- 2\13 cos(-)
2

%pi 2
(- 2cos(---) +
12

x 8
sin(-)
2

+ (4cos

x 4
(6cos (-)
2

- 4co

x 6
(4cos(-)
2

+ 4co

x 4
6cos(-)
2

+ 4cos

%pi x 8
- cos(---)sin(-) -
12 2

%pi x 4
(- 6cos(---)cos(-)
12 2

%pi x 6
(- 4cos(---)cos(-)
12 2

4\|3 )cos(-) + (12cos(---) - 12\|3 )cos(-)
2 12 2
x 3 b4
Jcos(-) sin(-)
2 2
x 4 %pi 2
(=) + 1)sin(---)
2 12
4+-+ %pi %pi 2 4+-+2 x 8
+ 2\13 )sin(---) + (cos(---) + \I3 )cos(-)
12 12 2
4+-+2 x 4 %pi 2 4+-+2
2\13 )Jcos(-) + cos(---) + \I3
2 12
x 2 x 6
(-) - 4)sin(-)
2 2
x 2 x 4
s(-) + 6)sin(-)
2 2
x 4 x 2 x 2 x 8 x 6
s(-) - 4cos(-) - 4)sin(-) + cos(-) + 4cos(-)
2 2 2 2 2
x 2
=) +1
2
%pi x 2 x 6
4cos(---)cos(-) sin(-)
12 2 2
hpi x 4
+ 2cos(---))sin(-)
12 2
%pi x 2 x 2 %pi x 8
- 12cos(---)cos(-) )sin(-) - cos(---)cos(-)
12 2 2 12 2
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+
hpi x 4 %pi
2cos(--=)cos(-) - cos(---)
12 2 12
log
%pi 2 4+-+ hpi hpi 2 4+-+2 x 8
(sin(---) - 2\|3 sin(---) + cos(---) + \|3 )sin(-)
12 12 12 2
+
x 2 %pi 2 4+—+ x 2 hpi
4cos(-) sin(---) - 8\I[3 cos(-) sin(---)
2 12 2 12
+
%pi 2 4+-+2 x 2
(4cos(--=) + 4\|3 )cos(-)
12 2
*
x 6
sin(-)
2
+
x 4 %pi 2 4+-+ x 4 %pi
(6cos(-) - 2)sin(---) - 12\|3 cos(-) sin(---)
2 12 2 12
+
%pi 2 4+-+2 x 4 %pi 2 4+-+2
(6cos(---) + 6\I3 )Jcos(-) - 2cos(---) + 2\|3
12 2 12
*
x 4
sin(-)
2
+
4+—+ %pi X x 3
- 16\ 13 cos(---)cos(-)sin(-)
12 2 2
+
x 6 x 2 %pi 2 4+—+ x 6 %pi
(4cos(-) + 12cos(-) )sin(---) - 8\I3 cos(-) sin(---)
2 2 12 2
+
%pi 2 4+-+2 x 6 %pi 2 44-+2
(4cos(-—=) + 4\|3 )cos(-) + (12cos(---) - 12\[3
12 2 12
*
x 2
sin(-)
2
+
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4+-+
16\13 ¢

4+~
(- 2\13

(- 2cos

x 8
sin(-)
2

X
(6cos (-
2

X
(4cos (-
2

x
6cos(-)
2

%pi

%pi x 3 X x 8 x 4

os(---)cos(-) sin(-) + (cos(-) - 2cos(-) + 1)sin(---)

12 2 2 2 2

+ x 8 4+-+ %pi %pi 2 4+-+2

cos(-) + 2\|3 )sin(---) + (cos(---) + \|3 )cos(-)

2 12 12

%pi 2 4+-+2 x 4 %pi 2 4+-+2
(-===) + 2\|3 )cos(-) + cos(---) + \I[3
12 2 12

x 2 x 6
+ (4cos(-) - 4)sin(-)
2 2

4 x 2 x 4
) - 4cos(-) + 6)sin(-)
2 2

6 x 4 x 2 x 2 x 8

) + 4cos(-) - 4cos(-) - 4)sin(-) + cos(-) + 4cos(-)

2 2 2 2
4 x 2
+ 4cos(-) + 1

2

x 8 x 2 %pi x 6

- 2sin(---)sin(-) - 8cos(-) sin(---)sin(-)

12

x 4

(- 12cos(-)

2

x 6

(- 8cos(-)

2

x 8

(- 2cos(-)

atan

2

%pi
cos(——-
12

2 2 12 2

%pi x 4
+ 4)sin(---)sin(-)
12 2

x 2 %pi x 2
- 24cos(-) )sin(---)sin(-)
2 12 2

x 4 %pi

+ 4cos(-) - 2)sin(---)
2 12

x 8 %pi x 2 %pi x 6
)sin(-) + (4cos(---)cos(-) - 2cos(---))sin(-)
2 12 2 12 2

%pi 44—+ x x5
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(4cos(-)sin(---) - 4\|3 cos(-))sin(-)

2 12 2 2
+
%pi x 4 %pi x 2 x 4
(6cos(---)cos(-) - 2cos(---)cos(-) )sin(-)
12 2 12 2 2
+
x 3 X %pi 4+-+ x 3 x 3
((8cos(-) - 8cos(-))sin(---) - 8\|3 cos(-) )sin(-)
2 2 12 2 2
+
%pi x 6 hpi x 4 %pi x 2
(4cos(---)cos(-) + 2cos(---)cos(-) + 2cos(---))sin(-)
12 2 12 2 12 2
+
x5 x 3 X %pi 4+-+ x5
(4cos(-) + 8cos(-) + 4cos(-))sin(---) - 4\|3 cos(-)
2 2 2 12 2
+
4+-+ X
4\ |3 cos(-)
2
*
X
sin(-)
2
+
hpi x 8 %pi x 6 %pi x 2 %pi
cos(-—-)cos(-) + 2cos(---)cos(-) - 2cos(---)cos(-) - cos(---)
12 2 12 2 12 2 12
%pi 44—+ x 8
(sin(---) - \13 )sin(-)
12 2
+
x 2 %pi 4+-+ x 2 4+-+ x 6
((4cos(-) - 2)sin(---) - 4\|3 cos(-) + 2\[3 )sin(-)
2 12 2 2
+
hpi x x5
- 4cos(---)cos(-)sin(-)
12 2 2
+
x 4 x 2 %pi 4+—+ x 4 4+—+ x 2
(6cos(-) - 2cos(-) )sin(---) - 6\|3 cos(-) + 2\|3 cos(-)
2 2 12 2 2
+
A4—+
- 2\I3
*
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x 4
sin(-)

%pi X
(- 8cos(---)cos(-)
12 2

x 6
(4cos(-) + 2c
2

4+-+ x 4
- 2\ |3 cos(-)
2

x 2
sin(-)

%pi X
(- 4cos(---)cos(-)
12 2

x 8 X
(cos(-) + 2cos(-)
2 2

4+-+ x 6
- 2\|3 cos(-) -2
2

%pi x 8
2sin(---)sin(-) + 8cos
12 2

x 4 hpi
(12cos(-) - 4)sin(---)
2 12

x 6 x 2
(8cos(-) + 24cos(-) )s
2 2

x 8 x 4
(2cos(-) - 4cos(-) +
2 2

atan
hpi x 8

3 %pi x
+ 8cos(---)cos(-))
12 2

x 4 hpi
os(-) + 2)sin(---)
2 12

4+-+ x 2
+ 12\[|3 cos(-) + 2
2

5 hpi x 3
- 8cos(---)cos(-)
12 2

6 x 2
- 2cos(-) - 1)sin
2

4+—+ x 4 4+-+
\I3 cos(-) - 2\I3 ¢
2

x 2 %pi x 6
(=) sin(---)sin(-)
2 12 2

x 4
sin(-)
2

%pi x 2
in(---)sin(-)
12 2
%pi

2)sin(---)
12

%pi x 2

265

x 3
sin(-)
2
44—+ x 6
- 4\|3 cos(-)
2
4+—+
\13
%pi X X
- 4cos(---)cos(-))sin(-)
12 2 2

%pi 4+—+ x 8
(-==) = \13 cos(-)
12 2

x 2 4+-+

os(-) - \I3
2

%pi x 6



cos(---)sin(-) + (4cos(---)cos(-) - 2cos(---))sin(-)

12 2 12 2 12 2
+
X %pi 4+-+ X x5
(- 4cos(-)sin(---) + 4\|3 cos(-))sin(-)
2 12 2 2
+
%pi x 4 %pi x 2 x 4
(6cos(---)cos(-) - 2cos(---)cos(-) )sin(-)
12 2 12 2 2
+
x 3 X %pi 4+—+ x 3 x 3
((- 8cos(-) + 8cos(-))sin(---) + 8\|3 cos(-) )sin(-)
2 2 12 2 2
+
hpi x 6 hpi x 4 %pi x 2
(4cos(---)cos(-) + 2cos(---)cos(-) + 2cos(---))sin(-)
12 2 12 2 12 2
+
x 5 x 3 X hpi 4+-+ x5
(- 4cos(-) - 8cos(-) - 4cos(-))sin(---) + 4\|3 cos(-)
2 2 2 12 2
+
4+-+ X
- 4\|3 cos(-)
2
*
x
sin(-)
2
+
hpi x 8 %pi x 6 hpi x 2 hp
cos(---)cos(-) + 2cos(---)cos(-) - 2cos(---)cos(-) - cos(--
12 2 12 2 12 2 1
%pi 44—+ x 8
(sin(---) - \I3 )sin(-)
12 2
+
x 2 %pi 4+-+ x 2 4+-+ x 6
((4cos(-) - 2)sin(---) - 4\|3 cos(-) + 2\|3 )sin(-)
2 12 2 2
+
%pi X x 5
4cos(---)cos(-)sin(-)
12 2 2
+
x 4 x 2 %pi 4+-+ x 4 4+-+
(6cos(-) - 2cos(-) Jsin(-—--) - 6\|3 cos(-) + 2\[3 cos(
2 2 12 2
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i
-)
2

x 2
=)
2



sin

(8cos

(

sin

(4cos

(cos(

4+
- 2\|

%pi
2sin(---)s
12

x 4
(12cos(-)
2

x 6
(8cos(-)
2

x 8
(2cos(-)

4+-+
2\ 13

x 4
)
2

%pi x 3 %pi X
(---)cos(-) - 8cos(---)cos(-))s
12 2 12 2

x 6 x 4 hpi
4cos(-) + 2cos(-) + 2)sin(---)
2 2 12

4+-+ x 4 4+-+ x 2
2\[3 cos(-) + 12\[3 cos(-) +
2 2

x 2
)
2

%pi x5 hpi x 3
(-=-)cos(-) + 8cos(---)cos(-)
12 2 12 2

x 8 x 6 x 2
-) + 2cos(-) - 2cos(-) - 1)si
2 2 2

-+ x 6 4+-+ x 4 4+-+
3 cos(-) - 2\I3 cos(-) - 2\I3
2 2

x 8 x 2 %pi x 6
in(-) + 8cos(-) sin(---)sin(-)
2 2 12 2

hpi x 4
- 4)sin(---)sin(-)
12 2

x 2 %pi x 2
+ 24cos(-) )sin(---)sin(-)

2 12 2

x4 hpi
- 4cos(-) + 2)sin(---)
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x 3
in(-)
2
4+-+ x 6
- 4\ |3 cos(-)
2
44—+
2\ 13
%pi e x
+ 4cos(---)cos(-))sin(-)
12 2 2

%pi 44—+ x 8
n(---) - \I3 cos(-)
12 2

x 2 4+-+
cos(-) - \I3
2



atan

hpi x 8 hpi x 2 hpi x 6
cos(---)sin(-) + (4cos(---)cos(-) - 2cos(---))sin(-)
12 2 12 2 12 2
+
X %pi 4+-+ b4 x5
(4cos(-)sin(---) + 4\|3 cos(-))sin(-)
2 12 2 2
+
%pi x 4 %pi x 2 x 4
(6cos(---)cos(-) - 2cos(---)cos(-) )sin(-)
12 2 12 2 2
+
x 3 X %pi 4+-+ x 3 x 3
((8cos(-) - 8cos(-))sin(---) + 8\|3 cos(-) )sin(-)
2 2 12 2 2
+
%pi x 6 hpi x 4 %pi x 2
(4cos(---)cos(-) + 2cos(---)cos(-) + 2cos(---))sin(-)
12 2 12 2 12 2
+
x5 x 3 X %pi 4+-—+ x5
(4cos(-) + 8cos(-) + 4cos(-))sin(---) + 4\|3 cos(-)
2 2 2 12 2
+
4+-+ b'd
- 4\ |3 cos(-)
2
*
X
sin(-)
2
+
hpi x 8 %pi x 6 hpi x 2 hpi
cos(--=)cos(-) + 2cos(---)cos(-) - 2cos(---)cos(-) - cos(---)
12 2 12 2 12 2 12
%pi 44—+ X 8
(sin(---) + \13 )sin(-)
12 2
+
x 2 %pi 44—+ X 2 44—+ x 6
((4cos(-) - 2)sin(---) + 4\|3 cos(-) - 2\I3 )sin(-)
2 12 2 2
+
hpi X x 5
- 4cos(---)cos(-)sin(-)
12 2 2
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+
x 4 x 2 %pi 4+-+ x 4 4+-+ x 2
(6cos(-) - 2cos(-) )sin(---) + 6\[3 cos(-) - 2\|3 cos(-)
2 2 12 2 2
+
44—+
2\ 13
*
x 4
sin(-)
2
+
%pi x 3 %pi X x 3
(- 8cos(---)cos(-) + 8cos(-—-)cos(-))sin(-)
12 2 12 2 2
+
x 6 x 4 hpi 4+-+ x 6
(4cos(-) + 2cos(-) + 2)sin(---) + 4\|3 cos(-)
2 2 12 2
+
4+-+ x4 44—+  x 2  4+—+
2\13 cos(-) - 12\I3 cos(-) - 2\I3
2 2
*
x 2
sin(-)
2
+
%pi x5 %pi x 3 %pi X X
(- 4cos(---)cos(-) - 8cos(---)cos(-) - 4cos(---)cos(-))sin(-)
12 2 12 2 12 2 2
+
x 8 x 6 x 2 %pi 4+-+ x 8
(cos(-) + 2cos(-) - 2cos(-) - 1)sin(---) + \[3 cos(-)
2 2 2 12 2
+
4+-+ x 6 4+-+ x 4 4+-+ X 2 4+-+
2\[3 cos(-) + 2\|3 cos(-) + 2\I3 cos(-) + \|[3
2 2 2
%pi x 8 x 2 %pi x 6
- 2sin(---)sin(-) - 8cos(-) sin(---)sin(-)
12 2 2 12 2
x 4 %pi x 4
(- 12cos(-) + 4)sin(---)sin(-)
2 12 2
x 6 x 2 %pi x 2

(- 8cos(-) - 24cos(-) s

in(---)sin(-)
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2 2 12 2
+
x 8 x 4 %pi
(- 2cos(-) + 4cos(-) - 2)sin(---)
2 2 12
atan
hpi x 8 %pi x 2 hpi x 6
cos(---)sin(-) + (4cos(---)cos(-) - 2cos(---))sin(-)
12 2 12 2 12 2
+
X %pi 4+—+ X x5
(- 4cos(-)sin(---) - 4\|3 cos(-))sin(-)
2 12 2 2
+
%pi x 4 hpi x 2 x 4
(6cos(---)cos(-) - 2cos(---)cos(-) )sin(-)
12 2 12 2 2
+
x 3 X %pi 4+-+ x 3 x 3
((- 8cos(-) + 8cos(-))sin(---) - 8\|3 cos(-) )sin(-)
2 2 12 2 2
+
%pi X 6 hpi x 4 %pi x 2
(4cos(---)cos(-) + 2cos(---)cos(-) + 2cos(---))sin(-)
12 2 12 2 12 2
+
x5 x 3 X %pi 4+-+ x5
(- 4cos(-) - 8cos(-) - 4cos(-))sin(---) - 4\|3 cos(-)
2 2 2 12 2
+
4+-+ X
4\ |3 cos(-)
2
*
X
sin(-)
2
+
hpi x 8 %pi x 6 hpi x 2 hpi
cos(-—=)cos(-) + 2cos(---)cos(-) - 2cos(---)cos(-) - cos(---)
12 2 12 2 12 2 12
/
%pi 44—+ x 8
(sin(---) + \13 )sin(-)
12 2
+
x 2 %pi 4+-+ x 2 4+-+ x 6
((4cos(-) - 2)sin(---) + 4\|3 cos(-) - 2\[3 )sin(-)
2 12 2 2
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+
%pi X x5
4cos(---)cos(-)sin(-)
12 2 2
+
x 4 x 2 %pi 4+—+ x 4 4+—+ x 2
(6cos(-) - 2cos(-) )sin(---) + 6\|3 cos(-) - 2\|3 cos(-)
2 2 12 2 2
+
/—
2\ 13
*
x 4
sin(-)
2
+
%pi x 3 %pi b x 3
(8cos(---)cos(-) - 8cos(---)cos(-))sin(-)
12 2 12 2 2
+
x 6 x 4 %pi 4+-+ x 6
(4cos(-) + 2cos(-) + 2)sin(---) + 4\|3 cos(-)
2 2 12 2
+
4+-+ x 4 4+-+ x 2 4+-+
2\[3 cos(-) - 12\|3 cos(-) - 2\I|3
2 2
*
x 2
sin(-)
2
+
%pi x5 %pi x 3 %pi X X
(4cos(---)cos(-) + 8cos(---)cos(-) + 4cos(---)cos(-))sin(-)
12 2 12 2 12 2 2
+
x 8 x 6 x 2 %pi 4+-+ x 8
(cos(=) + 2cos(-) - 2cos(-) - 1)sin(---) + \|3 cos(-)
2 2 2 12 2
+
44—+ X 6  4+—+ x4 A++ X 2 A+-+
2\|3 cos(-) + 2\|3 cos(-) + 2\I3 cos(-) + \|[3
2 2 2
4+-+ X x 3 4+-+ x 3 b4
32\13 cos(-)sin(-) - 32\[3 cos(-) sin(-)
2 2 2 2
4+-+ x 8 4+-+ x 2 x 6 4+-+ X 4 4+-+ x 4

12\ |3 sin(-) + 48\|3 cos

(=) sin(-) + (72\]3
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cos(-) - 24\|3 )sin(-)



--R 4+-+ x 6 4+-+ x 2 x 2 4+-+ x 8 4+-+ x 4
--R (48\13 cos(-) + 144\|3 cos(-) )sin(-) + 12\|3 cos(-) - 24\|3 cos(-)
--R 2 2 2 2 2

--R L+—+

--R 12\13

--R Type: Union(Expression(Integer),...)
--E 381

--S 382 of 504
t0175:= 1/(1-cos(x)"8)

--R Type: Expression(Integer)

--S 383 of 504

r0175:= 1/4*atan(tan(x)/(1-%i)~(1/2))/(1-%i)~(1/2)+_
1/4*atan(tan(x)/(1+%1)~(1/2)) /(1+%i) " (1/2)+_
1/8*atan(1/2*27(1/2)*tan(x))*2~(1/2)-1/4*cot (x)

--R  (248)
--R +-+

--R 8\I1 - %i \I1 + %i

--R Type: Expression(Complex(Integer))
--E 383

--S 384 of 504

a0175:= integrate(t0175,x)

--R  (249)
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+-+4+—+ %pi x 8 +=+4+—+ %pi x 2 x 6
\I2 \|2 cos(-—=)sin(-) + 4\|2 \|2 cos(-—-)cos(-) sin(-)
8 2 8 2 2

+—+4+-+ %pi x 4 +-+4+—+ %pi x 4
(6\12 \|2 cos(---)cos(-) - 2\|2 \|2 cos(---))sin(-)
8 2 8 2

=44+ %pi x 6 =4+ %pi x 2 x 2
(4\12 \|2 cos(---)cos(-) + 12\|2 \I2 cos(---)cos(-) )sin(-)
8 2 8 2 2
+
+-+4+-+ %pi x 8 +-+4+-+ %pi x 4 +-+4+—-+ %pi
A2 \12 cos(---)cos(-) - 2\|2 \|2 cos(---)cos(-) + \|2 \|2 cos(---)
8 2 8 2 8

log
x 4 +—+4+-+ %pi X x 3
sin(-) + 2\[|2 \|2 cos(-=--)cos(-)sin(-)
2 8 2 2

4+4-+2 x 2 %pi 2 4+-+2 %pi 2 x 2 x 2
(2\|2 cos(-) sin(---) + (2\|2 cos(---) - 2)cos(-) )sin(-)
2 8 8 2 2

+-+4+-+ %pi x 3 X x 4
- 2\|2 \|2 cos(---)cos(-) sin(-) + cos(-)
8 2 2 2

x 4 x 2 x 2 x 4 x 2
sin(-) + (- 2cos(-) - 2)sin(-) + cos(-) + 2cos(-) + 1
2 2 2 2 2

F—tht—+ %pi x 8 4+ %pi x 2 x 6
- \l2 \12 cos(-—-)sin(-) - 4\|2 \|2 cos(---)cos(-) sin(-)
8 2 8 2 2

+-+4+-+ %pi x 4 +-+4+-+ hpi x 4
(- 6\12 \|2 cos(---)cos(-) + 2\|2 \|2 cos(---))sin(-)
8 2 8 2

+-+4+—+ %pi x 6 +-+4+-+ %pi x 2 x 2
(- 4\12 \I2 cos(---)cos(-) - 12\12 \|2 cos(---)cos(-) )sin(-)
8 2 8 2 2

+—+4+-+ %pi x 8 +—+4+-+ %pi x 4 +—+4+—+ %pi
N2 \12 cos(---)cos(-) + 2\|2 \|2 cos(---)cos(-) - \|2 \|2 cos(---)
8 2 8 2 8

log
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x 4 +-+
sin(-) - 2\|2
2

4+-+2 X 2
(2\12 cos(-) s
2

+=+4+-+ %p
2\12 \|2 cos(--
8

x 4
sin(-) + (- 2cos
2

+-+4+-+ %pi
- 2\[2 \[|2 sin(---)s
8

Y - x 4
(- 12\12 \|2 cos(-)
2

+—+4+—+ x 6
(- 8\12 \I2 cos(-)
2

+—+4t—+ x 8
(- 2\12 \I2 cos(-)
2

4+
2\|

+-+ x 2 4+
\l2 sin(-) - 2\|
2

+-+4+-+ %pi
- 2\|2 \|2 sin(---)s
8

+—+4+—+ x 4
(= 12\12 \ |2 cos(-)
2

+-+4+-+ X 6
(- 8\12 \I2 cos(-)

4+-+ %pi X x 3
\I2 cos(---)cos(-)sin(-)
8 2 2
%pi 2 4+-+2 %pi 2 x 2 x 2
in(---) + (2\|12 cos(---) - 2)cos(-) )sin(-)
8 8 2 2
i x 3 b4 x 4
-)cos(-) sin(-) + cos(-)
2 2 2
x 2 x 2 x 4 x 2
(=) - 2)sin(-) + cos(-) + 2cos(-) + 1
2 2 2 2
x 8 +-t+4+-+ x 2 %pi x 6
in(-) - 8\|2 \|2 cos(-) sin(---)sin(-)
2 2 8 2
+-+4+-+ %pi x 4
+ 4\ |2 \|2 )sin(---)sin(-)
8 2
+—+4+—+ x 2 %pi x 2
- 24\ |2 \|2 cos(-) )sin(---)sin(-)
2 8 2
+-+4+—+ x 4 +-+4+—+ %pi
+ 4\12 \|2 cos(-) - 2\I2 \|2 )sin(---)
2 8
-+ X %pi X
2 cos(-)sin(---)sin(-)
2 8 2
-- - - -—-)
-+ %pi X X +—+ x 2
2 cos(---)cos(-)sin(-) - \|2 cos(-)
8 2 2 2
x 8 +—+4+—+ x 2 %pi x 6
in(-) - 8\|2 \|2 cos(-) sin(---)sin(-)
2 2 8 2
+-+4+—+ %pi x 4
+ 4\12 \|2 )sin(---)sin(-)
8 2
+—+4+—+ x 2 %pi x 2

- 24\ |2 \|2 cos(-) )sin(---)sin(-)
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+—+4+—+
(- 2\12 \I2 co

+-+ x 2
\12 sin(-)
2

+-+ x 8
- \12 sin(-)
2

+—+ X
(- 4\12 cos(-)
2

+-+

- \I2

+-+ X
2\ |2 cos(-
2

x 2
sin(-) - 2
2

+-+ x 8
- \12 sin(-)
2

+-+ X
(- 4\|2 cos(-)
2

+-+

- \l2

atan
+-+ X
12\ |2 cos(-
2

x 2

2 2 8 2

x 8 +-+4+-+ x 4 +-+4+-+ %pi
s(=) + 4\|2 \|2 cos(-) - 2\I12 \|2 )sin(---)
2 2 8
4+-+ X %pi X
2\ |2 cos(-)sin(---)sin(-)
2 8 2
__________________________________________ )
44—+ %pi X X +—+ x 2
+ 2\|2 cos(---)cos(-)sin(-) - \|2 cos(-)
8 2 2 2
+-+ x 2 x 6 +-+ x 4 +-+ x 4
- 4\|2 cos(-) sin(-) + (- 6\|2 cos(-) + 2\|2 )sin(-)
2 2 2 2
6 +-+ x 2 x 2 +-+ x 8 +-+ x 4
- 12\|2 cos(-) )sin(-) - \I2 cos(-) + 2\|2 cos(-)
2 2 2 2
X
)sin(-)
2
------- )
x 2
cos(-)
2
+-+ x 2 x 6 +-+ x 4 +-+ x 4
- 4\|2 cos(-) sin(-) + (- 6\|2 cos(-) + 2\[|2 )sin(-)
2 2 2 2
6 +-+ x 2 x 2 +-+ x 8 +-+ x 4
- 12\|2 cos(-) J)sin(-) - \I2 cos(-) + 2\|2 cos(-)
2 2 2 2
x 3 +—+ x 3 +-+ x x
)sin(-) + (- 4\|2 cos(-) - 12\|2 cos(-))sin(-)
2 2 2 2
x 4 x 4 x 2 x 2 x 6
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--R 9cos(-) sin(-) + (- 6cos(-) - 18cos(-) - 8)sin(-) + cos(-)
--R 2 2 2 2 2 2

--R x 4 x 2
--R 6cos(-) + 9cos(-)
--R 2 2

--R b'd x 3 x 3 X
--R 32cos(-)sin(-) - 32cos(-) sin(-)
--R 2 2 2 2

--R x 8 x 2 x 6 x 4 x 4
--R 16sin(-) + 64cos(-) sin(-) + (96cos(-) - 32)sin(-)
--R 2 2 2 2 2

--R x 6 x 2 x 2 x 8 x 4

--R (64cos(-) + 192cos(-) )sin(-) + 16cos(-) - 32cos(-) + 16

--R 2 2 2 2 2

--R Type: Union(Expression(Integer),...)

--S 385 of 504
t0176:= cos(a+b*x+c*x~2)/x"2+b*sin(a+b*x+c*x"2)/x

--R 2 2
--R b x sin(c x +bx + a) + cos(c x +bx + a)

--R Type: Expression(Integer)

--S 386 of 504

r0176:= —cos(a+b¥x+c*x~2)/x-c~(1/2)*2" (1/2) *Ypi~ (1/2) *_
cos(1/4*x(b~2-4*a*c) /c)*FresnelS(1/2* (b+2*xc*x)/c~(1/2)*2~(1/2)/_
%pi~(1/2))+c™(1/2)*27 (1/2) *Ypi~ (1/2) *_
FresnelC(1/2%(b+2%c*x)/c™ (1/2)*2~(1/2) /%pi~ (1/2))*_
sin(1/4%(b~2-4*a*c)/c)

--R

--R  There are no library operations named FresnelS

--R Use HyperDoc Browse or issue

--R Jwhat op FresnelS

--R to learn if there is any operation containing " FresnelS " in its
--R name.

--R

--RDaly Bug

--R Cannot find a definition or applicable library operation named
--R FresnelS with argument type(s)

--R Expression(Integer)
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--R Perhaps you should use "@" to indicate the required return type,
--R or "$" to specify which version of the function you need.
--E 386

--S 387 of 504
a0176:= integrate(t0176,x)

--R X 2 2

--R ++ JH Db sin(JH c + ¥H b + a) + cos(¥H c + JH b + a)

--R  (261) | --——- - - -- a%H

--R ++ 2

--R %H

--R Type: Union(Expression(Integer),...)

--S 388 of 504
--m0176:= a0176-r0176

--S 389 of 504
--d0176:= D(m0176,x)

--S 390 of 504
t0177:= cos(a+b*x-c*x"2)/x"2+b*sin(a+b*x-c*x~2)/x

--R 2 2
--R -bxsin(cx -bx-a) +cos(cx -bx-a)
--R (252) ~-- -—- -—- -—- -

--R Type: Expression(Integer)
--E 390

--S 391 of 504

r0177:= -cos(a+b*x-c*x~2)/x+c”(1/2) %27 (1/2) *%pi~ (1/2)*_
cos (1/4% (b~ 2+4%a*c) /c) *_
FresnelS(1/2%(b-2%c*x)/c~ (1/2)*2~(1/2) /%pi~ (1/2))-_
e~ (1/2)*27(1/2)*%pi~ (1/2) *_
FresnelC(1/2%(b-2%c*x)/c~(1/2)*2~(1/2) /%pi~(1/2))*_
sin(1/4%(b~2+4*a*c)/c)

--R

--R There are no library operations named FresnelS

--R Use HyperDoc Browse or issue

--R )Jwhat op FresnelS

--R to learn if there is any operation containing " FresnelS " in its
--R name.
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--R

--RDaly Bug

--R  Cannot find a definition or applicable library operation named

--R FresnelS with argument type(s)

--R Expression(Integer)

--R

--R Perhaps you should use "Q" to indicate the required return type,
--R or "$" to specify which version of the function you need.

--E 391

--5 392 of 504

a0177:= integrate(t0177,x)

--R

--R

--R X 2 2

--R ++ - JH b sin(¥H ¢ - JH b - a) + cos(JH c - %4H b - a)

--R  (253) | -—- ---- dJH
--R ++ 2

--R PA:!

--R Type: Union(Expression(Integer),...)
--E 392

--5 393 of 504

--m0177:= a0177-r0177

--E 393

--S 394 of 504

--d0177:= D(m0177,x)

--E 394

--5 395 of 504

t0178:= (d+exx) ~2xcos(atb*x+c*x~2)

--R

--R

--R 22 2 2

--R  (254) (e x +2dex + d)cos(cx +Dbx+ a)

--R Type: Expression(Integer)
--E 395

--5 396 of 504

r0178:= 1/8%2~(1/2)*%pi~ (1/2) *FresnelC(1/2* (b+2*c*x)/c~ (1/2)*_
27(1/2) /hpi~(1/2))* ((2*c*d-b*e) “2*cos(a-1/4%b"2/c)-_
2*C*e"2*sin(a—1/4*b"2/c))/C“(5/2)-1/8*2”(1/2)*%pi”(1/2)*_
FresnelS (1/2%(b+2%c*x)/c™ (1/2)*2~(1/2) /%pi~ (1/2))*_
(2xc*xe~2*cos(a-1/4%b~2/c)+(2*xcxd-b*e) "2xsin(a-1/4*b"2/c))/c~(5/2)+_
1/4%e* (4xcxd-b*e) *sin(a+b*x+c*x"2)/c~2+1/2*xe"2*x*sin(a+b*x+c*x"2) /c

--R

--R  There are no library operations named FresnelC
--R Use HyperDoc Browse or issue

--R )Jwhat op FresnelC
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--R to learn if there is any operation containing " FresnelC " in its
--R name.

--R

--RDaly Bug

--R  Cannot find a definition or applicable library operation named
--R FresnelC with argument type(s)

--R Expression(Integer)

--R

--R Perhaps you should use "Q@" to indicate the required return type,
--R or "$" to specify which version of the function you need.
--E 396

--5 397 of 504

a0178:= integrate(t0178,x)

--R

--R

--R X

--R ++ 22 2 2

--R (265) | (JHe +2/jHd e +d)cos(JH c + %H b + a)d/H

--R ++

--R Type: Union(Expression(Integer),...)
--E 397

--S 398 of 504

--m0178:= a0178-r0178

--E 398

--5 399 of 504

--d0178:= D(m0178,x)

--E 399

--S 400 of 504

t0179:= cos((a+b*x)/(c+d*x)) "2

--R

--R

--R bx+a?2

--R (256) cos(------- )

--R dx+c

--R Type: Expression(Integer)
--E 400

--S 401 of 504

r0179:= 1/2%x+1/2* (c+d*x)*cos (2% (a+b*x) / (c+d*x) ) /d- (b*xc-a*d) *_
Ci(-2*(b*c-a*d)/d/ (c+d*x))*sin(2*b/d) /d"2-(b*c-a*d) *_
cos(2%b/d) *Si (2*a/ (c+d*x) -2*bxc/d/ (c+d*x))/d"2

--R

--R

--R  (257)

--R 2ad - 2b c 2b 2 2b x + 2a
--R (2a d - 2b c)Ci(-———-——--—- )sin(--) + (d x + ¢ d)cos(————=-=——- )
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--R 2 d dx+c
--R dx+cd

--R 2ad - 2b ¢ 2b 2
--R (2a d - 2b ¢)Si(-———---—-—- Jcos(--) +4d x

--R 2d
--R Type: Expression(Integer)
--E 401

--S 402 of 504
a0179:= integrate(t0179,x)

--R ++ %H b + a 2

--R Type: Union(Expression(Integer),...)

--S 403 of 504
--m0179:= a0179-r0179

--S 404 of 504
--d0179:= D(m0179,x)

--S 405 of 504
t0180:= cos(a+b*x"2)"2/x"3

--R Type: Expression(Integer)

--S 406 of 504
r0180:= -1/4%(1+cos (2*a+2xb*xx"2)+2xb*Ci (2%b*x~2) *sin(2%a) *x~2+_
2*b*xcos (2*a) *Si (2*¥b*x"2) *x~2) /x"2

--R  (260)
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--R 2 2 2 2 2
--R - 2b x Ci(2b x )sin(2a) - cos(2b x + 2a) - 2b x Si(2b x )cos(2a) - 1

__R —_—— —_ —_ —_ —_ —_

--R 4x
--R Type: Expression(Integer)
--E 406

--S 407 of 504
a0180:= integrate(t0180,x)

--R b4 2 2

--R ++ cos(JH b + a)

--R  (261) | —mmmmmmmm—m——e a%H
--R ++ 3

--R Type: Union(Expression(Integer),...)

--S 408 of 504
--m0180:= a0180-r0180

--S 409 of 504
--d0180:= D(m0180,x)

--S 410 of 504
t0181:= cos(a+b*x”~2) "3/x

--R Type: Expression(Integer)

--S 411 of 504
r0181:= 3/8%*cos(a)*Ci(b*x~2)+1/8%cos(3*a)*Ci(3*xb*x~2)-_
3/8*sin(a)*Si(b*x~2)-1/8*sin(3*a)*Si(3*b*x"2)

--R  (263)

--R 2 2 2 2

--R - 8i(3b x )sin(3a) - 38i(b x )sin(a) + Ci(3b x )cos(3a) + 3Ci(b x )cos(a)
__R ________________________________________________ —_— —_—

--R Type: Expression(Integer)
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--E 411

--S 412 of 504
a0181:= integrate(t0181,x)

--R X 2 3

--R ++ cos(JH b + a)

--R  (264) | —mmmmmmm—mm——e a%H

--R ++ %H

--R Type: Union(Expression(Integer),...)

--S 413 of 504
--m0181:= a0181-r0181

--S 414 of 504
--d0181:= D(m0181,x)

--S 415 of 504
t0182:= cos(a+b*x~2)"3/x"3

--R Type: Expression(Integer)

--S 416 of 504

r0182:= -1/8%(3*cos(a+b*x~2)+cos (3*a+3*b*xx"2)+3*b*Ci(b*x~2)*sin(a)*x"2+_
3*b*Ci (3*b*x"2) *sin(3*a) *x~2+3*b*cos (a) *Si (b*x"2) *x~2+_
3xb*xcos (3*a) *Si (3*xb*x~2) *x~2) /x"2

--R (266)
--R 2 2 2 2 2
--R - 3b x Ci(3b x )sin(3a) - 3b x Ci(b x )sin(a) - cos(3b x + 3a)

--R 2 2 2 2 2
--R - 3cos(bx + a) - 3b x Si(3b x )cos(3a) - 3b x Si(b x )cos(a)

--R 8x
--R Type: Expression(Integer)
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--S 417 of 504
a0182:= integrate(t0182,x)

--R X 2 3

--R ++ cos(¥H b + a)

=R (267) | —mmmmmmmmm———- d%H
--R ++ 3

--R Type: Union(Expression(Integer),...)

--S 418 of 504
--m0182:= a0182-r0182

--S 419 of 504
--d0182:= D(m0182,x)

--S 420 of 504
t0183:= cos(a+b*x"n)

--R n

--R  (268) cos(b x + a)

--R Type: Expression(Integer)
--E 420

--S 421 of 504

r0183:= -1/2*x/n*(exp (/ii*a)* (=)ixb*x"n) "~ (-1/n)*_
Gamma (1/n,-%i*b*x"n)+(%ixb*x"n) " (-1/n)*exp(-ji*a)*_
Gamma (1/n,%i*b*x"n))

--R  (269)

--R - %i a n n_1 n %i a n n_1 n
--R - x %e (%i b x) | (-,%i bx) -xY%e (- %i bx) | (-,- %i bx)

--R 2n
--R Type: Expression(Complex(Integer))

--S 422 of 504
a0183:= integrate(t0183,x)
--R
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--R X

--R ++ n

--R (270) | cos(b ¥H + a)d/H

--R ++

--R Type: Union(Expression(Integer),...)

--S 423 of 504
--m0183:= a0183-r0183

--S 424 of 504
--d0183:= D(m0183,x)

--S 425 of 504
t0184:= cos(a+b*x"n) "2

--R n 2

--R (271) cos(b x + a)

--R Type: Expression(Integer)
--E 425

--S 426 of 504

r0184:= -1/2*x/n* (27 (- (1+n) /n) *exp (2*,i*a) * (=)i*b*x"n) " (-1/n)*_
Gamma (1/n,-2x%i*b*x"n)+2" (- (1+n) /n) *exp (-2*%i*a) * (%i*xb*x n) ~ (-1/n)*_
Gamma (1/n,2*%i*b*x"n)-n)

--R  (272)

--R - 2%1i a n n n_1 n
--R - x he 2 (%i b x ) | (-,2%1i b x )

--R 2%i a n n n 1 n
--R - x %e 2 (- % bx) | (-,-2%i bx) +nx
--R n

--R Type: Expression(Complex(Integer))
--E 426

--S 427 of 504
a0184:= integrate(t0184,x)
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--R X

--R ++ n 2

--R  (273) | cos(b 4H + a) d%H

--R ++

--R Type: Union(Expression(Integer),...)

--S 428 of 504
--m0184:= a0184-r0184

--S 429 of 504
--d0184:= D(m0184,x)

--S 430 of 504
t0185:= cos(a+b*x"n)"3

--R n 3

--R  (274) cos(b x + a)

--R Type: Expression(Integer)
--E 430

--S 431 of 504

r0185:= -1/8*x/n*(3*exp (Jii*a)* (~%i*b*x"n) ~(-1/n)*_
Gamma (1/n,-%i*b*x n)+3* (i*b*x"n) " (-1/n)*exp (-%i*a) *_
Gamma (1/n,%i*b*x"n)+exp (3*%i*a)* (~%i*b*x"n) " (-1/n)*3~(-1/n)*_
Gamma (1/n,-3*%i*b*x"n)+()i*b*x"n) " (-1/n)*3~ (-1/n) *exp (-3*%i*a)*_
Gamma (1/n,3%*%i*b*x"n))

--R  (275)

--R 1 1

__R - - PR

--R -3%ia n n n 1 n
--R - x %e 3 (hibx) | (-,3%i b x)
--R n

--R 1
__R - -

--R - %i a n n_1 n
--R - 3x %e (%i b x) | (-,%i bx)

--R %i a n n 1 n
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--R - 3x %e (- %ibx) | (-,-%ibx)

--R 1 1

__R - - R

--R 3%ia n n n 1 n
--R - x %e 3 (-%bx) | (-,- 3%i b x)
R n

--R 8n
--R Type: Expression(Complex(Integer))
--E 431

--S 432 of 504
a0185:= integrate(t0185,x)

--R X

--R ++ n 3

--R (276) | cos(b ¥H + a) dJH

--R ++

--R Type: Union(Expression(Integer),...)
--E 432

--S 433 of 504
--m0185:= a0185-r0185
--E 433

--S 434 of 504
--d0185:= D(m0185,x)
--E 434

--S 435 of 504
t0186:= x"m*cos (a+b*x"n)

--R m n

--R  (277) x cos(b x + a)

--R Type: Expression(Integer)
--E 435

--S 436 of 504
r0186:= -1/2*x*x"m* ((=%ixb*x"n) "~ (-(1+m)/n)*_

Gamma ( (1+m) /n,-%i*b*x"n) *exp (i*a) +exp (-%i*a)* (%i*b*x"n)~ (- (1+m) /n)*_
Gamma ((1+m) /n,%i*b*x"n))/n

--R  (278)
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--R - %iam n n m+ 1 n
--R - x %e x (%i b x) | (==———- ,hi b x )

--R %i am n n m+ 1 n
--R - x %e x (- % bx) | (==———- ,— %i b x)

--R 2n
--R Type: Expression(Complex(Integer))
--E 436

--S 437 of 504
a0186:= integrate(t0186,x)

--R ++ m n

--R (279) | %H cos(b #H + a)diH

--R ++

--R Type: Union(Expression(Integer),...)
--E 437

--S 438 of 504
--m0186:= a0186-r0186
--E 438

--S 439 of 504
--d0186:= D(m0186,x)
--E 439

--S 440 of 504
t0187:= x"m*cos (a+b*x"n) "2

--R m n 2

--R (280) x cos(b x + a)

--R Type: Expression(Integer)
--E 440

--S 441 of 504
r0187:= x~(1+m)/(2+2*m) -2~ (-2-(1+m) /n) *exp (1) ~ (2*%i*a) *x~ (1+m) *_
Gamma ( (1+m) /n,-2*%i*b*x"n)/ ((-%i*b*x"n) " ((1+m) /n))/n-_
27 (-2-(1+m) /n) *x~ (1+m) *_
Gamma ( (1+m) /n, 2*%i*b*x"n) / (exp (1) ~ (2x%ix*a))/((hixb*x"n) " ((1+m)/n))/n

--R  (281)

287



--R n m+ 1 n n m+ 1 n
--R (- 2m - 2)2 X (- %1 bx) | (=== ,2%1 b x )

--R 2%i a 2 n m+ 1 n n m+ 1 n
--R (- 2m - 2) (%e ) 2 X (%i b x) | (===—- ,— 2%i b x )
--R n

--R 2%i am+ 1 n n n n
--R n %e X (- %i bx) (%i b x)

--R 2%i a n n n n

--R (2m + 2)n e (- %1 bx) (51 b x)

--R Type: Expression(Complex(Integer))
--E 441

--S 442 of 504
a0187:= integrate(t0187,x)

--R ++ m n 2

--R (282) | JH cos(b %H + a) d%H

--R ++

--R Type: Union(Expression(Integer),...)
--E 442

--S 443 of 504
--m0187:= a0187-r0187
--E 443

--S 444 of 504
--d0187:= D(m0187,x)
--E 444

--S 445 of 504

t0188:= x"m*cos(a+b*x"n) "3

--R m n 3
--R (283) x cos(b x + a)
--R Type: Expression(Integer)
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--E 445

--S 446 of 504

r0188:= -1/8*x*x"m* ((-%i*b*x"n) ~ (- (1+m) /n)*3~ (- (1+m) /n) *_
Gamma ( (1+m) /n, -3*}%i*b*x"n) *exp (3*}i*a)+3* (-%i*b*x"n) ~ (- (1+m) /n)*_
Gamma ( (1+m) /n,-%i*b*x"n) *exp (},i*a) +3*exp (-ji*a)*_
(hixbxx™n) " (-(1+m)/n)*_
Gamma ( (1+m) /n, %i*b*x"n)+(%ixb*x"n) ~ (- (1+m) /n) *3~ (- (1+m) /n) *_
Gamma ( (1+m) /n, 3*%i*b*x"n)*exp (-3*%i*a))/n

--R  (284)

--R - 3%i a n m n n m+ 1 n

--R - x ‘%e 3 x (Ji b x ) | (=—-—- ,3% b x )

--R - %iam n n m+ 1 n
3x %e x (i b x) | (=== ,hi b ox )

|

|
j=<]

|

--R % am n n m+ 1 n
--R - 3x %he x (- %i bx) | (==--- ,— %ibx)

|

|
=<)

|
el
=~
)
w

x (- %1 bx) | (==--- ,— 3%i b x )

--R 8n
--R Type: Expression(Complex(Integer))
--E 446

--S 447 of 504
a0188:= integrate(t0188,x)

--R ++ m n 3
--R (285) | %H cos(b %H + a) d%H

--R Type: Union(Expression(Integer),...)
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--S 448 of 504
--m0188:= a0188-r0188

--S 449 of 504
--d0188:= D(m0188,x)

--S 450 of 504
£0189:= x/cos(x)~(3/2)+x*cos(x) " (1/2)

--R cos(x)\lcos(x)
--R Type: Expression(Integer)
--E 450

--S 451 of 504
r0189:= 2*(2*cos(x)+x*sin(x))/cos(x)~(1/2)

--R 2x sin(x) + 4cos(x)

--R \lcos(x)
--R Type: Expression(Integer)

--S 452 of 504

a0189:= integrate(t0189,x)

--R

--R

--RDaly Bug

--R >> Error detected within library code:

--R  integrate: implementation incomplete (constant residues)

--R Continuing to read the file...

--R

--E 452

--S 453 of 504
--m0189:= a0189-r0189
--E 453

--S 454 of 504

--d0189:= D(m0189,x)
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--E 454

--S 455 of 504
t0190:= x/cos(x) " (5/2)-1/3*x/cos(x)~(1/2)

--R 3cos(x) \lcos(x)
--R Type: Expression(Integer)
--E 455

--S 456 of 504
r0190:= -2/3*(2*cos(x)-x*sin(x))/cos(x) ~(3/2)

--R 2x sin(x) - 4cos(x)

--R 3cos(x)\lcos(x)
--R Type: Expression(Integer)
--E 456

--S 457 of 504
a0190:= integrate(t0190,x)

--R (2x sin(x) - 4cos(x))\lcos(x)

R (200) -- e

--R 2

--R 3cos(x)

--R Type: Union(Expression(Integer),...)
--E 457

--S 458 of 504
m0190:= a0190-r0190

--R (291) 0

--R Type: Expression(Integer)
—--E 458

--S 459 of 504

d0190:= D(m0190,x)

--R (292) 0
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--R Type:

--E 459

--S 460 of 504
t0191:= x/cos(x) " (7/2)+3/5*x*cos(x) ~(1/2)

--R 5cos(x) \lcos(x)

--R Type:

--E 460

--S 461 of 504
r0191:= 2/15%(-2*cos(x)+18*cos(x) "3+_
3*x*5in(x)+9*x*sin(x)*cos(x) "2)/cos(x) " (5/2)

--R 2 3
--R (18x cos(x) + 6x)sin(x) + 36cos(x) - 4cos(x)
--R (204) -- - - -

--R 15cos(x) \lcos(x)

--R Type:

--E 461

--5 462 of 504

a0191:= integrate(t0191,x)

--R

--R

--RDaly Bug

--R >> Error detected within library code:

Expression(Integer)

Expression(Integer)

Expression(Integer)

--R  integrate: implementation incomplete (constant residues)

--R

--R Continuing to read the file...
--R

--E 462

--S 463 of 504
--m0191:= a0191-r0191
--E 463

--S 464 of 504
--d0191:= D(m0191,x)
--E 464

--S 465 of 504

£0192:= x~2/cos(x)~(3/2)+x"2*cos(x)~(1/2)
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--R cos(x)\lcos(x)
--R Type: Expression(Integer)
--E 465

--S 466 of 504
r0192:= 8xx*cos(x)~(1/2)-16*E11lipticE(1/2%x,2)+2*x"2xsin(x)/cos(x)~(1/2)

--R There are no library operations named EllipticE

--R Use HyperDoc Browse or issue

--R Jwhat op EllipticE

--R to learn if there is any operation containing " EllipticE " in
--R its name.

--R

--RDaly Bug

--R  Cannot find a definition or applicable library operation named
--R EllipticE with argument type(s)

--R Polynomial (Fraction(Integer))

--R Positivelnteger

--R

--R Perhaps you should use "Q@" to indicate the required return type,
--R or "$" to specify which version of the function you need.

--E 466

--S 467 of 504

a0192:= integrate(t0192,x)

--R

--R

--RDaly Bug

--R >> Error detected within library code:
--R  integrate: implementation incomplete (constant residues)

--R Continuing to read the file...

--R

--E 467

--S 468 of 504
--m0192:= a0192-r0192
--E 468

--S 469 of 504
--d0192:= D(m0192,x)
--E 469

--S 470 of 504

293



t0193:= cos(a+b*log(c*x™n))

--R n

--R (296) cos(b log(c x ) + a)

--R Type: Expression(Integer)
--E 470

--S 471 of 504
r0193:= x*(cos(atb*log(c*x"n))+b*n*sin(atbxlog(c*x™n)))/(1+b~2*n"2)

--R n n
--R b n x sin(b log(c x ) + a) + x cos(b log(c x ) + a)
--R  (297) ~-- -—- -—- -—-

--R Type: Expression(Integer)
--E 471

--S 472 of 504
a0193:= integrate(t0193,x)

--R (298)

--R b n x sin(b n log(x) + b log(c) + a) + x cos(b n log(x) + b log(c) + a)
__R —_— —_— —_— —_— —_—

--R 22

--R bn +1

--R Type: Union(Expression(Integer),...)
--E 472

--S 473 of 504
m0193:= a0193-r0193

--R (299)

--R n n

--R - bn x sin(b log(c x ) + a) - x cos(b log(c x ) + a)

__R +

--R b n x sin(b n log(x) + b log(c) + a) + x cos(b n log(x) + b log(c) + a)

--R 22

--R bn +1

--R Type: Expression(Integer)
--E 473

--S 474 of 504

d0193:= D(m0193,x)
--R
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--R (300)
--R n n-1
--R (-bnx +bnzxx

--R n 2 2 n-1
--R (-x -bnzxzx

--R 2 2 n
--R (b n

--R 2 2 n
--R (bn + D)x

--E 474

--S 475 of 504

t0194:= x*cos(atbxlog(c*x™n))

--R n

--R (301) x cos(b log(c x ) + a)

--E 475

--S 476 of 504

n

)sin(b log(c x ) + a)

n

Jcos(b log(c x ) + a)

+ 1)x cos(b n log(x) + b log(c) + a)

Type: Expression(Integer)

Type: Expression(Integer)

r0194:= x"2%(2xcos(atbxlog(c*x"n))+b*n*sin(a+b*log(c*x"n)))/(4+b"2*n"2)

--R 2 n

2 n

--R b n x sin(b log(c x ) + a) + 2x cos(b log(c x ) + a)

--R (302) -- ---

--E 476
--S 477 of 504

a0194:= integrate(t0194,x)

--R  (303)
--R 2

22
bn + 4

Type: Expression(Integer)

2

--R b n x sin(b n log(x) + b log(c) + a) + 2x cos(b n log(x) + b log(c) + a)

__R ——— —_— [y

22
bn +4
Type: Union(Expression(Integer),...)
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--S 478 of 504
m0194:= a0194-r0194

--R (304)

--R 2 n 2 n

--R - bn x sin(b log(c x ) + a) - 2x cos(b log(c x ) + a)

--R +

--R 2 2

--R b n x sin(b n log(x) + b log(c) + a) + 2x cos(b n log(x) + b log(c) + a)

--R 22

--R bn +4

--R Type: Expression(Integer)
--E 478

--S 479 of 504
d0194:= D(m0194,x)

--R  (305)
--R n 2n-1 n
--R (-2bnxx +2bnxx )sin(b log(c x ) + a)

--R n 222n-1 n
--R (-4xx -bnzxx Jcos(b log(c x ) + a)

--R 2 2 n
--R (bn + 4)x x cos(b n log(x) + b log(c) + a)

--R 22 n

--R (bn + 4)x

--R Type: Expression(Integer)
--E 479

--S 480 of 504
t0195:= x"2xcos(atb*log(c*x™n))

--R 2 n

--R (306) x cos(b log(c x ) + a)

--R Type: Expression(Integer)
--E 480

--S 481 of 504
r0195:= x"3*(3*cos(a+b*log(c*x"n))+b*n*sin(a+bxlog(c*x"n)))/(9+b~2*n"~2)

--R 3 n 3 n
--R b n x sin(b log(c x ) + a) + 3x cos(b log(c x ) + a)
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--R Type: Expression(Integer)

--S 482 of 504
a0195:= integrate(t0195,x)

--R (308)
--R 3 3
--R b n x sin(b n log(x) + b log(c) + a) + 3x cos(b n log(x) + b log(c) + a)

__R —_———— ————————— ————— -

--R bn +9
--R Type: Union(Expression(Integer),...)
--E 482

--S 483 of 504
m0195:= a0195-r0195

--R  (309)

--R 3 n 3 n

--R - b n x sin(b log(c x ) + a) - 3x cos(b log(c x ) + a)

__R +

--R 3 3

--R b n x sin(b n log(x) + b log(c) + a) + 3x cos(b n log(x) + b log(c) + a)

--R 22

--R bn +9

--R Type: Expression(Integer)
--E 483

--S 484 of 504
d0195:= D(m0195,x)

--R  (310)
--R 2n 3n-1 n
--R (-3 nxx +3bnzxx )sin(b log(c x ) + a)

--R 2n 223n-1 n
--R (-9xx -bnzxx Jcos(b log(c x ) + a)

--R 2 2 2n
--R (bn + 9x x cos(b n log(x) + b log(c) + a)

--R 22 n
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--R (bn + 9x
--R Type: Expression(Integer)
--E 484

--S 485 of 504
t0196:= cos(a+b*log(c*x™n))/x"2

--R n

--R cos(b log(c x ) + a)

--R  (311) -- -

--R 2

--R X

--R Type: Expression(Integer)
--E 485

--S 486 of 504
r0196:= -1/(1+b"2*n"2) /x* (cos (a+b*log(c*x"n))-b*n*sin(a+b*log(c*x"n)))

--R n n

--R b n sin(b log(c x ) + a) - cos(b log(c x ) + a)

--R (312) -- -—= -—= -—= -

--R 22

--R (bn + Dx

--R Type: Expression(Integer)
--E 486

--S 487 of 504
a0196:= integrate(t0196,x)

--R b n sin(b n log(x) + b log(c) + a) - cos(b n log(x) + b log(c) + a)

--R (bn + 1)x
--R Type: Union(Expression(Integer),...)

--S 488 of 504
m0196:= a0196-r0196

--R  (314)

--R n n

--R - b n sin(b log(c x ) + a) + cos(b log(c x ) + a)

__R +

--R b n sin(b n log(x) + b log(c) + a) - cos(b n log(x) + b log(c) + a)

--R 22
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--R (bn + Dx
--R Type: Expression(Integer)
--E 488

--S 489 of 504
d0196:= D(m0196,x)

--R  (315)
--R n n-1 n
--R (bnx -bnzxx )sin(b log(c x ) + a)

--R n 22 n-1 n
--R (-x -bnzxx Jcos(b log(c x ) + a)

--R 2 2 n
--R (bn + 1)x cos(b n log(x) + b log(c) + a)

--R 22 2n

--R (bn + Dx x

--R Type: Expression(Integer)
--E 489

--S 490 of 504
t0197:= x"m*cos(at+b*log(c*x™n))

--R m n

--R (316) x cos(b log(c x ) + a)

--R Type: Expression(Integer)
--E 490

--S 491 of 504

r0197:= (14m)*x"~ (1+m)*cos (at+tb*log(c*x™n))/((1+m) "2+b~2*n"2)+_
b*n*x”~ (1+m) *sin(a+b*log(c*x™n) )/ ((1+m) "2+b~2*n"2)

--R m+ 1 n m+ 1 n
--R bnx sin(b log(c x ) + a) + (m + 1)x cos(b log(c x ) + a)
--R 22 2

--R bn +m +2m+ 1
--R Type: Expression(Integer)

--S 492 of 504
a0197:= integrate(t0197,x)

--R  (318)

299



--R m log(x)
--R b n x %e sin(b n log(x) + b log(c) + a)

--R m log(x)
--R (m + 1)x cos(b n log(x) + b log(c) + a)ke

--R 22 2

--R bn +m + 2m + 1

--R Type: Union(Expression(Integer),...)
--E 492

--S 493 of 504
m0197:= a0197-r0197

--R  (319)
--R m+ 1 n m+ 1 n
--R -bnx sin(b log(c x ) + a) + (- m - 1)x cos(b log(c x ) + a)

--R m log(x)
--R bn x %e sin(b n log(x) + b log(c) + a)

-R m log(x)
--R (m + 1)x cos(b n log(x) + b log(c) + a)ke

--R 22 2

--R bn +m +2m+ 1

--R Type: Expression(Integer)
--E 493

--S 494 of 504
d0197:= D(m0197,x)

--R (320
--R mn m+1n-1 n
--R (-bm-bnxx + (bm+ b)n x X )sin(b log(c x ) + a)

--R 2 m n 22m+1n-1 n
--R ((-m -2m-Dxx -bnx X Jcos(b log(c x ) + a)

--R 22 2 n m log(x)
--R (bn +m + 2m + 1)x cos(b n log(x) + b log(c) + a)ke

--R 22 2 n

--R (bn +m + 2m + 1)x

--R Type: Expression(Integer)
--E 494

--S 495 of 504
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t0198:= cos(a+b*log(c*x™n)) "2

--R n 2

--R (321) cos(b log(c x ) + a)

--R Type: Expression(Integer)
--E 495

--S 496 of 504
r0198:= x*(2%b~2*n"2+cos (atb*log(c*x n)) "2+_
2*b*n*cos (a+tb*log(c*x"n) ) *sin(a+bxlog(c*x™n)) )/ (1+4*%b"24n"2)

-k (322)

--R n n n 2
--R 2b n x cos(b log(c x ) + a)sin(b log(c x ) + a) + x cos(b log(c x ) + a)
__R +

--R 22

--R 2b n x

--R 4bn + 1
--R Type: Expression(Integer)
--E 496

--S 497 of 504
a0198:= integrate(t0198,x)

--R (323)

--R 2b n x cos(b n log(x) + b log(c) + a)sin(b n log(x) + b log(c) + a)
__R +

--R 2 22

--R x cos(b n log(x) + b log(c) + a) + 2bn x

--R 22

--R 4bn + 1

--R Type: Union(Expression(Integer),...)
--E 497

--S 498 of 504
m0198:= a0198-r0198

--R  (324)

--R n n

--R - 2b n x cos(b log(c x ) + a)sin(b log(c x ) + a)
__R +

--R n 2

--R - x cos(b log(c x ) + a)
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2b n x cos(b n log(x) + b log(c) + a)sin(b n log(x) + b log(c) + a)
+
2
x cos(b n log(x) + b log(c) + a)

22
4bn + 1
Type: Expression(Integer)

--E 498

--S 499 of 504
d0198:= D(m0198,x)

(325)
2 2 n-1 n 2
2b n X X sin(b log(c x ) + a)

n n-1 n n
(-2bnx +2bnzxzx Jcos(b log(c x ) + a)sin(b log(c x ) + a)

n 2 2 n-1 n 2
(-x -2bnxx Jcos(b log(c x ) + a)

22n 2
- 2b n x sin(b n log(x) + b log(c) + a)

2 2 n 2
(2b n + 1)x cos(b n log(x) + b log(c) + a)

22 n
(4bn + Dx
Type: Expression(Integer)

--S 500 of 504
t0199:= x*cos(atb*log(c*x"n)) "2

n 2
(326) x cos(b log(c x ) + a)
Type: Expression(Integer)

--E 500

--S 501 of 504
r0199:= 1/4/(1+b"2*n"~2) *x"2* (b~ 2*n"~2+2*cos (a+tb*log(c*x"n)) "2+_

--R
--R

2xbxn*cos (a+bxlog(c*x™n))*sin(a+b*log(c*x™n)))
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--R  (327)

--E 501

--S 502
a0199:=

2 n n
2b n x cos(b log(c x ) + a)sin(b log(c x ) + a)
+
2 n 2 222
2x cos(b log(c x ) +a) +bnx

22
4bn + 4
Type: Expression(Integer)

of 504
integrate(t0199,x)

--R (328)

--E 502

--S 503
m0199:=

2
2b n x cos(b n log(x) + b log(c) + a)sin(b n log(x) + b log(c) + a)
+
2 2 222
2x cos(b n log(x) + b log(c) + a) + bn x

22
4dbn + 4
Type: Union(Expression(Integer),...)

of 504
a0199-r0199

--R  (329)

2 n n

- b n x cos(b log(c x ) + a)sin(b log(c x ) + a)

+
2 n 2

- x cos(b log(c x ) + a)

+
2

b n x cos(b n log(x) + b log(c) + a)sin(b n log(x) + b log(c) + a)
+

2 2

x cos(b n log(x) + b log(c) + a)

22

2bn + 2
Type: Expression(Integer)
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--S 504 of 504
d0199:= D(m0199,x)

--R (330)
--R 222n-1 n 2
--R bnzxx sin(b log(c x ) + a)

--R n 2n-1 n n
--R (-2bnxx +2bnzxx Jcos(b log(c x ) + a)sin(b log(c x ) + a)

--R n 222n-1 n 2
--R (-2xx -bnzxx Jcos(b log(c x ) + a)

--R 22 n 2
--R - bnx x sin(b n log(x) + b log(c) + a)

--R 22 n 2
--R (bn + 2)x x cos(b n log(x) + b log(c) + a)

--R 2 2 n

--R (2b n + 2)x
--R Type: Expression(Integer)
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